ST-2057 RRB CLERK (MAINS) 2020

Q-1 Following questions are based on five three digit numbers.
eng/eng 325 921 783 485 123
If the positions of the first and the third digits of each of the numbers are interchanged. How many odd numbers will be formed?
e wor at= Brsifirer dearstt 97 smemhia 21
325 921 783 485 123
T T HEAT F Tge ¥ AT ST T IwE Fat =T ST g qr aee arett e deard et gri?
01. | 02. 2
03. 3 04. 4
05. 5
Q-1 Following questions are based on five three digit numbers.
enghin 325 921 783 485 123
If the positions of the first and the third digits of each of the numbers are interchanged. How many odd numbers will be formed?
e wor at= Grsidfirer dearsit 9% smemhia 21
325 921 783 485 123
T T HEAT F Tger ¥ AT ST T TeE Faot AT ST g A aee arett e deard et gri?
01. | 02. 2
03. 3 04. 4
0s. 5
Solution for Question 1 Ans Key: 4
523 129 387 584 321
523 129 387 584 321
Q-2 Following questions are based on five three digit numbers.
325 921 783 485 123
What will be the resultant if the first digit of the highest number is multiplied by the third digit of the lowest number?
Fafafaa wr ot BreiEftg st 9 senha g1
325 921 783 485 123
T Hasr TET TEAT F Tl e f, Hae el TqT * d6¥ 3 & T BFaT S ar ai o #1 gRm?
01. 7 02. 24
03. 27 04. 21
05. 6
Q-2 Following questions are based on five three digit numbers.
325 921 783 485 123
What will be the resultant if the first digit of the highest number is multiplied by the third digit of the lowest number?
i wor at= Grsifirer dearstt 97 smemhia 21
325 921 783 485 123
T2 T T TAT F Tg T Fl T Il TAT o A6 3 F IO 67T ST v aioms F#:47 g 2
01. 7 02. 24
03. 27 04. 21
05. 6
Solution for Question 2 Ans Key: 3
eng/eng 325 921 783 485 123
9x3=27
enghin 325 921 783 485 123
9x3=27
Q-3 Following questions are based on five three digit numbers.
eng/eng 325 921 783 485 123

If 1 is added to the middle digit of each of the numbers, how many numbers thus formed will not be divisible by 3?



e wor at= Grsisfirer dearstit 9% smemhia 21
325 921 783 485 123
T T AT F HeT 3 | | STEST SATT &, Al 36 TR a1 a1 ey 3 & fFrarfom 72t gri?

01. | 02. 2
03. 0 04. 4
05. 5
Q-3 Following questions are based on five three digit numbers.
enghin 325 921 783 485 123
If 1 is added to the middle digit of each of the numbers, how many numbers thus formed will not be divisible by 3?
e wor at= Brsidfirer dearsit 97 smamhia 21
325 921 783 485 123
T T HEAT F e 30 | 1 ST SATAT 8, AT 7 TRT a1 fohwtt weqra 3 7 fFrarfora 72t gnft?
01. | 02. 2
03. 0 04. 4
05. 5
Solution for Question 3 Ans Key: 4
335 931 793 495 133
335 931 793 495 133
Q-4 Following questions are based on five three digit numbers.
325 921 783 485 123
If all the digits in each of the numbers are arranged in descending order within the number. Which of the following will form the second highest number in the
new arrangement of numbers?
et s at= Breir dearsti 97 sramhia gl
325 921 783 485 123
TS T 31 T GEAT & 2T AAUG! 77 § AGed a1 14 g a1, Fofated § & i =t 947 9 27T § At 999 a=1 9T grir?
01. 325 02. 123
03. 485 04. 921
05. 783
Q-4 Following questions are based on five three digit numbers.
eng 325 921 783 485 123
If all the digits in each of the numbers are arranged in descending order within the number. Which of the following will form the second highest number in the
new arrangement of numbers?
FRferfaa wer at= Brefi dearsit a7 ramha g
325 921 783 485 123
TS T 37 Tl TEAT & (a¥ AALGT 77 § AT a1 07 g T, Faferterd § & i #ff 97 9 27aedT § ga 999 a27 3T grir?
01. 325 02. 123
03. 485 04. 921
05. 783
Solution for Question 4 Ans Key: 5
eng/eng 532 921 873 854 321
enghin 532 921 873 854 321
Q-5 In each question given below four statements are followed by two conclusions numbered I and II. You have to take the four statements to be true even if
eng/eng they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically follows from the given statements

disregarding commonly known facts :

Statements:

No tree is root. No first is root.
Some winner are root All first are last.
Conclusions:

1. Some last are first
II. Some tree are not root and winner

Fr= welF T § A w7 1 e 18R 11 0 0 ) A1 w7 el /e g0 (AT F AT AT Het asat 7 e w4y 9 2 et w6
TEFHT ATTHT T T FAT g T3 i & Ao ariehar &7 & STE0 7 2



FIT: ‘ ‘
FIE UE, F 21 2 FIE I, T 731 2
Fg, fersraT, 72 28 Tt oz, e 21
s
(1) e A, Tge &)
(IN) %= e, S 0 Fasrar et 21
01. Ifonly conclusion I follows./ 7% et 02. Ifonly conclusion II follows./ TT% &l fATHT I1 LA FAT 2
e [ sreor F2aT gl
03. Ifeither conclusion I or II follows./ Zf% T 04. If neither conclusion I nor II follows./ 7% 7 TT fAeht 1 7 €T 11 SIET F7AT 2
AT e 13T 11 82T 7T gl

05. Ifboth conclusions I and II follow./ oIfx
e [ 3fT 11 3T a7 2 2
Q-5 In each question given below four statements are followed by two conclusions numbered I and II. You have to take the four statements to be true even if
eng hin  they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically follows from the given statements
disregarding commonly known facts :

Statements:

No tree is root. No first is root.
Some winner are root All first are last.
Conclusions:

1. Some last are first
II. Some tree are not root and winner

F=r o wor F A Fw T3 e 1 e 11 R e #) =3 et A 96 A g0 (AT A AT gar a8 e =y 7 2)) et
TEFHT ATTHT T T FAT g T3 I & FAohd qriehar T & T80T F:7d 2|

FIT:

FTE TT, 7 T 2 FTE TET, TE T 2
Fg faar, e 2 Teft Tga, i 21
s

(1) % T, T2 8
(ID) % e, S & f&asar 7@ 2

01. Ifonly conclusion I follows. / If% #=e7 02 Ifonly conclusion IT follows./ & et =Rt IT STHY s
forsee [ ergereor 2T 2

03. Ifeither conclusion I or Il follows./FT& AT 04. If neither conclusion I nor I1 follows./ATE T &T fATHT 17 £ 11 AT F2aT &
AT e 13T 11 a7 3T g
05. Ifboth conclusions I and II follow./Zf=
[ 37 I T SAFE0T FYd &
Solution for Question 5 Ans Key: 1
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Q-6 In each question given below four statements are followed by two conclusions numbered I and II. You have to take the four statements to be true even if
eng/eng they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically follows from the given statements

disregarding commonly known facts :

Statements:

All watch are hand. All hand are finger

Some fingeraremind ~ All mind are wall

Conclusions:

I. Some finger are watch

II. No finger is watch

o T TT § A FHAT T 1 o [ S 1 R0 T g =/ A "l A g0 (AT F AT Jet agdt § fe /40 9 2 et o
THT ATTHT T TF FXAT ¢ 136 F1 o (Aehd qrisher &9 & TTHT Fd g
FYq:



Tt ==Y, T 2 aoft 17, SR 2
G SR, fRATT 81 &t R, A g
A

(1) e AT, = 2

(I1) FTE AT, =T 7 2

01. Ifonly conclusion I follows./af% Faet 02. Ifonly conclusion II follows./T T Fae AT I SATHLT FadT Bl
Ao [ ST #2aT gl

03. Ifeither conclusion I or I follows./af< AT 04. Ifneither conclusion I nor II follows./ % 7 AT fATHT 1 7 2T I STHETT FT 2
AT fd 13T 11 oo 2T g

05. Ifboth conclusions I and II follow./T %
Ao [ 877 11 FT a0 2 2

Q-6 In each question given below four statements are followed by two conclusions numbered I and II. You have to take the four statements to be true even if
eng hin  they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically follows from the given statements

disregarding commonly known facts :

Statements:

All watch are hand. All hand are finger

Some finger are mind ~ All mind are wall

Conclusions:

I. Some finger are watch

II. No finger is watch

F= ST ToT § A FAT T 37 AR [T 1 30 w1 S FAA1 F TR AT g0 (AT J ATHTAT Hat a2At 8 T #7419 g1 et
TEFHT ATTHT T T AT g 1o i & (Aod qrieha &7 & T80T F:7d 2|

e

EIRCEIRAR K] Tt g1, SR 2

g ot e gl |t fRmmn, fae g

faswe:

(I) T e, +=T 2

(I1) TS A, 2T T2 21

01. [fonly conclusion I follows./ZTf% & 02. If only conclusion II follows./ZT% Faer e II TLET FXAT I
ﬁ'l’c{?f;llaw\ LEXEI %’|

03. Ifeither conclusion I or IT follows/Ff AT 04. If neither conclusion I nor II follows./aTs 7 T fATHT 17 ET 11 ATHLOT FTaAT g
T e 13T 11 a7 F:3aT &

05. Ifboth conclusions I and II follow./Z =

o [ 317 11 ST a0 2 2
Solution for Question 6 Ans Key: 1
eng/eng
eng hin
Q-7 In each question given below four statements are followed by two conclusions numbered I and II. You have to take the four statements to be true even if

eng/eng they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically follows from the given statements
disregarding commonly known facts :
Statements:
Some mango are guava
All guava are papaya



Q-7

Some banana are mango,guava and papaya

Some lemon are banana

Conclusions:

1. Some papaya are not lemon

II. Some lemon being mango, papaya, guava and banana together is a possibility.

F= TelF T § A FAT 9 &1 e 1307 11 30 0 ) A1 w7 e /e g0 (AT F AT AT qet asat 7 e w74y 9 2 et w6
FHL ATTHT T TF FIAT & T A1 & (Ao qiidhes &7 & STTH0T F7d 2

FIT:

TS, A, AAEE g

aufl e, 7T 21

TG HAT, A, FHAES AT THAT

Fe A1, e &

forewe:

(D) e T, g 72

() T G F =w, THAT, A& ¥ FAT UH a7 g1 6T FH1EET 2

01. TIfonly conclusion I follows./T T Faer 02. Ifonly conclusion II follows./T T Fae T I SITHLT FdT Bl
Ao [ S F2aT gl

03. Ifeither conclusion I or I follows./af AT 04. Ifneither conclusion I nor II follows./TE 7 AT fATHT 17 2T I STHETT FdT 2
AT e 3T 11 SIEeor 2T g

05. Ifboth conclusions I and II follow./ T
e [ 877 11 3T a0 2 2
In each question given below four statements are followed by two conclusions numbered I and II. You have to take the four statements to be true even if
they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically follows from the given statements
disregarding commonly known facts :
Statements:
Some mango are guava
All guava are papaya
Some banana are mango,guava and papaya
Some lemon are banana
Conclusions:
I. Some papaya are not lemon
II. Some lemon being mango, papaya, guava and banana together is a possibility.

F= I ToT § A FAT T 37 e [T 1 30 w1 S w1 F Fat A9 gu (AT J ATHTITAT Tat azA F e #7419 g1 et
TEFHT ATTHT T T FAT g 16 i & (AT qrfeha &G & @0 F7d gl

FAT:

T ATH, THES g

gl e, 7T 2|

T HAT, AT, THES AT TIAT gl

o

() % T, T Tl 2l

(I1) % 19 oW, THAT, THER T FAT UF 97 I il FH1EET 2

01. Ifonly conclusion I follows./ T #a< 02. If only conclusion II follows./aT< Fae Ao II ATEXT FAT gl
e [ ST F2aT 2l

03. Ifeither conclusion I or I follows./afZ AT 04. If neither conclusion I nor II follows./a % 7 AT fATT 1 7 2T 11 STHETT FT 2
AT e 13T 11 SIEeor F2aT g

05. Ifboth conclusions I and II follow./a T
Ao 1 Sie 11 ST SIeor e 2

Solution for Question 7 Ans Key: 2

eng/eng




Q-8 In each question given below four statements are followed by two conclusions numbered I and II. You have to take the four statements to be true even if
eng/eng they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically follows from the given statements
disregarding commonly known facts :

Statements:

No tree is root. No first is root.
Some winner are root  All first are last.
Conclusions:

1. Some last being winner and root together is a possibility
II. Some first are not tree.

A= T T § AW FAT T &7 T 1807 11 30 T 81 S AT F Fhl A g0 (AT F AT TAT el aeAt | (e #4721 et wir
TEHL ATTHT T TF FIAT & o6 -8 (ohT qTiheh =T F STTE0T 7 &

FI:

FEAS, IS TGI8l F1E TgT, IS 72l 2

T farsraT, 72 2 T} gz, srfE 21

s

() % AT fasar o ST UFHare g9 6l §9TaET g

(II) FE T, TE T 2

01. Ifonly conclusion I follows./ZT Fae 02. [fonly conclusion II follows./a% Faer fAeaht 11 SIHET F7AT 2
freahT [ STEeoT 2T 2

03. TIfeither conclusion I or I follows./af= T 04. Ifneither conclusion I nor II follows./Zf& 7 a7 fAwhd 19 %ﬁ I STFHIIT HTd ?II
AT TR 13T 11 SAEe0T 7T g

05. Ifboth conclusions I and II follow./= %
e 1 =17 11 3T STE0r 2 g
Q-8 In each question given below four statements are followed by two conclusions numbered I and II. You have to take the four statements to be true even if
they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically follows from the given statements
disregarding commonly known facts:

Statements:

No tree is root. No first is root.
Some winner are root  All first are last.
Conclusions:

I. Some last being winner and root together is a possibility
II. Some first are not tree.

F= weE oy § A w9 &1 ARy 137 11 R0 T ) = wAe w7 ag /e g U (AT F AT AT qet asat 7 e w4y 9 81 et
TEFHT ATTHT T T FAT g T3 i & Ao qrieher =7 & STEC0T F7d 2|

FA:

FIE UL, AT AL &1 FIS T2, 7€ a1 2

T Ao, TEal F TEar, i 2

fasw:

() T AT F &S sfiT T2 UHars g ¥ 9EET 2|

D) % T, UL T2 8l

01. Ifonly conclusion I follows./ % & 02. Ifonly conclusion II follows./ 7% Faer e I1 SIHTIT F¥aT &
e [ srgeor At 2

03. Ifeither conclusion I or II follows./Zf a1 04. If neither conclusion I nor II follows./af% 7 AT fATT 1 7 2 11 STHETOT FdT B
AT AT 13T 11 ST F2aT &

05. Ifboth conclusions I and II follow./af
AT [ 377 11 T T80 3 &l
Solution for Question 8 Ans Key: 1

eng/eng )
G )




=

o)

Q-9 In each question given below four statements are followed by two conclusions numbered I and II. You have to take the four statements to be true even if
eng/eng they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically follows from the given statements

disregarding commonly known facts :

Statements:

All watch are hand.  All hand are finger

Some finger are mind ~ All mind are wall

Conclusions:

I. Some wall are finger

1. Some wall being finger is a possibility

T TeF T § A FAT 7 &1 e 130T 11 0 0 ) A FAAT T Hel /i g0 (AT F ATt Het asAt 7 e w41 9 8 fAewut w6
TEFHT ATTHT T T FAT g o6 i & Ao arfehar &7 & ST@0 7 2

FAT:

Tt ==Y, gy 2 Ty g1, At

G S, AT 21 Tt fawm, S g

A

(1) e {TAT, ST 2

(IT) T, AT F ST I T HATaT g

01. Ifonly conclusion I follows./FT< Fad 02. If only conclusion II follows./af% Faer fAeht I SATET FIAT 2
Ao [ SIE=or 2T 21
03. Ifeither conclusion I or I follows./Ff& AT 04. If neither conclusion I nor II follows./2T% 7 AT fATFT 17 ET 11 ATHLOT FTaAT 2|
T e 13T 11 82T F:3aT &)
05. Ifboth conclusions I and II follow./7f&
e 1 312 11 31T ST e 7 3l
Q-9 In each question given below four statements are followed by two conclusions numbered I and II. You have to take the four statements to be true even if
they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically follows from the given statements

disregarding commonly known facts:

Statements:

All watch are hand. All hand are finger
Some finger are mind ~ All mind are wall
Conclusions:

I. Some wall are finger
II. Some wall being finger is a possibility

F= S To7 § AW F T &7 AT [T 11w T 81 = At B Gol A gU (AT F AT TAT Tar asAt | (4w #7477 1) et #ir
TEHT ATAHT TE TF FIAT g 19 I F R qTieheh &9 & ST Fd 2

ER R

Tt =T, T 2 T ZT, AT &
T e, AT g T« femmT, a2
fAea:

(D) e AT, e €
(II) T, FTATE F SR[EAT gI T TATaT &

01. Ifonly conclusion I follows./T TS Faer 02. If only conclusion II follows./T T Faer T I SITHLT FadT Bl
Aot [ sreor F2aT g

03. Ifeither conclusion I or I follows./af< AT 04. Ifneither conclusion I nor II follows./aTE 7 AT fATHT 1 2T I STHETT FT 2
AT fAd 13T 11 e 2T 8

05. Ifboth conclusions I and II follow./T %
e 1 317 11 TET SATH0 F:7d 2

Solution for Question 9 Ans Key: 1

eng/eng




eng hin

Passage for Question 10, 11, 12, 13, 14 (ST-2057 RRB BCL MAINS (46-50) F 2020)
eng/eng Passage

Study the information and answer the following questions:

In a certain code language,

“Educational Private Examinations” is written as “6J, 3L, 6R”.
“Definite Working Pays Result” is written as “4L, 1F, 2L, 2J”.
“Preparation Creates Intelligence” is written as “SR, 3L, SN”.
“Duration meaningful Supports” is written as “4L, 4R, 2R”.

HAAT T e A A7 RefertE vt ¥ s d

Rt e H,

“Educational Private Examinations” T “6J, 3L, 6R” % &9 # foraT 47 2
“Definite Working Pays Result” 7 “4L, 1F, 2L, 2J” F =9 # forar 747 2|
“Preparation Creates Intelligence” T “5R, 3L, SN” 3 &7 # feraT 7 21
“Duration meaningful Supports” T “4L, 4R, 2R” % &7 & oraT 7T 2

eng hin Passage
Study the information and answer the following questions:

In a certain code language,

“Educational Private Examinations’ is written as “6J, 3L, 6R”.
“Definite Working Pays Result” is written as “4L, 1F, 2L, 2J”.
“Preparation Creates Intelligence” is written as “SR, 3L, SN”.
“Duration meaningful Supports” is written as “4L, 4R, 2R”.

THAT T AT H3 &fr? FAsferfed v % 8w

Ao e T A,

“Educational Private Examinations” T “6J, 3L, 6R” F =9 § forar 3 2
“Definite Working Pays Result” 7 “4L, 1F, 2L, 2J” F =9 # forar 747 2|
“Preparation Creates Intelligence” T “5R, 3L, SN” % &7 # foraT 27 21
“Duration meaningful Supports” T “4L, 4R, 2R” % &7 & foraT T 2

Q-10  What s code of the word “Digitalization”, in the given code language?

eng/en .
siene & T T AT H “Digitalization” 9Ts% T HTS 4T &2

01. 6P 02. 7N
03. 4L 04. 4H

05. None of these/ZH & FIS Tal
Q-10  What s code of the word “Digitalization”, in the given code language?

eng hin .
& T T AT H “Digitalization” €Ts% T HTE F4T &2

oL ep 02. 7N
03. 4L 04. 4H
05. None of these/ZH & TS TaT

Solution for Question 10

Ans Key: 2

eng/eng  Letter:



Total number of consonants in the word (if the total is odd then) * 2
Total number of consonants in the word (if the total is even then ) * 3
Number:

The total number of vowels.

e

T3 § A A (TT3 F/A [A0H g aT) * 2

9Te% H o o (TTT {FA AL AN * 3

qET:
T AT /A HEAT

eng hin

Letter:

Total number of consonants in the word (if the total is odd then) * 2
Total number of consonants in the word (if the total is even then ) * 3
Number:

The total number of vowels.

L

162 e i (A T @ Rl * 3

e

T AT B TS

Q-11

eng/eng

Q-11

How is “Natural Activity” written in that code language?

I TS ATIT H " Natural Activity" % ot STTeT 82

01. 31.4T 02. 7Y,2E
03. 3L.3J 04. 3], 5W

05. IN,3R
How is “Natural Activity” written in that code language?

I AT AT § " Natural Activity" & el STt 82

01. 3L, 4T 02. 7Y,2E
03. 3L,3J 04. 3J,5W
05. IN,3R

Solution for Question 11

Letter:

Total number of consonants in the word (if the total is odd then) * 2
Total number of consonants in the word (if the total is even then ) * 3
Number:

The total number of vowels.

HeTL:

re8 H A Ao (TT A [0 g aN) * 2

153 H T AT (TR FATA 2 AN * 3

HEAT:

Ans Key: 3

eng hin

Letter:

Total number of consonants in the word (if the total is odd then) * 2
Total number of consonants in the word (if the total is even then ) * 3
Number:

The total number of vowels.

HeETL:

9Te% H e o (T2 F[1 Ao g ) * 2

ors% | 1 Ao (TfE {A THE A1) * 3

qeqT:
T T /e TEAT

Q-12

eng/eng

Q-12

eng hin

What is code for the word “Depending”?

" Depending" 9Ts% *F {oTT e 4T %?

01. 6T 02. 4G
03. 3M 04. 3T

05. 3R
What is code for the word “Depending”?

" Depending" 9Ts% = {oTT e 74T 82



01. 6T 02. 4G
03. 3M 04. 3T
05. 3R

Solution for Question 12

eng/eng

eng hin

Q-13

Q-13

Letter:

Total number of consonants in the word (if the total is odd then) * 2
Total number of consonants in the word (if the total is even then ) * 3
Number:

The total number of vowels.

&,
9153 § A AT (AT FA Ao g an) * 2
9152 | et A (AT FA AW AN) * 3

HqET:
T AT T HEAT

Letter:

Total number of consonants in the word (if the total is odd then) * 2
Total number of consonants in the word (if the total is even then ) * 3
Number:

The total number of vowels.

HAL:

T3 § A oI (TS F/A [ATH g 1) * 2

ore% H A ST (A% FHT 7 F A1) * 3

ST

In the given code language, what does the code “2F” means?

&1 TS IS ATT H, "2F" IS T F47 15 52

01. Mains 02. Exam
03. Market 04. Groups
05. None of these/TTH | F1% Tl

In the given code language, what does the code “2F”” means?

<1 T2 =TS AT H, "2F" TS AT FAT A 82

01. Mains 02. Exam
03. Market 04. Groups
05. None of these/TTH H FI TSI

Solution for Question 13

cuag/ong

eng hin

Q-14

Letter:

Total number of consonants in the word (if the total is odd then) * 2
Total number of consonants in the word (if the total is even then ) * 3
Number:

The total number of vowels.

L
9158 ¥ FeT S (AT e (07 g 1) * 2
9153 H T A (AT FA AT AN * 3

qeIT:
T AT H{A HEAT

Letter:

Total number of consonants in the word (if the total is odd then) * 2
Total number of consonants in the word (if the total is even then ) * 3
Number:

The total number of vowels.

L

e oot e @R Fa g * 2

16 e i (e et @ Rl * 3

e

T AT BT HEAT

What is the code of the word “Frequency’?

Ans Key: 5

Ans Key: 1



eng/eng

"Frequency” T3 T HIE FT &7
01. 3R 02. 6E
03. 3T 04. 4F

05. None of these TTH & FIS Tal
Q-14  What is the code of the word “Frequency”?

eng hin
"Frequency” 7% T I F4T %?
01. 3R 02. 6E
03. 3T 04. 4F
05. None of these/zH ¥ TS Tl
Solution for Question 14 Ans Key: 1

eng/ eng  Letter:
Total number of consonants in the word (if the total is odd then) * 2
Total number of consonants in the word (if the total is even then ) * 3
Number:
The total number of vowels.
HE:
I3 § et S (A1 T o 2 ) * 2
168 7 el o (A FA TH 2 A1) * 3
RICIR
T <l et wEAT
Letter:
Total number of consonants in the word (if the total is odd then) * 2
Total number of consonants in the word (if the total is even then ) * 3
Number:
The total number of vowels.
T
768 7 et e (AT FHe o 2 al) * 2
768 7 el e (A FA TH 2 AT * 3
T

Passage for Question 15, 16, 17, 18, 19 (ST-2057 RRB BCL MAINS (51-55) F 2020)
eng/eng Passage

Study the following informations to answer the given questions-

Seven flights viz. Air India, Air Asia India, GoAir, IndiGo, Jet Airways, SpiceJet, Vistara are bound to fly to different cities from Monday to Sunday in the same
week. Each flight departs at a different time viz. 16 PM, 17 PM, 18 PM, 19 PM, 20 PM, 21 PM and 22 PM in the their respective days. None of the information
given is necessarily in the same order.

Air India departs on Wednesday, but neither at 17 PM nor at 20 PM.

There is only one day between Air India and the flight which departs at 22 PM.

There are only three days between the flights which depart at 17 PM and Vistara.

The flight which departs at 17 PM departs before Vistara.

The flight which departs on Monday neither departs at 17 PM nor it is Air Asia India.

The flight which departs on Saturday leaves at a time before the flight which departs on Tuesday (i.e. if the Tuesday flight departs at 19 PM then the flight on
Saturday departs at 18, 17 or 16 PM.)

GoAir departs on the day immediately before the day on which the 20 PM flight departs.

IndiGo departs at 19 PM.

There is a difference of 2 hours between Jet Airways flight and GoAuir flight (i.e. if a GoAir flight departs at 16 PM then the Jet Airways flight departs either at 14
PM or at 18 PM on its respective day).

et ST 7 eamaE s steae #2 frT f= faw o et 3 3w

AT FATZEH T AT, TAT THAAT =247, 7 0Fw, =W, S Uaas, Trsaste, e SenT-30@wT org<i § I 93 & o7 areg g, FHa  faaw
T UF & TATS H| T IS AT-HT T TATT 16 a9, 17 991, 18 9, 19 &9, 20 9T, 21 &7 37T 22 97 Ik Faiterd faat § Tamr grin &t 18
ST § & S AT Tt 77 | g1 =4 481 81

T AT FHAT T TATET §RAT, AR @ 7l 17 PM 7 T 20 PM §HT U% YT 21T

TAT AT 31T a4 FATEE ST 22 PM 9 TATET Z0T % &1 | el U o 7 3a¥ gl

T FATZE ST 17 PM I% TATHT R 3T faeqme 3 i § daer a1 f3e &7 s g1

g FATSE ST 17 PM U2 TaTET g1, fEea & uger @™t gritl

HIHET FT A AT 17 PM aTell T2 7 &1 T T SRA7 T2e 32 T w3 gt g

STFRETE T TATAT g1 ATl FATSE, HIAATE Rl TATAT ZI4 ATSAT FATIE T Tl F THT | TATHT 31T & (TTAT SR FIAAATL &l FATZE 19 PM U= TTHT AT A
TRETE &Y FATS2 18, 17 T 16 PM 9% TETHT 21T )|

AT, 20 PM T TETAT 214 AT FATE F qid Tgel a1 fad TaT 2t

2=, 19 PM 9% 7@ g1

ST TITAST 3T MUAT F A= 2 5 FT FqT g (AT I UL AT ITE FT THT 16 PM T 8 AT e TALAST 6T IS FT 9T AT AT 14 PM AT 18 PM FT
ZIT, S Haferd faat #)l




eng hin Passage

Study the following informations to answer the given questions-

Seven flights viz. Air India, Air Asia India, GoAuir, IndiGo, Jet Airways, SpiceJet, Vistara are bound to fly to different cities from Monday to Sunday in the same
week. Each flight departs at a different time viz. 16 PM, 17 PM, 18 PM, 19 PM, 20 PM, 21 PM and 22 PM in the their respective days. None of the information
given is necessarily in the same order.

Air India departs on Wednesday, but neither at 17 PM nor at 20 PM.

There is only one day between Air India and the flight which departs at 22 PM.

There are only three days between the flights which depart at 17 PM and Vistara.

The flight which departs at 17 PM departs before Vistara.

The flight which departs on Monday neither departs at 17 PM nor it is Air Asia India.

The flight which departs on Saturday leaves at a time before the flight which departs on Tuesday (i.e. if the Tuesday flight departs at 19 PM then the flight on
Saturday departs at 18, 17 or 16 PM.)

GoAir departs on the day immediately before the day on which the 20 PM flight departs.

IndiGo departs at 19 PM.

There is a difference of 2 hours between Jet Airways flight and GoAir flight (i.e. if a GoAir flight departs at 16 PM then the Jet Airways flight departs either at 14
PM or at 18 PM on its respective day).

frafafaa TTasTd &1 ey d® AeggT FL AT Ry v F s

AT FATZEH TIT ST, TAT THAAT ST, 7 UIT, =M, S TITAS, TATSESle, FEq ST 3@ org<i § I 93 & (o7 ared g, HHa  {aan
T T 2T TATE H| T I SACRT-3TT THT STATT 16 T, 17 9T, 18 TS, 19 79T, 20 97, 21 97 37¥ 22 a9 37k "atad faat & T gnt & 78
ST § & TS AT 6T %7 | g1 =41 91 2

TAT ST AT HT AT g, IR ag Tar 17 PM T &1 20 PM H9F 9% T@TET (1|

TAT ERAT ST A WATEE ST 22 PM IR TATAT T 6 A H el U T2 7 (a7 2

T FATEE ST 17 PM T TATAT 2RI 37T F3edqme 3 o= o St i 1277 37 A< 2

g FATSE ST 17 PM 9% TaTET it FEeame & aget @ g

HIHATE FT T A7 17 PM ATl 122 7 81 Ta7 Ui 2247 wr3e 32 & fore 7o ardt 21

oTTH=TE T TATAT ZIF Tl FATES, HIASTE Sl TATAT 21 a7l FATEE T Tgel % T80T § LT 2idl g (FTHT 3L TIAaT F1 FA15< 19 PM 9% TETET 2R a7
oTTHaT T FATE2 18, 17 FT 16 PM U TaTHT 21!

TITAT, 20 PM 9T TATHT 21 ATl FATSE F I Tgol aTel (& LT gt

220, 19 PM 9% 7T 2R

IS TIATAST T TUAL F 19 2 5 T Aq ¢ (AT I TMUAL 6T IS T T0T 16 PM FT € O 91 TILAST T IS 7 THF AT Al 14 PM IT 18 PM T
ZIT, 37 Haferd faat #)l

Q-15 At what time does the Air Asia India flight depart?

T TAT ST F IS &7 q9T F47 22

01. 21 PM 02. 17PM
03. 20 PM 04. 22 PM
05. 19 PM

Q-15 At what time does the Air Asia India flight depart?

T UIAAT ST 3 IS 7 THT AT 22

01. 21 PM 02. 17 PM
03. 20 PM 04. 22 PM
05. 19PM
Solution for Question 15 Ans Key: 2
eng/eng
DAY TIME | FLIGHT
MON 22 Spice Jet
TUE 17 Alr Asia India
WED 21 Air India
THU 18 GoAir
FRI 20 Jet Airways
SAT 16 Vistara
SUN 19 IndiGo

a1 HIE | wenge




dioterar 17 | werufdrn i)

gerenz | 21 vz gfden

PR | 18 MR
oAz | 20 | Gle wedet
olferanz| 16 forran

eng hin

Q-16

DAY | TIME | FLIGHT

MON 22 Spice Jet

TUE 17 Alr Asia India

WED 21 Air India

THU 18 GoAir

FRI 20 Jet Airways
SAT 16 Vistara
SIN 19 IndiGo
o1 HIA | wenge
Harerz| 22 T Gl
Jaterany 47 wrz ufdrm £
gern: | 21 oz £fEa
AUl | 18 2| Qerip]
QITRIE | 20 e werrda
oifsranrz| 16 ferein
Maenz | 19 sfam

Four of the following five are alike in a certain way and so form a group. Which one does not belong to that group?

Freferfe ot & & =12 v [fEa a8 & v S5 8§ 9o uE aqg a9 g1 i 97 36 94 gatdd a6l g2

01. Spice Jet/ TITET S - 17 PM 02. GoAirATTTA< - 19 PM
03. Vistara /fA¥aT - 19 PM 04. Jet Airways /ST TITAS - 20 PM

05. IndiGo/ZfeT - 16 PM
Four of the following five are alike in a certain way and so form a group. Which one does not belong to that group?

fRaferfed afsr & & = vF W2 a8 T us 39 € sie zafore us aqg aq7d 81 #1997 39 99g ¥ g4 fed 751 82

01. Spice Jet /FTsH Se- 17 PM 02. GoAir ATITAX - 19 PM
03. Vistara /A=< - 19 PM 04. Jet Airways /STe TIEAS - 20 PM
05. IndiGo /Zf2Tr - 16 PM

Q-17

eng/eng

Q-17

eng hin

Which of the following flights departs on Friday?
Aeaferfaa & & #19 |Y FTse RaTe FT @1 gRi?

01. GoAirATr Ta¥ 02. Jet Airways/STE TITAS
03. IndiGo/Zf=2r 04.  Air India/mre 22T

05. Spice Jet/FaT=H e
Which of the following flights departs on Friday?

At & & #19 & w122 FATT F @1 gRi?

01. GoAir/ T TaT 02. Jet Airways/Sie UL



03. IndiGo/Zf=r 04.  Air India/mar< 247
05. Spice Jet/FIT=H ST

Q-18  How many flights depart between Spice Jet and Vistara?
eng/eng .
TITEH e Y faeqr ¥ = # frae weree e gt

01. None/®Ts LT 02. One/T=
03. Two/aT 04. Three/d¥
05. Four/ATX

Q-18  How many flights depart between Spice Jet and Vistara?

OB v S el e ¥ e B et T T SR

01. None/®Ts &l 02. One/T®
03. Two/aT 04. Three/d
05. Four/AmX

Q-19  Vistara departs on which day?

engens feam e Re T a8 2
01. Tuesday/HTTdTT 02. Monday/aTHaTT
03. Saturday/eTf=aTT 04. Wednesday/dT&ET

05. Sunday/AfaaT®
Q-19  Vistara departs on which day?

01. Tuesday/HITeATT 02. Monday/FT a1
03. Saturday/etfaTe 04. Wednesday/g&4Te
05. Sunday/Tfaam

Passage for Question 20, 21, 22, 23, 24 (ST-2057 RRB BCL MAINS (56-60) F 2020)
eng/eng Passage

Read the following information carefully and answer the given question:

Seven students A, B, C, D, E, F and G come to participate in a race event and are wearing jerseys of different colours i.e. red, yellow, blue, purple, white, brown
and black, but not necessarily in the same order. They are from different colleges X, Y and Z. There are at least two students from same college. B is not from
college Y. A is wearing white jersey. F is from college Z. There is only one more participant from B's college and that participant is wearing black jersey. C and D
are from same college. F and G are not from same college. G is either wearing purple jersey or red jersey. The only other participant from A's college is wearing
blue jersey. E is not wearing blue jersey. C is either wearing red jersey or black jersey. The participant who is wearing yellow jersey is from college Y.

freforfd ST it ermgE s T fRw 0wy 7 39w S

AT BT A, B, C, D, E, F 3T G UF SV SIS H TN o AT & ¥ F T 37T 47 7 STft arer, dyeft, ey, S, a, 7 o F1efl 799 gu e,
AT STERT gl o THT 7 § 211 T T S-S ool X, Y T Z | T g1 UF g7 Ficiot 6 FH F F7 &l I 81 B, FictoT Y A 751 g1 A THa ST
g g4 €| F, FAST ZH 81 B FHlors F Fad U TraAni o7 g of¥ ag ARt F1e S 92+ g4 €1 C 3 D, UF &1 Fias 4 2| F 37 G UF & Fiers
ALl 21 G AT AT ST STET T AT STET Tg §U 81 AT Fics F Hhael Uah 7 TSR Aol W 1 ST T2 gU g E Frell St gl 98+ g4 g1 C arar
FATA STET AT AT STET Tl g g1 TIATiT ST et 37 67 ST 92+ g0 8 Hies Y T &

eng hin Passage
Read the following information carefully and answer the given question:

Seven students A, B, C, D, E, F and G come to participate in a race event and are wearing jerseys of different colours i.e. red, yellow, blue, purple, white, brown
and black, but not necessarily in the same order. They are from different colleges X, Y and Z. There are at least two students from same college. B is not from
college Y. A is wearing white jersey. F is from college Z. There is only one more participant from B's college and that participant is wearing black jersey. C and D
are from same college. F and G are not from same college. G is either wearing purple jersey or red jersey. The only other participant from A's college is wearing
blue jersey. E is not wearing blue jersey. C is either wearing red jersey or black jersey. The participant who is wearing yellow jersey is from college Y.

Rerferiad ST #1 Sa\gE® Tgae [ T0 w91 &7 397 dfr-

1T Z1T A, B, C, D, E, F 3T G T I ATITSIH § AN o AT 8 AT T AT T 0T ST Arer, TeAr, T, ST, e, qE7 37T Fel 724 g0 &,
AT STedT et o =t F9 | g0 T Y STomT- ST T ierer X, Y 9Y Z ¥ Gefaa &1 U £ FieloT & 7 F 7 a1 B 21 B, FisT Y T 72l &1 A %e STEf




T2 4 §1 F, Flerst Z & 81 B3 oSt § el U TIAAT 3T 2 37T g Tl w1eft S 727 g7 81 C ¥ D, TF 1 o F g1 F 3T G UF & e
AL 21 G 3T AT ST STET T AT STET Tg §U 8l AT FHics F hael Uah 7 TSR ol W T ST T2 gU g E el STt gl 98+ g4 g1 C arar

FATA STET AT AT STET Tl g g1 TIAmit S{r et 37 67 ST 92+ g0 8 Hies Y T &

Q-20

eng/eng

Q-20

eng hin

Who is wearing the black jersey?

FTeft ST A TR g A

01. C 02. D
03. E 04. F

05. G
Who is wearing the black jersey?

Freft el A e g

01. C 02. D
03. E 04. F
05. G

Solution for Question 20

Student College Colour of Jersey

B

D
E X
F

Blue

G Y FPurple

DA W= BT T
Z HHE
X HIT
Y T
Y 1Tt
X
z

Y

HTAT
et
CRGII

Student College Colour of Jersey
. Z White
X Brown
Y Red

f Yellow

C)"ﬂlTIUOUJha

X Black

Blue

OMmMmOOm>x

Y Purple

G EnkoE]
AR &

GlE)

HTAT
Hrar
Rl

m-nmcnmha

<M< <xN

Ans Key: 3

Q-21

eng/eng

Q-21

eng hin

‘Which among the following is a pair of students from same college?

Fraferfad & & 17 |7 U g1 Fies ¥ Sl #3982

01. AE 02. AF
03. BG 04. CF
05. EG

‘Which among the following is a pair of students from same college?

Fererferfa & f 1 57 7 £ S AT T 2

01. AE 02. AF
03. BG 04. CF



05. EG

Solution for Question 21 Ans Key: 2
eng/eng
BT G ELKIEL
A F4 AT
B X w0
Cc Y e
D T L]
E X AT
F Z Hrar
G Y AT
eng hin  [Student College | Colour of Jerse
A Z White
B X Brown
C Y Red
D Y Yellow
E X Black
F Z Blue
G Y Purple
EIE] Pict Sl T e
A F4 HET
B X Ll
c Y ord
D Y drar
E X BT
F " e
G Y dre
Q-22 What is the name of the student who is from college X but not wearing black jersey?
T T T ATH FAT E S RS X & & o3 o FTed 397 b7 STl 8t a8l 82
01. B 02. C
03. D 04. E
05. F
Q-22 What is the name of the student who is from college X but not wearing black jersey?
IH BT T ATH FIT & AT Fierst X F & AT a8 FTel Tl THI qol Tad a2
01. B 02. C
03. D 04. E
05. F
Q-23 In which of the following groups, all the participants are from different colleges?
rerferiad aget # & s, ol Sfaamit SewT-s1em Fies 982
01. ACG 02. BEF
03. CEF 04. DEG
05. FGA
Q-23 In which of the following groups, all the participants are from different colleges?
eng hin . : NN
FReferfaa aagt & & fored, a9t Sfaarit srenT- s wtastt 7 82
01. ACG 02. BEF
03. CEF 04. DEG
05. FGA
Q-24  What s the colour of the jersey which D is wearing?
eng/eng

Q-24

I ST T[T FAT 2, ST D Tg g0 2?2

01. Brown/‘%ICl’ 02. Yellow/dr=T
03. Black/®TT 04. Red/®TT
05. Purple/sRT=T

What is the colour of the jersey which D is wearing?



eng hin

I STET HT [ FT E, ST D TgA g 2?2

01. Brown/sxT 02. Yellow/d=T
03. Black/®TeTT 04. Red/®TeT
05. Purple/saTit
Solution for Question 24 Ans Key: 2
eng/eng EIE] LR kG
A F4 G T
B X T
Cc Y ara
D Y Hrar
E X TTAT
F z Hrar
G Y E kG
eng hin  [Student College | Colour of Jerse)]
A Z White
B X Brown
C ¥ Red
D Y Yellow
E X Black
F Z Blue
G X Purple

[ Passage for Question 25, 26, 27, 28, 29, 30 (ST-2057 RRB BCL MAINS (61-66) F 2020)

eng/eng Passage

Study the following information carefully and answer the questions given below:

Eight family members L, M, N, O, R, S, Q and P sitting around a circular table, facing towards the centre, but not necessarily in the same order.

L is immediate to the left of his father. S is sitting between his father-in-law and mother-in-law. The grandson of M is sitting between P and P’s wife. M is the
husband of N and both are not an immediate neighbour of L. R is the husband of S. N has two child R and Q. M is the maternal grandfather of L who is the
daughter of Q. L does not have any sibling.

Rerferied ST FT AT gE® oTeaa= w2 3T = 30 70wt o 3 o

UF IRAT F S AZFT L, M, N, O, R, S, Q 31T P UF JATHT U AT 3T A T 3T T FF 95 g, ofohed STELT Al (o SHT FH H Bl

L, 7 a7 3 qEa 914 81 S, I HE ¥ 99 F A= H T37 g1 M F7 T899, P 3T P A1 9T 6 i § 927 81 M, N &7 9fd € 37T 91 LF TR TSIHT 7gt
ZIR, SHFTUMT EI N F T a7 R &7 Q &1 M, L F HeaAd JSHET 8, ST Q #T AT E| LFT Fils Halay Al gl

eng hin Passage

Study the following information carefully and answer the questions given below:

Eight family members L, M, N, O, R, S, Q and P sitting around a circular table, facing towards the centre, but not necessarily in the same order.

L is immediate to the left of his father. S is sitting between his father-in-law and mother-in-law. The grandson of M is sitting between P and P’s wife. M is the
husband of N and both are not an immediate neighbour of L. R is the husband of S. N has two child R and Q. M is the maternal grandfather of L who is the
daughter of Q. L does not have any sibling.

Reforfad ST &7 SAIE T Teaa F T A+ (40 T F=77 % I T

TF TRETF 35 Fa€T L, M, N, O, R, S, Q 31T P U FATHT A F AT 3T 5 il 3T TG FH 95 &, ATk ST gl 1o ot FH H 2T

L, 379+ et 3 qEa a1 €1 S, 9 R ST A1 F A1 § F37 g1 M 7 dea, P 3T P Ay 7t F = § F31 31 M, N 7 9fF & 3% T LF T TSt gt
IR, SHFT UMM EI N F T Ig R AT Q 81 M, L F HaXAA ITHIET 8, ST Q #T 51T g1 LFT FTS @I Al 8l

Q-25  Whatis the position of Q with respect to his sister-in-law?

eng/eng

Q FT 37U FREaT-29-a1 F avad § T 747 8?2

01. Third to the right/aT3 &1 02.  Sixth to the right /313 Zzat
03. Third to the lefy/aT3 ofre=T 04. Either2 or 3 /ATTAT2 4T3
05. Immediate lefy/q¥d aTq

Q-25 What is the position of Q with respect to his sister-in-law?

PN o e e gt o e e A 8

01. Third to the right/ZT3 TE=T 02.  Sixth to the right/aT3 Z=at

03. Third to the lef/aT™ ST 04. Either 2 or 3/ATAT 2 AT 3

05.  Immediate left/qid aTq
Solution for Question 25 Ans Key: 2
eng/eng Me—N

| wN S M/N

N



Pée—a—>R&—S
l l R Q
L
5 o* p ©
eng hin Me— N
M/N 8 M/N
Pe—>a—> RS
l l R Q
L
L o* P o
Q-26 Who amongst the following is S's father-in-law?
eng/eng . .
Ao § 9 S ¥ we-39-af ®4 22
01. p 02. L
03. O 04. N
05. M
Q-26  Who amongst the following is S's father-in-law?
e ® & S F we-29-a1 F7 82
01. p 02. L
03. O 04. N
05. M
Solution for Question 26 Ans Key: 5
MEeN P
l M/N M/N
Pe—a RS
| | &
L o" A o
M—>N
l M/N MIN
P'e>a Re—>s
l R Q
| .
E o P o
Q-27 What is the position of R with respect to her child?
eng/eng .
R T S o F ey § 97 T 82
01. Third to the right /2TT ST 02. Immediate right /G T
03. Third to the left /aTT ST 04. Second to the left /aTd FET
05. Fourth to the left /aTT =TT
Q-27  Whatis the position of R with respect to her child?
eng hin .
R T 3+ 9F & 729 § F97 T g2
01. Third to the right/aTT FTE=T 02. Immediate right /G 3TT
03. Third to the lefysTd ST 04. Second to the left /aTT FAT
05. Fourth to the lefy/sTd =T
Solution for Question 27 Ans Key: 3
eng/eng Me—N
M/N 3 M/N

P> ag—> Re—s

| I = °



L o p ©
eng hin Me—N
M/N B M/N
Pe—sa—3 Res
l l R Q
L o - P 2
Q-28  Which of the following is true with respect to the given seating arrangement?
eng/eng .. "
Joo T T TS FAEAT F G T 9 H F FIA-97 FJ9 97 82
01. L is the cousin of R. /L, R T Ff3 g 02. S and S's husband are immediate neighbours of each other. /S 3% S FT Ut UH-FHL F A
TEE H TS E
03. No female is an immediate neighbour of L. 04. P sits third to left of her daughter. /P 3T+t =T % &m0 AT 8
/T ot wiger LAY i 9= § 781 2
05. N is the mother of O. /N, O #¥ #TaT g
Q-28 Which of the following is true with respect to the given seating arrangement?
eng hin . .
Foo T T TS AT F G T [ H F FA-071 FJ9 97 82
01. L is the cousin of R/L, R T & 2 02. Sand S's husband are immediate neighbours of each other. /S 3T S FT Tfd TH-TAY F T TEE
79 gl
03. No female is an immediate neighbour of L./ 04. P sits third to left of her daughter. /P 3T+t =T 3 a0 4T 8
Frs oF wfger LA @i 9219 § 781 2
05. N is the mother of O./N, O #T HTAT gl
Solution for Question 28 Ans Key: 3
+ -
M&€—>N S
M/N M/N
Ple>a— Re—s
l i R Q
L
+
o) P o
+ -
M€&€—>N s
M/N M/N
Pe—a— Re— ¢
l \\I R Q
Kk
+
(o) o o
Q-29  What s the relation between the P and Q?
eng/eng .
P 3T Q % = 47§ g2
01. Brother-Sister /TE-ag 02. Daughter-Father /sr&1-faaT
03. Husband-Wife /afd-aat 04. Son-Father /T=-forar
05. Son-Mother /T=I-AT
Q-29  Whatis the relation between the P and Q?
eng hin ..
P 3T Q % = 77T Haer g2
01. Brother-Sister/STE-aTg 02. Daughter-Father /a&T-faar
03. Husband-Wife/Tfd-aaT 04. Son-Father /=-foaT
05. Son-Mother/T=-AT
Solution for Question 29 Ans Key: 3
eng/eng Me—N
M/N 8 M/N

Ple>a— Re—> s
1

R 0O




-
eng hin Me—>N
Pl a— Re—os
-
Q-30  How is P related to O?
eng/eng .
P, O & e waTe Hafeerd 82
01. Mother /ATdT 02. Brother /9T
03. Brother-in-law /sI&¥-3a-AT 04. Daughter-in-law /g
05. Uncle /3=t
Q-30 How is P related to O?
eng hin .
P, O & T wrahTe warfeera 22
01. Mother/ATd 02. Brother /4TS
03. Brother-in-law/e-gq-1 04. Daughter-in-law/ag
05. Uncle/ze
Solution for Question 30 Ans Key: 5
M—>N m
l M/N M/N
P a SR s
J' l R Q
L o" . = o
M—>N 5
M/N M/N
Ple>a—IRe—S§
\L l R Q
E* o a P 2
Q-31 Study the following information carefully and answer the questions given below:
There is a group of nine members 5, 9, 3, 6, 1, 8, 7, 4 and 2. They are sitting in a row and they all are facing south, but not necessarily in the same order.
6 is sitting between 3 and 9. There are six persons are sitting between 6 and 8. 2 is sitting fourth to the left of 9. 5 is sitting between 7 and 1. 7 is sitting sixth
to the left of 6. 5 and 4 are not adjacent to each other.
fAeferfd ST 7 eaeIa® dAeaae F:3 3T A= {27 70 3e0f % 3¢ dfor:
UF OHg § AT T8€7 5,9, 3,6, 1,8, 7,4 307 2 g1 F UF Uik § I g i< a7 aferor e v o7 39 2 €, AT ST A8 {6 € T wH A 2
6,3 MTIFAAISTRI 6 AT FAA RS ATHF IS 1 2, 9 F T AT A UL LN S5, 7T I FATHTSTRI 7, 6 F 973 TS T UL 81 5 37 4
TF ZHL % AHe Tal o
Who sits exactly between 1 and 4?
1 3% 4 % 27 = | F19 927 82
01. 3 02. 6
03. 6 04. 2
05. 8
Q-31  Study the following information carefully and answer the questions given below:
eng hin  There is a group of nine members 5, 9, 3, 6, 1, 8, 7, 4 and 2. They are sitting in a row and they all are facing south, but not necessarily in the same order.

6 is sitting between 3 and 9. There are six persons are sitting between 6 and 8. 2 is sitting fourth to the left of 9. 5 is sitting between 7 and 1. 7 is sitting sixth
to the left of 6. 5 and 4 are not adjacent to each other.

Referad ST 7 SAT T ALATT FL 3T A (20 T 7 F I &7

U T W AT 87 5,9,3,6, 1,8, 7, 4 372 31 T UF ufF § 3 § fre ady =feror fRom fff e 3w w7 &, wifw s w2t fr e v sww A En
6,3MTIOFAATSTIEI 6 MTYF AT A T: ATH 95 61 2, 9F AT AT T UL G 5, 7T 1 FAA A TSI 7, 6 % aT4 S T UL 81 5 30T 4
TF THL & qiHe Tal gl



Who sits exactly between 1 and 4?

1 3T 4 % 21 =9 § 4 927 82
01. 3 02. 6
03. 6 04. 2
05. 8
Solution for Question 31 Ans Key: 4

engleng 9 6 3 4

RER
eng hin EEEE

Q-32  Study the following information carefully and answer the questions given below:

eng/eng . . . . .
There is a group of nine members 5, 9, 3, 6, 1, 8, 7, 4 and 2. They are sitting in a row and they all are facing south, but not necessarily in the same order.
6 is sitting between 3 and 9. There are six persons are sitting between 6 and 8. 2 is sitting fourth to the left of 9. 5 is sitting between 7 and 1. 7 is sitting sixth
to the left of 6. 5 and 4 are not adjacent to each other.
Who sits 4th to the left of 3?
T ST &7 eAT @ STeqae 3 ST A= fa7 T 3o % 3¢ S
UF O § AT €T 5,9, 3,6, 1,8, 7,4 307 2 g1 F UF Ulch § 9 g i< qdT aferor fRem v v 39 72 €, ofa =41 981 o e v v A g1l
6,33MTIFATASTZN 6T EFNA TS ATH IS 21 2, 9 F A AT AT UL 5, 73T 1 F AT F I3TE1 7, 6 F 974 S AT I 21 5 307 4
TF TEL % HqIAHeE A2l 2l
3 % 9T AT T T HIT 57 52
01. 9 02. |
03. 7 04. 2
0s. 5
Q-32 Study the following information carefully and answer the questions given below:
There is a group of nine members 5, 9, 3, 6, 1, 8, 7, 4 and 2. They are sitting in a row and they all are facing south, but not necessarily in the same order.
6 is sitting between 3 and 9. There are six persons are sitting between 6 and 8. 2 is sitting fourth to the left of 9. 5 is sitting between 7 and 1. 7 is sitting sixth
to the left of 6. 5 and 4 are not adjacent to each other.
Who sits 4th to the left of 3?
T STTaRTET &7 &A@ T3 A ST 1= [&0 T o7 % 30 aifor:
UF A § AT TE€T 5,9, 3,6, 1,8, 7,4 307 2 | F UF Ulch § I g < a7 Fferor o 1 o7 39 2 €, AT &1 A8 {6 6 w70 H gl
6,3MTOF AT ABTE 6MISF AT A ARF IS 21 2, 9F AF AT A IL N 5, 73T 1 F AT H AT 7, 6 F 978 TS T IL 2N 5 7 4
TF THL & qierhe el gl
3 % FTH AT T I HIF 93182
01. 9 02. 1
03. 7 04. 2
05. 5
Solution for Question 32 Ans Key: 5

engleng 9 6 3 4

RN
eng hin EEEE

Q-33 The following questions consist of two/three statements which are given below the question. You have to decide if the data provided in the statements are
eng/eng sufficient to answer the question. Read all the statements and give answer.

A, B, C, D and E are sitting in a row. Some of them are facing north and some are facing south. Is A sitting on an extreme end?
I) Bissitting third to the right of E. E is sitting at one of the ends.

II) Cis immediate neighbour of B. A is second to the right of C.

IIT) C and D are neighbours and are facing opposite.



eferfera st § /e wow aftafea &, STy f Ruau g Rt g am wer g Fm A R s s T s A ok At f
TT TET| T FIT L 37T I |

A, B, C,D T E U Ufth § 9% &) 377 ¥ g 3¢ T 1T 3T Fg <feror 67 e @ o €)1 A sifom s ww a7 82
I) B,E a4 d1e<r o7 g1 E foFeft v gie ww 9o7 2

) C,B& A TEEIgl A, CF I TR

III) C 3T D 92T g Y foodia 3@ 8 &

01. Only Iis sufficient/&a< I aTH 21 02. Only II and I are sufficient./#a< IT 37 I TTH g
03. Only I and II are sufficient/Fa [T II  04. AllL II and III are sufficient. /&Y I, II 3T I 72T &1
T 2

05. Only II is sufficient./Fa< II TITH gl

Q-33 The following questions consist of two/three statements which are given below the question. You have to decide if the data provided in the statements are
eng hin  sufficient to answer the question. Read all the statements and give answer.

A, B, C, D and E are sitting in a row. Some of them are facing north and some are facing south. Is A sitting on an extreme end?
I) Bis sitting third to the right of E. E is sitting at one of the ends.

II) Cis immediate neighbour of B. A is second to the right of C.

IIT) C and D are neighbours and are facing opposite.

T et | S/ Fo Feterd &, ST 5 F e (0 0 &) ARy A7 T HAT € For # o w6 rer w7 #7959 &7 % o w=ia g
77 TEH Tl For v o 3 R

A, B, C,D T E U Ufth § 9% §| 377 ¥ g 3L T AT 3T Fg <feror 7 e 7@ 3 €)1 7 A sifamn g uw 31 82
I) B,EF a3 16 927 g1 E fFFft UF g e 921 21

) C,B T qd 9= gl A, CF I3 T8l

I1I) C ¥ DUSHT ¢ 37 fAadia za w2 2

01. Only I is sufficient./#ae I TITH 2 02. Only Il and III are sufficient./#=et 11 3T [l TATH &l
03. Only I and IT are sufficient/Fa=T [T I 04.  All L, II and III are sufficient./&sft I, I 3% [ 9FTH &l
T
05. Only I is sufficient./=<t I 73T g
Solution for Question 33 Ans Key: 3
I[+1I-
CBDAE E ALDF BEG
[+1I-
@ B WA F ERAY DRBF C
Q-34 The following questions consist of two/three statements which are given below the question. You have to decide if the data provided in the statements are

sufficient to answer the question. Read all the statements and give answer.

Is * the son of #?
1) #1s father of $. $ is the only sister of %. % is married to (@. @, who is the only child of &, is the sister-in-law of *.
II) $ is sister of *. $ is daughter of #. # is mother of %. % is son of #. # has only one daughter.

TR s 20 re Ao &, 1o 35 15 P 081 Ao 7 e o o ey 3T g 1 v 5 o e
a7 TE T FT T 27 I

FAT*, # FT A2
I) # $SHFTTATLNS, % FT THaATAT 927 8l %, @ T FFaTed 81 @, ST & T THaATar agr g, * #t feee-za-at 2
) $,* FTTEA LIS, # AT T &1 #, % FT TIAT 1 %, # FT T g # T Fad Ta T 2

01. Only I'is sufficient./Fa I T3TH 2| 02. Only II is sufficient./3a< II TITH g1
03. Both I and Il are sufficient./ 3T ITZT  04. Either I or I is sufficient./aT T 1 3T I 7ATH 2|
T g

05. Both I and IT are not sufficient,/I 3T I AT
TIATH A5 2
Q-34 The following questions consist of two/three statements which are given below the question. You have to decide if the data provided in the statements are
eng hin  sufficient to answer the question. Read all the statements and give answer.

Is * the son of #?
1) #is father of $. § is the only sister of %. % is married to @. @, who is the only child of &, is the sister-in-law of *.
I) $ is sister of *. $ is daughter of #. # is mother of %. % is son of #. # has only one daughter.



fReferfed wert § S/de Fou aftafoa &, STyrF fa Ruau g i ag s g FFm A R serar st s F w aaia 8
IT TET| THT FIT T2 37T I |

FAT*, # AT A2
I) # $SHTTATRNS, % F¥ Tt Il 987 21 %, @ T R 81 @, 51 & it gweitar agr g, * &t feecza-at 2
1) $,* FT T2 21 $, # 0 TAT 81 #, % FT ATAT &1 %, # FT T | # T A UF T 2

01. Only Lis sufficient/Fa< I TaTH 21 02. Only Il is sufficient./Fa<t Il TATH 21

03. Both I and Il are sufficient,/I T ITFT 04 Either I or IT is sufficient./aT T 1 3T Il T3TH |
T &

05. Both I and IT are not sufficient./I 3 I AT

T 72T 2

Solution for Question 34 Ans Key: 4

eng/eng

Both the statements can answer the given question separately.

FAT FAT STAT-AT T T 757 7 IAL T Tl B

eng hin

Both the statements can answer the given question separately.

AT FAT STAT-AT T T 757 7 IAL T Tl B

Q-35

eng/eng

Q-35

The following questions consist of two/three statements which are given below the question. You have to decide if the data provided in the statements are
sufficient to answer the question. Read all the statements and give answer.

Point A is in which direction with respect to point B?

I) Point C is 10m to the south of point B. Point B is Sm to the east of point H. Point H is 20m to the north of point E. Point E is exactly between points A
and D such that points A, E and D form a straight line of 10m.

II) Point A is 20m to the north of point F. Point F is 10m to the west of point I. Point I is 20m to the north of point G. Point G is Sm to the west of point C.
Point B is to the north of point C.

Trerferfera wett & <1/ wore aieafera &, 51w o 1= R 0 g1 TR a8 99 FAr & T e § R T =ter woy o 39w a1 o o g
7T TEH Tt o 0F e S E) "

fAgBFa=d d g AT fRem 22

) g, FgBFama 10M g B, AgHF @A S8 FgH, TR EF ST A20 M T I 3 E A3 AT DF Sm dfim d =o
T g T &g A, E 3T D 10 #1 %7 v et ¥@r a9 &)

N FgAFgFFsm a0 e FgE Mg isaEmaofigma gL fgGasaea20W gz eI Mg G, Mg Ccratema 583w gl
ffgB, g CcHFsa Az

01. OnlyIis sufficient./FaT [ T4TH 2 02. OnlylIlis sufficient./Feer 11 T4TH 2

03. Both I and 11 are sufficient/I AT 1 29T 04. Either [ or I1 is sufficient./aT a7 1 4T 11 93T 2|
TATH B
05. Both I and IT are not sufficient./I 3T I Z=T
T TR 2l
The following questions consist of two/three statements which are given below the question. You have to decide if the data provided in the statements are
sufficient to answer the question. Read all the statements and give answer.

Point A is in which direction with respect to point B?

I) Point Cis 10m to the south of point B. Point B is Sm to the east of point H. Point H is 20m to the north of point E. Point E is exactly between points A
and D such that points A, E and D form a straight line of 10m.

II) Point A is 20m to the north of point F. Point F is 10m to the west of point I. Point I is 20m to the north of point G. Point G is 5m to the west of point C.
Point B is to the north of point C.

Frferferd weat & /A Foe ateatad &, ST 9o & A (S0 0 g1 STl T 97 FA7 g 36 F2O9 7 F&=T T47 S1eT T3 %7 39 a7 & v agig g
T AT THT FIT I T I QN

Ay BF A= H fAg AT fRem # 82
) figc, fgBFzfm A 10digze FgB, Mg HF @Hs M gwe g H, FgEF s a20H g7 g g E, Mg A DF w = d =
e g [ fag A, E 3T D 10 9t it vsh #ief} T a4 &)
) g A ffgFFsmA20f e Agr giwaEmad ofgw e gL Fgersmmaofizw e g6 MgcFafzm A sdirgz
figB, A3 CcHF 3T a2
01. Only is sufficient/Fa< I TaTH 21 02. Only Il is sufficient./Fa<t Il TATH 21
03. Both I and II are sufficient,/I 3T ITFT 04 Either I or IT is sufficient./aT T 1 3T Il TATH |
T &
05. Both I and IT are not sufficient./I 37T II =T

T A2 2

Solution for Question 35 Ans Key: 5

eng/eng



10
20

10

. 20
DA 2 _E -2 DA

eng hin

20 C

5
DA -2 _E = DA

Q-36 The following questions consist of two/three statements which are given below the question. You have to decide if the data provided in the statements are
sufficient to answer the question. Read all the statements and give answer.

In a certain code language, what is the code of ‘reveal’?

(I) ‘news motor after reveal’ is written as ‘63 47 28 32°.
(II) °Ahead reveal hair student’ is written as 28 31 17 42°.
(III) ‘Charge reveal hair think” is written as ‘19 28 42 7°.

Trerferfera wot & /A o afeafera €, ST e o A= R 0 g SRt 7g 9 AT 8 T e § T T = 1er v o 39 o o for qeie
A7 71 TY T TF ST 39 RN

e [Afed e 99T A, ‘reveal’ T FE FT 8?2

() ‘news motor after reveal’ T 63 47 28 32° foraT STaT &1
(I) “Ahead reveal hair student’ FT <28 31 17 42’ foraT ST 81
(Il) “Charge reveal hair think’ T *19 28 42 7° for@T STaT 21

01. Only I and II are sufficient/#a [T II  02. Only Il and III are sufficient,/&a< II i< III TITH I
T B

03. Only I and III are sufficient./#a [ 3H¥ III 04. Any two are sufficient/FTS 3t 3T o= TATH g1
T 2

05. Only I and either II or IIL/&a< I 3T IT I
T I

Q-36 The following questions consist of two/three statements which are given below the question. You have to decide if the data provided in the statements are
eng hin  sufficient to answer the question. Read all the statements and give answer.

In a certain code language, what is the code of ‘reveal’?

(I) ‘news motor after reveal’ is written as ‘63 47 28 32°.
(II) ‘Ahead reveal hair student’ is written as ‘28 31 17 42°.
(III) ‘Charge reveal hair think’ is written as ‘19 28 42 7°.

TR s 201 re Ao &, o1 o 35 15 g 081 Ao o7 8 e o o ey 31 g 1 v 5 o e
a7 TE T FT T 27 I



T AT Fe 97T H, “reveal” T I FTE?

() ‘news motor after reveal’ FT ‘63 47 28 32’ foraT ST 21
(IT) ‘Ahead reveal hair student’ #T ‘28 31 17 42 foraT STAT B
(IT) “Charge reveal hair think’ FT <19 28 42 7° fer@T STaT &1

01. Only I and II are sufficient/#a« [T II  02. Only IT and Il are sufficient./Fae 11 3T 111 T3TH g

T &
03. Only I and III are sufficient./#a [ 3T 1T 04. Any two are sufficient,/FTS ¥t 3T FaT TATH g1
T B
05. Only I and either IT or IIL/#a< I 3f¥ 2T I
T
Solution for Question 36 AnsKey: 5
eng/eng (I) news motor after reveal 63 47 28 32
(II) Ahead reveal hair student 28 31 17 42
(IIT) Charge reveal hair think 19 28 42 7
enghin (I) news motor after reveal 63 47 28 32
(I) Ahead reveal hair student 28 31 17 42
(IIT) Charge reveal hair think 19 28 42 7
Q-37 In the following question, a statement is raised and two arguments are advanced, one in favour and one against. You have to decide which argument(s)

is/are strong and which is/are weak. Remember a strong argument is both important and relevant and a weak argument relates to an unimportant aspect
and has little relevance to the core statement.

Statement : Are women better managers than men?

Arguments:

. Yes, women have a favourable genetic make-up that gives them better soft skills.

II. No, men are conditioned to be more action-oriented and effective.

Faforfea w1 7, U 927 3T 369 912 U 927 7 U f5uer §, a7 a6 &7 70 81 ot (i w347 g T i 518 @@ 99w o S 91/8 FHS
B8 | A7 T 6 U Gk T Hecd 0 AT TN ZA1 gIaT & ST U HHSE T UF Aecdeid Tge 9 Salad aidl § AT 4&7 Hg | 91T 57
T 2raT gl

FAT: FAT [T T AT | AIZAT Tga< THGF 52

Th:

I. I, ATl & 99 ST{E ATATUF JATEe g ST Ivg, Sgd? qe7dl T&| Fdl gl

1. TET, T&W (e FTHATal 7@ 31T THIAT 21 & [oIT TR gl

01. Only argument I is strong./#ae @ 1 Fer<h 02. Only argument II is strong./&a@< T 11 I g
L

03. Either argument I or Il is strong./aT T @& 1 04. Neither argument | nor 11 is strong./7 TT @& 1 3T 7 2T 11 TR 21
7 11 F9IF 2

05. Both arguments I and II are strong./ZIT [
ST 11 T 9T &

Q-37 In the following question, a statement is raised and two arguments are advanced, one in favour and one against. You have to decide which argument(s)
is/are strong and which is/are weak. Remember a strong argument is both important and relevant and a weak argument relates to an unimportant aspect
and has little relevance to the core statement.

Statement : Are women better managers than men?

Arguments:

I. Yes, women have a favourable genetic make-up that gives them better soft skills.
II. No, men are conditioned to be more action-oriented and effective.

fReferfed wer #, U qa7 T 30% 978 UF 9 9 UF et §, 37 a6 37 73 81 sraent (i #war € 5w an/& a6 geh s S| 91/8 s
/2 1 =12 v 36 U Fereh T WEeaqul T T ST BT & Si¥ UE FHS a6 UF Wgedn T gl O HafAd grar § T §ET 4T 7 AT FH
TR 2T 21

FAT: FAT [ET 6T TA9T H AIZATT TgdqT Taere 82

GEE

1. g, ATEATSll o UTH ST{E ATqa (97 qAqTae g ST 3rg, Sga¥ a&qdT TaH FH2al gl

11 TET, T&W ST FhaTe! ST 37T THTAT 21 & [oIT SR gl

01. Only argument I is strong./#ae @ 1 7k 02. Only argument IT is strong./#ae @& 11 FLT |
2l

03. Either argument I or II is strong./aT T @& I 04. Neither argument I nor Il is strong./T TT T 1 3T 7 & 11 T I
AT 11 79IF 2

05. Both arguments I and II are strong./Z11 [
T 11 T T 2

Solution for Question 37 Ans Key: 4




eng/eng

Both arguments regarding the statement are not strong.

FAF % T | AT qF T T2l 2

eng hin

Both arguments regarding the statement are not strong.

FAF F T | AT qF T TRl 2

Q-38

eng/eng

Q-38

In the following question, an argument is followed by two assumptions. Which of the given assumptions is/are implicit in the argument?

Argument: Why should we not find some representative men who may stand for the virtuous mean of human society? Such men must clearly not be men
of genius.

Assumptions:

1. A man of genius tends to take himself out of the general category altogether.

II. Only a mean can represent the whole.

rrferfera wor &, v o 7 <1 Femeorrd & Rt E) < T qheonet § & w |t of § iR 882

T TH A FHIS 6 [OTETI 29 % [0 GE ST aTel T AT 1er [T 7 F97 Tal o1 AT U? TH q¥g & AN €78 T F TITAT & &1
TET T 24 2l

ECEIRUIE

[. ST ot STk G H T a¥E o AT A0 & ST F:7 A gl

I1. Fae T g ot TiafAfeca #T awar g

01. Ifassumption I alone is implicit./7f% Fae  02. Ifassumption II alone is implicit./ 7% Fae TFLTO 11 AT g
AT 1 AR 2

03. Ifeither assumption I or IT is implicit. /7T%  04. If neither assumption I nor IT is implicit./E 7 T LTI [ 3f< T 2T 11 siqt= 24 gl
IT AT qFLTOT A7 11 s f+iad 2|

05. Ifboth assumptions I and II are implicit./
i< T EITOMT [ #1711 siaf+iad 2l
In the following question, an argument is followed by two assumptions. Which of the given assumptions is/are implicit in the argument?
Argument: Why should we not find some representative men who may stand for the virtuous mean of human society? Such men must clearly not be men
of genius.
Assumptions:
I. A man of genius tends to take himself out of the general category altogether.
II. Only a mean can represent the whole.

Feferfaa v 9, U o 1 31 @R &1 T E1 AT TS TR § § A qUHT @ § SAqHied o/a?

Th: TH A TATS F AT f8d 6 (0 G2 2 a1 T A 18 QeI 1 F1 Tol @IoT AT0? TH TE 6 AR T8 & F T 5 &er
TEY T2l 2ld &l

T T

I. ST % &+t AT g7 & T a3e & ST H0ft & F7T FT A g

1. Fae TG 2T FelehT T Teee T TehaT 2l

01. [fassumption I alone is implicit./7f #aer  02. Ifassumption II alone is implicit./ZTf% Fae ‘icic #TeoTT 11 Stz 2
g s 2

03. TIf either assumption I or IT is implicit/af&  04. Ifneither assumption I nor IT is implicit./A S 7 T TALTIO [ 3{¥ T 2T 11 A= 12d 21
IT A1 Q@I [ 47 11 i+ iad 2|

0S. Ifboth assumptions I and II are implicit./

TS T EITOMT [ 3 11 siaf+igd 2l

Solution for Question 38 Ans Key: 4

eng/eng

Both assumptions are not implicit in the statement.

T TALTIOMG FI4 | dqfigd Tai 8l

eng hin

Both assumptions are not implicit in the statement.

AT [@HTTG F9 § Siq=ed qal g

Q-39

eng/eng

In the following questions, a statement is followed by two assumptions. Which of the given assumptions is/are implicit in the statement?
Statement: The government has alleged that companies in steel and cement industries have formed cartels to keep prices high.
Assumptions:

1. Steel and cement prices have appreciated over the last six months.

II. Steel and cement companies are colluding with each other and fixing prices.

Referfead w1 7, UF F97 7 39 91 &7 @y & 4T 81 & T Taemeorst § F i 91/ 99 § qted o/a?
FYT: TLHTT T AT AT ¢ T T4t 3T w2t § wafagt 3 i 3= @ % o f1éa 7 1o B 2
ECEIRUIE

1. o= g weiT § ¥4 oY e £7 fiadl § offas i g2 8

1. ¥ ¥ e FOfaAT &f U AL F a7 (WA d g 3T o 9e § Hi\d a7 F Tl 2l

01. Only assumption 1 is implicit./Fa<r A& 02.  Only assumption Il is implicit,/FeeT TE&TOT 11 FdtHiad 2l



[ saffea gl
03. Either assumption 1 or Il is implicit. /AT @7 04. Neither assumption I nor Il is implicit./T T TALTLO [ 3T 7 &1 11 iAH2d g1
TFLTOT [ AT 11 S22l
05. Both assumptions | and Il are implicit./I 3%
11 ETHT @ Siafeied
Q-39 In the following questions, a statement is followed by two assumptions. Which of the given assumptions is/are implicit in the statement?
eng hin  Statement: The government has alleged that companies in steel and cement industries have formed cartels to keep prices high.
Assumptions:
I. Steel and cement prices have appreciated over the last six months.
II. Steel and cement companies are colluding with each other and fixing prices.

Referfad o 7, UF F97 7 39 91 &7 @0y & T4 81 & T Taemeorsit | 7 i a1/ 99 § siqted o/a?
FAT: TR T AT AT ¢ T T4t 3T w8 =t § wufagt 3 i 3= @ % o f1éa 7 121 B 2
g grer:

1. e g weiT § ¥ oY Jide £7 fiaal § offa+ i g2 8

I1. T 37T ¥ FfAFT 7 U gav F ar fHefiswra g o7 T orae § fr9d 77 72 =78

01. Only assumption I is implicit./#ae TEEMUT02.  Only assumption Il is implicit./Fae TAETIT 11 AT 21
[ affea &l
03. Either assumption | or Il is implicit/aT @ 04. Neither assumption I nor Il is implicit./T & TALTLO [ 3T 7 &1 11 siafi2d g
TS [ A7 11 Safaiad 2l
05. Both assumptions 1 and Il are implicit./I 3%
I T AT Sqfiad gl
Solution for Question 39 Ans Key: 3

Either of these can be the assumption for the statement.
TAH H A1 9t FAT % 1T T 21 Tl 2l

Either of these can be the assumption for the statement.
TAH A FTS ot FAT F o0 QLT 21 FahRdt 2l

Q-40 In the following question, a statement is raised and two arguments are advanced, one in favour and one against. You have to decide which argument(s)
is/are strong and which is/are weak. Remember a strong argument is both important and relevant and a weak argument relates to an unimportant aspect
and has little relevance to the core statement.

Statement: Should teachers be assessed by the school committee?
Arguments:

I. Yes, this will work as a monitoring tool in the case of teachers.

II. No, the school committee is not competent enough to assess the teachers.

ATCTTEa T |, W T ST S8 a13 Ue 087 3 U [aTer §, 27 0 (27 T 8| ST (0 F77 ¢ T 0 q1/47 T qo<h T i q1/7 FAST
2/2 | AT’ TE T U q9I<h T Tgcd 01 qT STHRIE 1 21T & ST TH HHST T U Agcde = Tgcl o Saed adl g T qeF g 7 JIST FF

ITHETT 2raT 2
FT: T THA AT T AT HT HeATHA AT AT AT 0?
TH:

1. 2, 72 forerent 3 Araer § U fARTOT SO F =Y | HwTH
I1. T, TOreTaht T et 7 ¥ forT &qer ATt T 781 2|

01. Only argument I is strong./#a<T T 1Tk 02. Only argument II is strong./Fa< Tk 11 T
2l

03. Either argument I or II is strong. /4T A7 @ 104. Neither argument I nor 11 is strong /7 T @& 1 3T 7 &Y 11 T2I=F 2
AT 11 F9IF 2

05. Both arguments I and II are strong./Z1=1 1
T 11 T |9 &

Q-40 In the following question, a statement is raised and two arguments are advanced, one in favour and one against. You have to decide which argument(s)
eng hin  is/are strong and which is/are weak. Remember a strong argument is both important and relevant and a weak argument relates to an unimportant aspect

and has little relevance to the core statement.

Statement: Should teachers be assessed by the school committee?

Arguments:

1. Yes, this will work as a monitoring tool in the case of teachers.

II. No, the school committee is not competent enough to assess the teachers.

Referfed wer #, U q27 ST 30% 918 UF 96 9 UF [&0ef §, 31 T 38 77 &1 Iant o7 F5wat g T i a1/& 76 q9r<h s i 91/8 FHs
B/e | aTe v 36 UF Terh T Weed ol T T IAT ZIaT @ SiY UF FHST O UF Wgcdgd gl o Hafad grar g o §eT 42 7 9I=T F:7
TTH R ZraT 21

FA: FAT TRA AT GTT AT HT AR 67T AT ATRT?
GEE
L. g, Tg Trerehi 3 ATH | U RO=T STFH0r & 9 § HTH H4T



11 72T, foretart 7 Sehet =t F:2et % forw Tofer Affa Tem 727 2

01. Only argument I is strong./#a< T 1 7er<h 02. Only argument IT is strong./&Fa< @ 11 FF g
2l

03. Either argument I or II is strong./aT a7 @ I 04. Neither argument I nor Il is strong./ T T 1 i< T & [1 7 B
T 11 H9TF g

05. Both arguments I and II are strong./Z11 I
ST 11 T F9I< 2|

Solution for Question 40 Ans Key: 1

eng/eng [ is strong because that is the purpose of assessment. II is weak because it talks about the inability of the school committee to assess.

1 HTTH g FAN1 T AHAT AT 3297 | [l FASIT & FAN1h THH HA HHET o6 AHAT | HY T T STHIT T a1 %00 T2 2
eng hin s strong because that is the purpose of assessment. Il is weak because it talks about the inability of the school committee to assess.

1 HTH g FAN1% T AHAT A1 3297 gl [ FASIT & FAN1h THH FHA HHET o6 AHAT | HY T T STHAT T a1 00 T2 2

Passage for Question 41, 42, 43, 44, 45 (ST-2057RRBNEWPATTERN(1-5M)2020)
eng/eng Passage

In each of the following number-series only one number is wrong. If the wrong number is corrected, the series gets established following a certain logic. Below the
series, a number is given followed by (a), (b), (c), (d), () and (f). You have to complete the series following the same logic as in the given series after correcting the
wrong number. Now answer the following questions giving the correct values for the letter in the questions.

RerferieT dear-aer § § T § Fae UF 967 T9d g1 T1 T ST w1 9gl 36T ST 2, a7 J@eT U [ a6 F a1 e g1 St 21 @
& A=, TF ST &1 TS 2 (a), (b), (¢), (d), (¢) 37 (f) SATTHT TAT HEAT T Tel L % 18 (U T SFAT § I T 6 918 G@AT T T FAT g1 o 71 |
&Y 3 forT |2t A1 27 gu Aeferted weIt 71 397 3|

eng hin Passage

In each of the following number-series only one number is wrong. If the wrong number is corrected, the series gets established following a certain logic. Below the
series, a number is given followed by (a), (b), (c), (d), () and (f). You have to complete the series following the same logic as in the given series after correcting the
wrong number. Now answer the following questions giving the correct values for the letter in the questions.

eI HeaT-@aT # & T4 § e UF ST Tq | AT TAd H&AT il Gol 6T SITaT &, q1 @A U H%d T 6 918 Sq719d a1 Sl gl a@er
=, TF AT E TE 2 (a), (b), (¢), (d), (¢) AT (£) ATTHT T HEAT T HET LA o aT8 (&0 T @ § e a6 % a7 S@ell 1 T FAT 2| o0 T §
&7 o w2t 71 39 gu Aeferfea woff #71 39 &)

Q-41 What will come in place of (c)
eng/en (c) F TITT I FAT ATTIT:

2 NOmS. 76 M5 1434
3@ b (@ @ (@ O

01. 18 02. 22
03. 24 04. 21
05. None of these

e

Q-41 What will come in place of (¢)
enghin  (¢) ¥ TATT TLFAT ATIAT:

2 3 2 15 76 245 1434
3@ G © @ @@ O

01. 18 02. 22
03. 24 04. 21
05. None of these
TAH AL TRl
Solution for Question 41 Ans Key: 4

engleng 2 3 2 15 76 245 1434

x1+12 x222 x3+3%  x4-42 x5+52 x6-62

eng hin 2 3 2 15 76 245 1434

x1412 x2:22 x343% x4-42 x5+52 x6-62



Q-42  What will come in place of (d)
eng/eng  (d) ¥ TITT TTFIT AT

1 2 8 33 148 740 4626
3@ G © @ @@ O

01. 156 02. 164
03. 168 04. 172
05. None of these

TAH | (S ARl

Q-42  What will come in place of (d)
enghin  (d) ¥ TATT TTFAT ATTAT:

1 2 8 33 148 740 4626
3@ 0 © @ @@ O

01. 156 02. 164
03. 168 04. 172
05. None of these

Solution for Question 42 Ans Key: 4
1 2 8 33 148 740 4626
x1+12 x2422  x3+43% x4+4% x5+52 x6+6°
1 2 8 33 148 740 4626
x1+17 %2422 %3433 x4+4% x5+5% x6+6°
Q-43 What will come in place of (b)
(b) F TITT TTFIT ATTAT:
2 45 11 30 92 312 1136
3@ b © @ @ O
01. 7 02. 81
03. 16.75 04. 18.75
05. None of these
T A 1S AR
Q-43  What will come in place of (b)
(b) F TITT TTFIT ATTAT:
2 45 11 30 92 312 1136
3 @b © @ © O
01. 7 02. 81
03. 16.75 04. 18.75
05. None of these
TAY F FS TR
Solution for Question 43 Ans Key: 1
eng/eng 2 4.5 11 30 92 312 1136
x2+0.125x4  x2+0.5x4  x2+2x4 x2+8x4 x2+32x4  x2+128x4
eng hin 2 4.5 11 30 92 312 1136
x2+0.125%4  x2+0.5x4  x242x4  x2+8x4  x2+32x4  x2+128x4

Q-44  What will come in place of (e)
eng/eng (€) F TITT ITFT ATYT:

2 14 18 46 82 176 338
3@ 0 © @ @@ O



01. 238 02. 338
03. 218 04. 174.238
05. None of these

A A
Q-44  What will come in place of (e)
enghin  (€) ¥ TITT T FAT ATAT:

2 14 18 46 82 176 338
3@ 0 © @ @@ O

01. 238 02. 338
03. 218 04. 174.238
05. None of these
TAH H TS AL
Solution for Question 44 AnsKey: 1
eng/eng 2 14 18 46 82 176 338

x2+10 x2-10 x2+10 x2-10 x2+10 x2-10

enghin 2 14 18 46 82 176 338
x2+10  x2-10 x2+10  x2-10 x2+10 x2-10

Q-45 What will come in place of (f)
(f) F TATH G FIT ATTT:

1 3 7 11 21 43 85
3@ b © @ @© O

01. 275 02. 279
03. 277 04. 273
05. None of these
TN A IS TR
Q-45 What will come in place of (f)
(f) 3 TITT GTFIT ATTAT:

1 3 7 11 21 43 85
3 @@ b © @ @ O

01. 275 02. 279
03. 277 04. 273
05. None of these
TAH q FIS Tl
Solution for Question 45 Ans Key: 3
eng/eng 1 3 7 11 21 43 85

x2+1 x2-1 x2+1 x2-1 x2+1 x2-1

enghin 1 3 7 11 21 43 85
x2+1 x2-1 x2+1 x2-1 x2+1 x2-1

Passage for Question 46, 47, 48, 49, 50 (ST-2057RRBNEWPATTERN(6-10M)2020)
eng/eng Passage

The following Pie Chart shows the Percentage distribution of the incomes of a four wheeler company HUNDALI earned during different years. The
adjoining pie chart shows the percentage distribution of profit earned in the respective years. The sum of the incomes earned in all the given years is
Rs.64000. The respective ratio of the total expenditure and the total profit in all the given years is 5:3.

fAftafag a1 9 & TH AT afAT ITET T FTHY HUNDIA F9T T AT SAAT AT A A q a0 T FT Afaeraam< s safaraar .
AMAFITLATE A (ETAT AN § JT ATH FTIIATA o9 gqafAT1A7 8. RO TT AN § AT 0T FTHA T 64000 TTITATE §. f¥Q
TTER T A FFT TCHT @H qAT AT T [A ATH HT TLITT FAM: 5:38

Income Profit

F




4

<

E 2011 =2012 =2013 = 2014 m=m2015 = 2016 2011 =2012 = 2013 = 2014 w2015 =m 2016

>

4

g

5

)

2011 =2012 =2013 =2014 m2015 = 2016 m 2011 =2012 =2013 = 2014 m2015 = 2016

eng hin Passage

The following Pie Chart shows the Percentage distribution of the incomes of a four wheeler company HUNDALI earned during different years. The
adjoining pie chart shows the percentage distribution of profit earned in the respective years. The sum of the incomes earned in all the given years is
Rs.64000. The respective ratio of the total expenditure and the total profit in all the given years is 5:3.

Rafaa a1 91 § uF FITafgar arga a9 ardt HUNDIA S99 g1 (AT 7T A1 A Ao S0 T HT A rqaar< o aqfqm 747 8.
AT TS ATE A (EUAT AN § AT ATH FT AT fFarsra qafarvar§. o rwawt § afSiq srT FTHT T 64000 TTITATE §. T¥T
TTHR T A 6T TCFT @S AT AT FA ATH HT AT FHM: 5:3 8

Income Profit

2011 =2012 =2013 = 2014 =2015 m 2016 2011 =2012 =2013 = 2014 =2015 =m 2016

AT CIE

>

%

= 2011 =2012 =2013 = 2014 m=m2015 = 2016 = 2011 =2012 =2013 = 2014 w2015 = 2016

Q-46 Find the respective ratio of the total expenditure of HUNDALI in the years 2011 and 2013 to the total expenditure in the years 2012 and 2014.
eng/eng HUNDAI % a0t 2011 q97 2013 # 3 70 1 @=t a1 2012 3% 2014 § T 70 Fo7 @=1 H7 FH: AT G D579,

01. 12 02. 23
03. 2:1 04. 150:209
05. 33:47

Q-46  Find the respective ratio of the total expenditure of HUNDAI in the years 2011 and 2013 to the total expenditure in the years 2012 and 2014.
enghin  HUNDAT % a0 2011 997 2013 # 3 70 et @=t 991 2012 3% 2014 § F67 10 T @=1 H7 FH7: STTAT 19 B2,



01. 12 02. 2:3

03. 2:1 04. 150:209

05. 33:47
Solution for Question 46 Ans Key: 4
eng/eng Required answer=64000 : 24000 = 8:3

30%8-30%3:40x8-37x3=150:209

3HTE IT=64000 : 24000 = 8:3

30x8-30%3:40%8-37x3=150:209
eng hin  Required answer=64000 : 24000 = 8:3

30%8-30%3:40x8-37x3=150:209

I8 IT=64000 : 24000 = 8:3

30%8-30%3:40%8-37x3=150:209
Q-47 Find the percentage of the profit earned by HUNDALI in the year 2012.
eng/eng 9 2012 § HUNDAI ST (TS @1 7 Sfaerd st o,

01. 40% 02. 50%

03. 60% 04. 66.67%

05. None of these

TAH H ATS Tol

Q-47 Find the percentage of the profit earned by HUNDALI in the year 2012.

4 2012 H§ HUNDAI 51T STfStd AT T T ST shifor,

01. 40% 02. 50%

03. 60% 04. 66.67%

05. None of these

TAH H ATE Aol

Solution for Question 47 Ans Key: 5

Required answer=64000:24000=8:3

2Ee TR 100 =166.66%

aT+fTE ITT=64000:24000=8:3

2% £100=166.66°

Required answer=64000:24000=8:3

S 2R 100=166.66%

T+TE ITT=64000:24000=8:3

Y 100=166.66%

15x3

Q-48 The expenditure of HUNDALI in the year 2016 is what percentage less (approximate) than the expenditure in the years 2014.
eng/eng A9 2016 ¥ HUNDAI FT @1 a9 2014 § F 10 &= & faraer afqera 3 (e7+) 22

01. 70% 02. 80%

03. 73% 04. 83%

05. 68%
Q-48 The expenditure of HUNDALI in the year 2016 is what percentage less (approximate) than the expenditure in the years 2014.
eng hin @ 2016 § HUNDAI &1 &=t a1 2014 # £33 70 == & Frae aftera ## (srem) 82

01. 70% 02. 80%

03. 73% 04. 83%

05. 68%
Solution for Question 48 Ans Key: 3

eng/eng

Required answer = 12x8-20%3:25x8-22x3=36:134=18:6127,

ﬁ:cIDD =73%



ST 3T = 12x8-20x3:25x8-22x3=36:134=18:6127;
49

—x100=73%
67

eng hin  Required answer = 12x8-20%3:25%8-22x3=36:134=18:6127,
ﬂ:cIEID =73%

67

IfiE I = 12x8-20%3:25%8-22x3=36:134=18:6127;
ﬂ:cIDD =73%

67

Q-49

eng/eng AW 2015 3T 2016 § HUNDAI % F& @= T F AT FT FHHT: AT ST {0

01. 143:249 02. 47:80
03. 143:247 04. 14:17

05. None of these
TR TS AL
Q-49

eng hin @9 2015 317 2016 & HUNDAI 3 i @5 9T H AT HT FHHL: ST G 611974,

Find the respective ratio of the total expenditure and the total income of the HUNDALI in the years 2015 and 2016.

Find the respective ratio of the total expenditure and the total income of the HUNDAI in the years 2015 and 2016.

01. 143:249 02. 47:80
03. 143:247 04. 14:17
05. None of these
TAH HHIS Tol
Solution for Question 49 Ans Key: 2
Required answer = 30x8-33%3:30x8=141:240=47:80
ITYTE I = 30%8-33%3:30x8=141:240=47:80
Required answer = 30x8-33x3:30x8=141:240=47:80
T I = 30%8-33%3:30x8=141:240=47:80
Q-50 In which year expenditure of HUNDALI is the second maximum.
| a7 HUNDAI #T @9 91 Sifersha s @12
01. 2012 02. 2014
03. 2011 04. 2015
05. 2016
Q-50 In which year expenditure of HUNDALI is the second maximum.
5| a7 HUNDAI %7 @9 8T STfersha s T21?
01. 2012 02. 2014
03. 2011 04. 2015
05. 2016
Solution for Question 50 AnsKey: 1
eng/eng  English — In year
English— % &
eng hin  English—In year
English— s &
Passage for Question 51, 52, 53, 54, 55 (ST-2057RRBNEWPATTERN(11-15M)2020)
eng/eng Passage
Data related to human resource of a multinational company (X) which has 145 offices across 8 countries.
TF TEET FIAT (X) F ATHT G919 & G f4a Sz7 orad § 3 & 145 wrafaa g
Total :Ac::: :: Percentage of | | <X | STIEH | Fet At | o T wigel A | SO
Countries | Offices | Number of St Post-Graduate Eagse) ol AT FHETET F1
Employees Bmployees Employees PIGEIGE
14 2548 5:7 75 A 16 2568 57 75
B 18 2880 11:5 65 B | 18 2880 11:35 65
C 14 2310 10:11 40 C 14 2310 10:11 40




D 22 3575 3:2 80 D| 22 3575 3:2 60

E 13 2054 7:6 50 E| 13 2054 76 50

F 17 2788 20:21 75 Fl U 2788 20:21 &

G 24 3720 8:7 55 || o 3720 87 3

H 21 3360 9:5 80 H| 2 3360 9:3 80
eng hin Passage

Data related to human resource of a multinational company (X) which has 145 offices across 8 countries.

TF TETT FIAT (X) F ATHT G918 & G f¥a 327 orad s 3 # 145 wrafaa g

El

Tolal ::::: :: . T @E‘:‘_ﬁﬁrﬁm N T I FHANCT | AT
Countries | Offices | Number of Sk Post-Graduate ezl EdR=iRRLG) FHATAT T
Employees Employees Employees PIGEIG
A 16 2568 5:7 75 Al 16 2568 7 7
B 18 2880 11:5 85 B | 18 2880 11:5 65
[S 14 2310 10:11 40 A% | 219 1 g
D 22 3575 3:2 60 D| 22 3375 3:2 50
E 13 2054 7:6 50 E 13 2054 76 50
T 17 | 2788 | 20:21 75 F| 17 2788 20:21 75
G 24 | 3720 | &7 | 55 G| 24 3720 B:7 55
- 21 | 330 | 95 | 80 H| 21 3360 0:5 80
Q-51 If the number of male post graduate employees in country H is 1800, what percent among the female employees in that particular country are post
graduate?
T 397 HH T2 TIee YS[Ue FHATAT 1 941 1800 &, T 39 AT 397 § AT FHATAT § fhae Jfaerd Tee Is[ue 82
01. 76 02. 74
03. 72 04. 64
05. 68
Q-51 If the number of male post graduate employees in country H is 1800, what percent among the female employees in that particular country are post
graduate?
T 397 H H T2 TIee IS[Ue FHATLAT 6l 941 1800 &, TT 39 [A9rT 37 § AT FHATAT H hae Ffaerd Tee Is[ue 82
01. 76 02. 74
03. 72 04. 64
05. 68
Solution for Question 51 Ans Key: 2
eng/eng Female in H = % =1200
Post Graduate in H = M =2688

Female Post Graduate in H = 2688-1800 = 888

588 100=74%
1200
H # Afgeme = 3361”4” —1200

H # o2 Ieee = W=2688
H #H AeaT IR I9U2 = 2688-1800 = 888

. x100="74%
1200
eng hin FemaleinH=$=lEDD
Post Graduate in H = M =2688

Female Post Graduate in H = 2688-1800 = 888
ﬁ:clﬂﬁ =74%
1200

Hi ke = 22803 _ 1509

4 4




i
H # 92 ez =w=zﬁss

H H AT IR I9T2 = 2688-1800 = 888
ﬁ:(lﬂ[& 74%
1200

Q-52 In which of the given countries is the percentage of women employees with respect to the total number of employees (both males and females) in that
eng/eng country the second lowest?

fu o & 7 o 391 | AT FHATRAT F7 TITT I 97 F FHATAT (T ¥ AIZATH F1AT) T FH HEAT F Gae § ZavT 998 FH g7

01. G 02. B
03. E 04. H
05. D

Q-52 In which of the given countries is the percentage of women employees with respect to the total number of employees (both males and females) in that
eng hin  country the second lowest?

fw o & & form o1 § AR FHATRAT F7 WA I 397 F FHATAT (T ¥ AIZATH F1AT) T o HEAT F Gael § AT 998 FH g2

01. G 02. B
03. E 04. H
05. D
Solution for Question 52 AnsKey: 4
Number of women employees in H, is second lowest.
H  AfeeT =i i S qat de 7 2|
Number of women employees in H, is second lowest.
H  AfeelT =i i S qat de 7 8|
Q-53 What is the ratio of the total number of male employees in countries B and H together to the total number of female employees in countries C and D
together?

i~

B =¥ H 39T § T&9 FHATILAT 1 ol H&AT 747 C 3T D 3901 § AiGAT HHATILAT 361 AT FHT AqIT F4T 52

01. 63:52 02. 51:38
03. 77.64 04. 69:44
05. 57:40
Q-53 What is the ratio of the total number of male employees in countries B and H together to the total number of female employees in countries C and D
eng together?
B 317 H 29T § 9 FHATAT *0f ol G471 a7 C 37 D 2977 § AlgeT FHATAT il ST T A1 FIT 52
01. 63:52 02. 51:38
03. 77.64 04. 69:44
05. 57.40
Solution for Question 53 Ans Key: 4
eng/eng 2880x11 2880x11
Required answer = 16 16 =69:44
2310x11 | 2310x11
21 21
2880x11 2880xI11
sflesm= __10 .10 __—69:44
2310x11  2310x11
21 23
eng hin 2880x11 2880xl11
Required answer = 10 16 =69:44
2310x11  2310x11
21 23
288011 2880x11
sflesm= 10 . 10 __—69:44
231011 2310x11
23 21

Q-54 What is the difference between the average number of post graduate employees in countries A, B and D together and the average number of post graduate
eng/eng employees in countries F, G and H?

Z9TT A, B 31T D & U AT I IS[Ue FHATRAT T 36 S&AT 3T 3907 F, G 3T H § TIee IS[U FHATAT T 6T TEAT F S+ S #4782



Q-54

eng hin

01. 282 02. 276
03. 316 04. 342
05. 294

What is the difference between the average number of post graduate employees in countries A, B and D together and the average number of post graduate

employees in countries F, G and H?

29T A, B 37T D H UF T T2 IS0 FHATRAT 1 S8 ST 317 297 F, G 3T H # Tree YU FHATAT 6l SHq §E&AT & A= a7 82

01. 282 02. 276
03. 316 04. 342
05. 294

Solution for Question 54

eng/eng

eng hin

Q-55

2788x75 3720x55 3360x80 2568x75 2880x65 3575x60
+ + +

Required answer = 10g 100 100 __ 100 100 100 _9g4
3 3
2788x75  3720x55 3360x80 2568x75 2880x65 3575x60
e I = ""100 100 100 __ 100 100 100 _ gy
3 3

278875 3720x55 3360xB0 2568x<75 2880x65 3575x60
Required answer 100 100 100 100 100 100

afiE I = ""1g0 100

Which of the given countries has the highest number of average employees per office?
o o Zon § 7 uTq AT T e FEAT T ST Haw A9 g2

01. F 02. H
03. B 04. C

05. D
Which of the given countries has the highest number of average employees per office?
fom o ot & 7 wfS FrEtTe imd FEAT T HEAT g9y ATaE 22

01. F 02. H
03. B 04. C
05. D

Solution for Question 55

eng hin

Country C has the highest number of average employees per office.

2T C T i hrafera Sied shu=ril shi SEar ged 31 2.

Country C has the highest number of average employees per office.

2T C | I Hraierd ST HHeR) shl HEdT T4 3R 2.

Ans Key: 5

Ans Key: 4

Passage for Question 56, 57, 58, 59, 60 (ST-2057RRBNEWPATTERN(16-20M)2020)
eng/eng Passage

In a class, students learn three languages Hindi, English and French. 20 students learn all the three languages while 28 students learn no language. 24 students learn
only Hindi while 17 students learn only English. The number of the students who learn Hindi and English but not French is twice the number of the students who
learn French and Hindi but not English. The number of the students who learn English and French but not Hindi is thrice the number of the students who learn
French and Hindi but not English. 51 students learn French while 11 students learn only French.
U FHeT 7; A=t i wrore Z4, sRsh aur % frad 2. 20 et a4t st Hed g et 28 et w5 ot w98t @, 24 FEmdf aa B
g & Sate 17 Frmeff Fae s fraq €. R4 sire ol diae arer 9eg % 7e) S arer ety 67 S e oY 24T e arer vy Rt
Tl T ATe (=TTt st ST 7 & AT 8. SUSH 3T b H@e aTel T [ al Aol Sa arel el i §&dT a3 [Zal e arer a2eq st
Tl Hiae et faartat £t ey #7051 FrRmedt v fraa g satE 1 Bt e v ded g

eng hin Passage

In a class, students learn three languages Hindi, English and French. 20 students learn all the three languages while 28 students learn no language. 24 students learn
only Hindi while 17 students learn only English. The number of the students who learn Hindi and English but not French is twice the number of the students who
learn French and Hindi but not English. The number of the students who learn English and French but not Hindi is thrice the number of the students who learn
French and Hindi but not English. 51 students learn French while 11 students learn only French.




U FeAT H; FFrameff e arord B, $wsh aur v frea 8. 20 Fremeft St st ded & et 28 fremeft w g off aror 985 died. 24 et e Fd
T & et 17 et e st g g, B oire {elt diae arer q=weg %= 72t e arer Rrenfiat 7 @ear e oie 4 i arer weeg skeft

el T arer fHrenfEat £ e w7 37 IET 8. WS T Fe e arer g Fa
T2l T arer et £ gear #:51 f7 I 2. 51 Femeff g9 fe & safFE 1 Gl daa g9 fea g

Tl Hrae arer famrfeiat 1 dear g oire Rt diae oot w2eq st

Q-56 Find the total number of the students in the class.
engleng  FETH =TT fit ot FeaT @ Ho,
01. 120 02. 110
03. 130 04. 32
05. 90
Q-56  Find the total number of the students in the class.
eng hin & # =it it ot &ear sa Hifs,
01. 120 02. 110
03. 130 04. 82
05. 90
Solution for Question 56 Ans Key: 2
Learn H E
F
Required answer = 24+17+11+5+15+10+20+28=110
e I = 24+17+11+5+15+10+20+28=110
Learn H E
F
Required answer = 24+17+11+5+15+10+20+28=110
e I = 24+17+11+5+15+10+20+28=110
Q-57 Find the number of the students who learn at least one subject.
engleng FH & FH UF fau i arer f=mfeiat £t e s fifs.
01. 120 02. 110
03. 130 04. 82
05. 90
Q-57 Find the number of the students who learn at least one subject.
enghin  FH ¥ FH UF Ao e arer it 1 e s fifm,
01. 120 02. 110
03. 130 04. 82
05. 90
Solution for Question 57 Ans Key: 4

eng/eng Required answer=110-28=82
F9{TE ITT2=110-28=82
eng hin  Required answer=110-28=82

F9Te ITT=110-28=82



Q-58

What is the respective ratio of the number of the students who learn Hindi and English but not French to the number of the students who learn Hindi but not

eng/eng English and French.

AT ST FZt it oSt #ira § At o et |, o et S B S & it sisft sie = 921 Hiad; T w0 SIqamd #4782

01. 522 02. 56

03. 6:5 04. 5:12

05. 12:5
Q-58 What is the respective ratio of the number of the students who learn Hindi and English but not French to the number of the students who learn Hindi but not
eng hin  English and French.

oAt Sir fEt it SRSt W g Ao o T2t wiaa; o et S B S & it sieft sie = 721 Hiad; 7 wHer: s 97 82

01. 52 02. 56

03. 6:5 04. 5:12

05. 125
Solution for Question 58 Ans Key: 4
eng/eng Required answer=10:24=5:12

a¥e ITT=10:24=5:12

ono hin

Required answer=10:24=5:12
9T ITT=10:24=5:12

Q-59 The number of the students who learn only two subjects is what percent less than the number of the student who learn at least two subjects.
et 21 (A9 Hige a1er fe=fea &7 g1 #9759 27 Ay Saq aror A=t f e 7 Gaar gt w7 22
01. 20% 02. 25%
03. 10% 04. 35%
05. 40%
Q-59 The number of the students who learn only two subjects is what percent less than the number of the student who learn at least two subjects.
Faet <1 Ao Hfiee arer fE=ntei=t 7 9ew w79 9 59 21 v e are Gt £ e & e afqaa w597 22
01. 20% 02. 25%
03. 10% 04. 35%
05. 40%
Solution for Question 59 Ans Key: 5
Required answer=5+10+15+5+10+15+20=3:5; Z:x 100 = 40%
I I = 5+10+15+5+10+15+20=3:5; Zx100=40%
= Required answer=5+10+15+5+10+15+20=3:5; Zx100=40%
2
Y IH = 5+10+15+5+10+15+20=3:5; =100 = 40%
Q-60 Find the respective ratio of the number of the students who learn at least one subjects to the number of the students who learn at most two subjects.
engleng FH & FH UF AT e arer faenfeit £t &, o sfeew 7 srfes v fawy diae aver et 1 s 1 wwer s sa fiie,
01. 40:37 02. 41:45
03. 12 04. 23
05. 4:5
Q-60  Find the respective ratio of the number of the students who learn at least one subjects to the number of the students who learn at most two subjects.
enghin 9 ¥ 7 UF Aoy dae arer it 1 g, =i sfge 7 sries v fawr diae arer et 1 e 1 waer s s S,

01. 40:37 02. 41:45
03. 12 04. 23
05. 4:5

Solution for Question 60 Ans Key: 2



eng/eng

Required answer=110-28:110-20=82:90=41:45
AT ITT =110-28:110-20=82:90=41:45

eng hin  Required answer=110-28:110-20=82:90=41:45
AT I =110-28:110-20=82:90=41:45
Q-61 litre mixture of alcohol and water contain alcohol and water in the ratio 2.66. On adding 2.7 litres of water, the ratio of alcohol to water becomes 2:3.
eng/eng Further on adding litre alcohol; the original ratio of alcohol to water is obtained. Find the missing figures.
9T ST T F e THror # 2.66 AUTT | Teamige o 9T g1 2.7 ST IIHT fHeT 9% =7 3T 9T T 99T 2:3 g1 14T g1 3
e e THeT 9% T § orTarel S I T Ho ST ATH Z1aT g1 ATIAT AR T IaqT 9]
01. 33,6 02. 22,72
03. 1.1,3.6 04. 33,72
05. 72,33
Q-61 litre mixture of alcohol and water contain alcohol and water in the ratio 2.66. On adding 2.7 litres of water, the ratio of alcohol to water becomes 2:3.
eng hin  Further on adding litre alcohol; the original ratio of alcohol to water is obtained. Find the missing figures.
TS ST qTT e fosar § 2.66 SATATT H STowhige T qT+T §1 2.7 e qret FHeTe 9% orerar sff¥ 9Tt 7 a7 2:3 81 S1aT 81 3T
e oTa AT 9% 9T § 9RTEe Y I AT G SATATT TTH T g1 ATIAT SAiehe T IqT A0
01. 33,6 02. 22,72
03. 1.1,3.6 04. 33,72
05. 72,33
Solution for Question 61 Ans Key: 4
8:3=8:3
2:3=8:12
8:3=32:12
O=2.7/ 1L
1=03L
11 =3.3 L and 24
11=33L3R24=721L
8:3=8:3
2:3=8:12
8:3=32:12
9=27L
1=03L
11=3.3 L and 24
11=33L3AR24=72L
Q-62 In liters mixture of solution of salt and water; 0.25 part is salt. liter water is evaporated so that the part of the salt in the final solution of 54 liter
becomes 0.35. Find the missing figures.
T AT AT F efte foor 7 0.25 fReam 7w €. A Tt AT Fe T 54 Sf1e F sifaw ffeor & e 7 fZemr 0.35 21
01. 8.1,54 02. 81,54
03. 75.6,21.6 04. 81,54
05. None of these
TAH q TS AR
Q-62 In liters mixture of solution of salt and water; 0.25 part is salt. liter water is evaporated so that the part of the salt in the final solution of 54 liter
eng hin  becomes 0.35. Find the missing figures.

THF AT I F e oo  0.25 REmT T+ 8. e aTT AT A U% 54 e sifaw frgor § w5 7 Fea 0.35 g
ATYAT TS T IAT AT

01. 8.1,5.4 02. 81,54
03. 75.6,21.6 04. 81,54
05. None of these

TAH H (S qQl

Solution for Question 62 Ans Key: 3



eng/eng 1:3=7:21
7:13=7:13
20=54L
1=2.7
28=75.6Land 8=21.6L
28=75.6L3MW8=21.6L

eng hin 1:3=7:21
7:13=7:13
20=54L
1=2.7
28=75.6Land 8=21.6L
28=75.6L3MW8=21.6L

Q-63 18 litres water was added to a vessel containing 80 litres of pure milk. 49 litres of the resultant mixture was then sold. After that litre pure milk and
eng/eng litre pure water was added to the vessel in the respective ratio of 2:1. The respective ratio of milk and water in the resultant mixture is 4:1. Find the
missing data?

80 FVeT (& T AT T § 18 FTe TTHT STAT TAT| T TROTTHT 7197 3 49 Fre I97 797 369 aR aad H 2 Foqaa § e qB 3F
AT fteT F T AT R ST /AT et Rt TRt freer § o ST T 1 Sqard wAen: 4:1 21 | Atwet w1 aar @)

01. 16,18 02. 2,1
03. 4,2 04. 20,10
05. None of these
TAH A FS ol
Q-63 18 litres water was added to a vessel containing 80 litres of pure milk. 49 litres of the resultant mixture was then sold. After that litre pure milk and
litre pure water was added to the vessel in the respective ratio of 2:1. The respective ratio of milk and water in the resultant mixture is 4:1. Find the

missing data?
80 F12¥ L& TG AT A | 18 F 1 TIAT STAT TAT| T THOTHT FH=007 3 49 e o= M| 38 a1 & § 2:1 % Sqa1d # #ex 4z 39
oY F1eT 9[F T T e 3T /AT (At | TRt fror # ger 3 911 7 ST AL 4:1 81 fAq| Atwst Fr aar A

01. 16,18 02. 2 1
03. 4,2 04. 20, 10
05. None of these
=i 7 Y
Solution for Question 63 Ans Key: 3

9+ 1
Therefore 2 x 2 = 4 and 2
Fq2 %2 =432

Ol e
Therefore 2 X 2 =4 and 2
a2 x2=43R2

Q-64 Q1: In a certain quantity of syrup; 5 parts is honey while 3 parts is water. x part of syrup is removed and replenished with water in order to get a syrup
eng/eng having half honey and half water?

= forefT T2 feor /; 5 AT 9122 8 ST 3 STRT qTe &, ST 9T Sff¥ ST qret are (6T STa e & fore fea &1 x e A @

T i ot & &7 e =

Q2: A bottle contains 0.75 whisky and the rest water. y part of the mixture is taken away and substituted by equal quantity of water so as to have half
whiskey and half water?

TS Fraer & 0.75 Tiewr e arfe qret g1 smeft wfewy 3T s 9 219 3 forw fpspor w67 y wrr for = sie wwe /e § qrey g yiaeertia
[ERIRRI

01. X=y 02. x<y

03. x>y 04. xgy

05. Relation can’t be determined
Q-64 Q1: In a certain quantity of syrup; 5 parts is honey while 3 parts is water. x part of syrup is removed and replenished with water in order to get a syrup
eng hin  having half honey and half water?

e o Foreft fAtera frsaor &, 5 T org @ § 3T 3 90T T 2. SeT 98 i ST ITeT aret BT s e o forw [ &6 x e femer
T wfargfe o=t 7 F7 7T T

Q2: A bottle contains 0.75 whisky and the rest water. y part of the mixture is taken away and substituted by equal quantity of water so as to have half



whiskey and half water?

TF A H 0.75 AT AT TR TET g1 3eft AiewT 3T swem Ot g o forg frsror &7 y AT fora 1w o /91 |/ ® a1 gy staeria
ERIke

01. X=y 02. X<y
03. X>y 04. XSY

05. Relation can’t be determined

Solution for Question 64 Ans Key: 2

eng/eng

Q-65

Q-65

eng hin

Q:5:3=5:3
1:1=5:5
2

i e

10
in
3:1=3:1
1:1=3:3

Uhn| =

Hence x<y
Hd: x<y

Q:5:3=5:3
1:1=5:5

Hence x<y
Ad: x<y

Q1: A person takes a loan of X 3000 at 5% at simple interest. He returns X 1500 at the end of 1 year. In order to clear his dues at the end of 2 years he

paid I x?
T <k X 3000 T 0T 5% AT 4TS 97 AT gl q@ 1 ATl % d | I 1500 ATSTT 21 2 AT 6 3 § TO=1 a0 0 T2 F % o0 78 T x

Q2: A person takes a loan of X 2000 at 5% at compound interest (compounded annually). He returns X 1000 at the end of 1 year. In order to clear his
dues at the end of 2 years he paid X y?

TF TR T 2000 FT 3T 5% Fhg T sTTS (AT HATMTT) T AT 81 a8 1 T F oid | T 1000 ATSTAT g1 2 TTA % i | ST S7aT< 00 T2
F ¥ 70 42 T y ST FT?

01. X=y 02. x<y
03. X>y 04. XSY

0S. Relation can’t be determined

Q1: A person takes a loan of % 3000 at 5% at simple interest. He returns % 1500 at the end of 1 year. In order to clear his dues at the end of 2 years he
paid X x?

T TR T 3000 FT T 5% ATLTIOT TS 9T AT gl T 1 FTA & oid § T 1500 ATSTAT g1 2 |1 i | AT IAGT I 2T FLeA & (o7 a8 T x
T FaT B

Q2: A person takes a loan of % 2000 at 5% at compound interest (compounded annually). He returns X 1000 at the end of 1 year. In order to clear his

dues at the end of 2 years he paid X y?
T SATeH T 2000 FT T 5% TH (5 TS (ATAF HATSA) T AT g1 98 1 T % 3T | T 1000 FATTAT g1 2 T F Fq | AT ST 7 [T
A % [oIT a8 T y T H?

01. X=y 02. x<y
03. x>y 04. xgy
05. Relation can’t be determined
Solution for Question 65 Ans Key: 2
eng/eng Qpix= 3000x5x1 1500x5x1 o0 —c posns
100 100
2 3 5 5
Qyay= 2000x3x1  1000x3x1 100x3x1 40 4 50452 Rs 155
100 100 100



eng hin

Q-66

eng/eng

Q-66

eng hin

Hence x<y

Ad: x<y
Q,ix= 3000><:><1+l:00><:><1:]50_'_?5:&_225
100 100
2 5 5 x5
Q,:y= -OOOxdxl_'_lOOOxdxl_;_lOO Xl=100+50+5=R5_155
100 100 100
Hence x<y
HAd: x<y

Q1: A man saves X 2000 at the end of each year and invests the money 5% compound interest. He had < x at the end of 3 years?
T ATETHT TeIF a9 % 3 # T 2000 FATAT & 37 TH 5% Fhd (5 AT T2 Faer FIaT 81 3 |1 % i § 39 I L X GRI?
Q2: A man saves X 2000 at the start of each year and invests the money 5% compound interest. He had 2 y at the end of 3 years?

T SATEHT TeAF a9 o eI & T 2000 TATAT & 3T T 5% =Fhgfag sATS T2 9T FaT 81 3 T o oid § 36 919 T y gHIT?

01. X=y 02. x<y
03. x>y 04. xfy

05. Relation can’t be determined
Q1: A man saves X 2000 at the end of each year and invests the money 5% compound interest. He had X x at the end of 3 years?

TF ATTHT T a9 i § T 2000 FTATAT 8 ¥ T 5% =g e sATsT 92 97 FTdT 81 3 AT % i § 9% I T x GRIT?

Q2: A man saves X 2000 at the start of each year and invests the money 5% compound interest. He had X y at the end of 3 years?
T ATEHT T a9 o LT § T 2000 THTAT 8 ST T 5% =Foha g AT T [Haer Har g1 3 |7t o o | Seeh I 2 y gimn?

01. X=y 02. X<y
03. x>y 04. X<y

05. Relation can’t be determined

Solution for Question 66

Q-67
eng/eng

Q-67

eng hin

n
»

Qq: X=2000 14— | +2000| 14— | +2000 =2205 +2100 = Rs 4303

Hence x<y
3HAd x<y

Q;: X=2000/ 14> | +2000/ 1+—— | +2000 =2205+2100 = Rs.4305

Qz: Y=

- - = 4l
%

2000/ 1+—=— | +2000/ 1+—=_ | +2000/ 1+ | +2000 = 2315.25+ 2205+ 2100 = R5.6620.25
100 100 " 100

Hence x<y
Hd x<y

Q1: % 64 amounts to X 83.20 in 2 years. T 172 amounts to X x in 4 years at the same rate percent per annum?

2 T | T 64 T THH T 83.20 T T SATAT | TF I T 2T AT T2 4 T § 172 AT T I X &1 SAAT 82
Q2: The amount of % 250 invested at 12% p.a. during the period from 4th February 2018 to 18th April 2018 is X y.
4 FTALT 2018 | 18 37T 2018 T S7afer 3 JTT 12% Wi AT T 7% 9T T 250 fFeer #71 forem Ty )

01. x>y 02. x<y
03. X<y 04. X2y

05. x=yorCND

Q1: % 64 amounts to X 83.20 in 2 years. X 172 amounts to T x in 4 years at the same rate percent per annum?

2 9T | T 64 Y THH T 83.20 T T ATAT g1 IFF T T80T 3¢ Fivera a4 a9t & T 172 T T T x BT AT 82
Q2: The amount of X 250 invested at 12% p.a. during the period from 4th February 2018 to 18th April 2018 is X y.

4 FTEET 2018 T 18 375t 2018 T S7afer 3 FTT 12% i ariuias i 7% 9% 2 250 Feer &7 ffrem 2y 2

01. x>y 02. X<y

Ans Key: 2



03. X<y 04. X2y
05. x=yorCND

Solution for Question 67 Ans Key: 1
eng/en 320-
gleng Qi: Rate=M><100=15°u
2x64
x=172{ 14174 ) _ g5 2752
. 100 )
Q,: Time = 24+31+18=73 days = 73/365 years = 1/5 years
. ll:(l-l
y=250 1+—2 |=Rs.256
100
Hence x>y
AT
Qum= B2 100 -15%
X=172 14222\ _pea7s2
L 100 )
Q,: W = 24+31+18=73 days = 73/365 years = 1/5 a8
-- Dxl]
y=230 1+—= | =Rs236
Ad: x>y
Q;: Rate=""= N =15
X172 14222 | = Rs 275

Q-68

eng/eng

Q-68

eng hin

Hence x>y

QW= 22" x100 =15%

X=172l 14— M= ps 2752

HAd: x>y

Q1: 2600000 is divided into three parts (the first part is  x) in such a way that their respective amount; each at 10% interest; after 2 years, 4 years and 6
years respectively; is in the ratio of 12:21:32.

Z 600000 T I TR (TZAT TR 2 x g) H 26 YT farsyriora o o f36 Saert wvra forsrers; e uw 10% st arfie &t 3T &; Fwer: 2 971, 4
HTA 3T 6 AT % d18 12:21:32 F AT | &I JaT €.

Q2: A man deposited X 3480000 between his two sons in such a way that when they aged 18 years they could receive equal amounts. They aged 15 years
and 13 years. If the rate of the interest is 4% pa. The difference of the amount of money deposited in their accounts is X y.

T ATEHT 7 T 3480000 3T I F2T % @I H S8 THTL STHT FITAT & 6 AT 70 18 F AT T T THIT GaeTier T Fe, ITh! a0 15 a9 37
13 a9 &; 7fT 9Tt Y 3% 4% 9 a9 g1 a7 I =T § STHT i FwT e T y 2

01. x>y 02. X<y
03. xSy 04. xzy

05. x=yor CND

Q1: 2600000 is divided into three parts (the first part is % x) in such a way that their respective amount; each at 10% interest; after 2 years, 4 years and 6
years respectively; is in the ratio of 12:21:32.

2 600000 FT T AT (TEAT ART  x &) H =87 W1 faarfora o a3 39t svra forsrem; o 9% 10% Sia ari 1 32 & FHe: 2 979, 4
T 3T 6 AT % d77 12:21:32 F AT | &I AT €.

Q2: A man deposited X 3480000 between his two sons in such a way that when they aged 18 years they could receive equal amounts. They aged 15 years
and 13 years. If the rate of the interest is 4% pa. The difference of the amount of money deposited in their accounts is X y.

T ATHT 7 T 3480000 37T &7 AT % T H TH THTL TTHT FAT & T30 a7 310 18 & T 9% TR THT EFier T HL. It A0 15 T 3T



13 a9 g; 7% =t Y 7T 4% wfa 7 g1 a7 37 =@ra | ST e Fw v I y g

01. x>y 02. X<y
03. X<y 04. X2y
05. x=yorCND
Solution for Question 68 Ans Key: 1
eng/eng Q,: Ratio ofprinciple=£xmg;£xmo; 32 w100=2-3-4
120 140 160
: X= 6009000 x2=133333.33
Q2:Ratioofprinciple=li_'><100:%xmo:li:14
r:34810000><1:]20000
Hence x >y
3 > 29
Q= TS 1 FAM = = 5100 —o 5 100: o= %100 =2:3: 4
120 140 160
: X= 6009000 x2=133333 33
Q,: TEAYT T SFFATT = 3100 : — —15-14

Q-69
eng/eng

Q-69

eng hin

A, B and C entered into a partnership. A invested 3000 at the start. B invested 33.33% more than that invested by A. C invested the average of the
investment made by A and B. After 4 months, A withdrew 40% of his amount, B doubled his amount and C increased his amount by 20%. After another 5
months, B got away from partnership and A doubled his amount while C maintained his amount. Profit at the end of the year was X 677000 and profit was
shared in the ratio of their investment and time.

Quantity I: Profit earned by C.

Quantity II: Average of profit earned by A, B and C together.

A, B 3T C 7 UF ATASTE Tl A T & | T 3000 FT FHarer fFam B T A & 33.33% arfer a1 farer fram € 7 A 3T B g1 f3m 0 fHeer &ir
i fRerer R 4 7 977, A T ST TTE9T 6T 40% aT9 o foram, B 7 =T T7T2r &1 FW[AT &7 {337 3T C 7 779 T 20% @7 f&3m v i 5
HEI % a2, B AT F T 81 AT 3T A T SO+ T TRAT 7 [T STateh C ST TI197 470 T=T| a9 % $iq § 79 T 677000 =T 37T A1
I TRarer ST W 3 qard § | Ry T am

HTATL: C 5T AT @1

TTATIL: A, B 3T C 5147 T AT AfSq <19 7 i

01. >T1 02. I<II

03. I>=II 04. >=I1

05. 1=II or No Relation

A, B and C entered into a partnership. A invested Z 3000 at the start. B invested 33.33% more than that invested by A. C invested the average of the

investment made by A and B. After 4 months, A withdrew 40% of his amount, B doubled his amount and C increased his amount by 20%. After another 5
months, B got away from partnership and A doubled his amount while C maintained his amount. Profit at the end of the year was X 677000 and profit was



shared in the ratio of their investment and time.
Quantity I: Profit earned by C.
Quantity IT: Average of profit earned by A, B and C together.

A, B 3T C 7 UF ATAGTT &T| AT & | T 3000 FT FHarer ATl B T A & 33.33% a1fera a1 farer fram) C 7 A 37T B 317 f30 7w f=¥erer &t
e ferer fRam) 4 R aTR, AT ST TTF9T T 40% ATIE o foram, B 7 et 79T 7 TRET w7 3347 ST C 7 T0f9r 1 20% F@T 3@ v 7 5
AEIA % 978, B ATAET & T g1 AT 3T A F ST 7197 ST &< (337 S|t C F =T T a0 Tl a9 % 37d § A1 T 677000 9T 3T ATH

S TRarer offT |9 3 STaTa § |rEAT AT = am
HTATI: C ZIT oI AT
FTATIE: A, B 3T C 5T T A7 ASIq 19 7 e

01. >II 02. <11
03. >=II 04. I>=I1
05. I=II or No Relation

Solution for Question 69

Ans Key: 1

eng/eng A:B:C=30x4+18x5+36x3:40 x4+ 80 x5:35x4+42x5+42 x3=318:560:476

Q-70

Q-70

1=476
_318+560+476
—_——
Hence [ > 11

HAd: [>11

I =451.33

A:B:C=30%x4+18x5+36x3:40 x4+ 80 x5:35x4+42x5+42x3=318:560:476
=476
I8 +5604+476 . o

[ = =451 33

Hence I > 11
Hd: 1> 11

Manoj; a fruit seller; sells 33 mangoes and gains equals to the selling price of 11 mangoes. Also he sells 66 oranges and gains equal to the cost price of 22

oranges. Manoj gains x% when all the mangoes are sold and gains y% when all the oranges are sold.

HATST; T el [AadT; 33 S J=dT & ¥ AT 11 0w ¥ Tt o7 F aera §. 303 AATAT a8 66 HAL ST @ i< AT 22 HA¥ i ARG oA

LT, GATST ATH x% T THT 7 99 T 3 3T ATH y% ST T Fa€ a9 T2 8.

01. x“o>y00 02. x%<y%
03. x%=y% 04. Can’tsay
05. None of these

TAH H (S ARl

Manoj; a fruit seller; sells 33 mangoes and gains equals to the selling price of 11 mangoes. Also he sells 66 oranges and gains equal to the cost price of 22

oranges. Manoj gains x% when all the mangoes are sold and gains y% when all the oranges are sold.

HAIST; U Bl fAhdT; 33 39 I=aT 2 3T A1 11 3\ ¥ Foht o7 F 9797 8. 30% S«TaT 98 66 Ha¥ a=d7 g 3T AT 22 Ha¥ il AR JoF %

LT, GAIST ATH x% T T 7 99 T 3 3T ATH y% ST T Fa€ a9 T2 8.

01. x%>y% 02. x%<y%
03. x%=y% 04. Can’tsay
05. None of these

TAH A AE T

Solution for Question 70

Ans Key: 1

eng/eng

%PMangoes =x= 2 ——=x100=50%

Far

88 —66

%PQOranges = v = %100 =33.33%
Hence x%>y%

o 33-22
% PAMH == x100=30%

%)
_ 38766 100=3333%

%PHTLT =
Hd: x%>y%

eng hin

S

:
%PMangoes = x= 33722 100=50%

22

%POranges == % x100 =33.33%

Hence x%>y%



33— 2z

% P = x = x100=50%

-

%PE T = }'=¥x100 ~3333%

HAd: x%>y%

Q-71

eng/eng

Q-71

The question given below is followed by some statements. Read the question carefully and statements and determine which of the given

statements is/are necessary/required to answer the question.

= frgruaaF arrgasaaRTIrd i v w9 @ o s Rgffa s S fRrgrgsami R I fTar/ I vasTSTITF g

AAITFH / AAITFE /B |

How many students from institue ‘A’ got the placement?

HEIT A" 3 e =l 1 wereHe e 22

L. Number of students studying in institutes A and B are in the ratio of 3: 4 respectively.
II. Number of students who got placement from institute B is 120% of the number of students who got placement from institute A.

II1. 80% of the students studying in institute B got placement.
L. ST A 3T B H 9 ATl ST 6l HeaT HAn: 3: 4 % 97T § g

I1. 19 B & wrEHe IT a7l A1 T S6aT 6T A 9 THHe IT Tl At b 56T T 120% g

L T B § & a1t 80% BT T TiHH < o)

01. and I both 02. Onlyl
[ S I 2T Faer i

03. OnlyII 04.  Any one of three
Fae 11 AT H T TS TF

05. Question cannot be answered even with the
information in all three statements.
AT AT T AT AT TR R A ofy
ToT T SAL A1 (AT ST FhaT Bl

The question given below is followed by some statements. Read the question carefully and statements and determine which of the given

statements is/are necessary/required to answer the question.

TR RATTCITF AT FFFIARCATE | TAFT AT 9 ST AiR@ R R feuauFaai A F fT a7/ F T HFTITCIAF U

AALAH / AATF & /& |

How many students from institue ‘A’ got the placement?
HEITT A 3 T gt T wrede e g2

I. Number of students studying in institutes A and B are in the ratio of 3: 4 respectively.
I1. Number of students who got placement from institute B is 120% of the number of students who got placement from institute A.

II1. 80% of the students studying in institute B got placement.
L. FEATAT A 31¥ B H T aTet 01 61 §&AT FHT: 3: 4 % A0 | 2

I1. FIT9 B § T0EHE TT 9Te] ST T HedT eI A 5 TTH e 9T 3Tl i3l 1 3T F7 120% 2

L. F=IT B § T a1t 80% ST 1 Tio < fHeT|

01. Tand Il both 02. OnlyI
[ 11 ZAt EEEk:]

03. OnlyII 04. Any one of three
Fa 11 TTH T L TE

05. Question cannot be answered even with the
information in all three statements.

NEIEREIR IR RIS EIRERIR
5T T IAL Al (=TT ST FhaT 2
Solution for Question 71 Ans Key: 5
eng/eng  Question cannot be answered even with the information in all three statements.
AT meT T <t At SRR o e oft o ot SR T R S wehar 2
eng hin  Question cannot be answered even with the information in all three statements.
AT T T <t At SRR o e oft o ot SR T R S wehar 2
Q-72 The question given below is followed by some statements. Read the question carefully and statements and determine which of the given
eng/eng statements is/are necessary/required to answer the question.

T3 AT TT I F IS FITRTCATE I I FT 877 92 s AgiRg = FFirgrrsaaid a FAar/F o739 F g

ATLTF/ FALTFE /R |

What is the average weight of boys in the class?

FeAT H ASHI T ST TS fohaaeT 82



1. Average weight of all the 60 students is 45 kg.

I1. Average weight of girls is 50 kg.

III. Total weight of all the boys together is 1250 kg.

L T 60 BT &7 3f|a a5 45 AR g

11 AT T 3 ast 50 et 21

IIL. T &1 F47 ASHI FT A q94 1250 AR g

01. Only II and I1I 02. I and either I or III
03. Any two of these 04. AIlL I and III
05. Cannot be determined
Q-72 The question given below is followed by some statements. Read the question carefully and statements and determine which of the given

eng hin  statements is/are necessary/required to answer the question.

T3 RATTTITF AT FFFAARCATE I T FT AT 92 ST ARG R FF e ruaaai g F ST/ F7397039 F fHg
AT/ TATAF B /5 |

What is the average weight of boys in the class?

FeAT H ASHI T ST a1 [ohaeT &2

1. Average weight of all the 60 students is 45 kg.

II. Average weight of girls is 50 kg.

III. Total weight of all the boys together is 1250 kg.

1. T 60 FTAT FT ST F9 45 e 71

1L =T 7 sfera e 50 R 21

IIL. T A7 T A2t &7 et aei 1250 Frermme 21

01. Only IT and 11T 02. Tand either II or III
03. Any two of these 04. AllL Il and I1I

05. Cannot be determined
Solution for Question 72 Ans Key: 4

Total weight of all students = 60 x 45 =2700 kg
Total weight of all the boys = 1250 kg

Total weight of girls = 2700 kg — 1250 kg = 1450 kg
Number of girls = 1450 + 50 = 29

Now, average weight of boys = 1250/31 =40
Hence, for the answer all L, II and III are required.

aft T AT FHA A9 = 60 x 45 = 2700 TRt

v TSI 1 FH{A I = 1250 ForaT

TS [RAT T HT S = 2700 TohATIH — 1250 foheAtom = 1450 fereram
TASTRAT sl HE&AT = 1450 + 50 =29

7S, AShT T SEd I = 1250/31 =40

FafeTT, IR & foag |t 1, 11 37 111 3TTaweh &

eng hin  Total weight of all students = 60 x 45 = 2700 kg
Total weight of all the boys = 1250 kg
Total weight of girls = 2700 kg — 1250 kg = 1450 kg
Number of girls = 1450 + 50 = 29
Now, average weight of boys = 1250/31 = 40
Hence, for the answer all I, II and III are required.

i} BT T He A5 = 60 x 45 = 2700 TRt

il TSI AT oA a5 = 1250 o

ATRAT AT HeT s = 2700 TohearmmT — 1250 foretmm = 1450 foretomy
ASTRAT S TEAT = 1450 + 50 = 29

3TeT, AT ohT ST s = 1250/31 =40 ®

AT, ST o forw @t 1, 11 3T 111 3rawa &)

Q-73 The question given below is followed by some statements. Read the question carefully and statements and determine which of the given
eng/eng Statements is/are necessary/required to answer the question.
= frgruaaF arrgasaaRTIrd i v wr a9 @ o s Rgfia R S fRrgagaami R I fTar/ I v sFTSTITF fHg
AALTF / FATTFE /R |



Q-73

eng hin

Find the two digit number?
7 Ieh! T TEAT A HIfere?

1. The difference between the number and the number formed by interchanging the digit is 27.

I1. The difference between two digits is 3.

III. The digit at unit’s place is less than that at ten’s place by 3.

L. 37 FT TAFT TATS TS HEAT ¥ qA HESAT & 1= &7 37d< 27 Bl
IL. =T 3T % <= 7 a< 3 gl

II1. THTE F TATF I 3T TgTe & I T 3T &l a1 7 3 FH 2

01. TandIII 02. T and either IT or I1I
I 3f< 101 I < =T 7 11 3T 110
03. TlandIII 04. All of these
I 3/ I PRiC)
05. None of these
TAH F ATE TRl

The question given below is followed by some statements. Read the question carefully and statements and determine which of the given

statements is/are necessary/required to answer the question.

T3 AT TT I F IS FITRCATE I I FT 8777 8 92 ST AgiRa = FFirgrrsaaid a FAar/a va 7139739 F g

AILTF/ FALTFE /R |

Find the two digit number?
T SR ST EEAT AT rforT?

I. The difference between the number and the number formed by interchanging the digit is 27.

I1. The difference between two digits is 3.

IIL. The digit at unit’s place is less than that at ten’s place by 3.

L. 3% T FEAHT IATS TS FEAT ¥ T HEAT F A1 H7T < 27 g
I1. 3T 3T % &= 7 32 3 2|

II1. THTE & T T 3 TgT5 % I 9T 3% 6l a1 | 3 F7 gl

01. JandIII 02. [ and either II or 111
[ 3T 111 [ 37 =T v 11T 111
03. IIand I 04. All of these
I1 3 11 PR:E)
05. None of these
TR F IS qal

Solution for Question 73

cug,

Q-74

eng/eng

Question cannot be answered even with the information in all three statements.

I ST | S TR STHeRET 3 e o T ot S e fedt ST Hehdr 2l

Question cannot be answered even with the information in all three statements.

AT ST H 2 TRl SR 3 BT ot I SR IO ARl ST ST EehdT 2

Ans Key: 5

The question given below is followed by some statements. Read the question carefully and statements and determine which of the given

statements is/are necessary/required to answer the question.

o R T IsF I FFFITRTTCE | TIFT A9 @ 0 s Mg & Ffrgagsaai R ¥ fSTa7/F I FTITCIAF AT

AMAITH/ AATFE /2 |

What is the cost of flooring the rectangular hall?
ATAATRTT ZieT T BeT T AT T 2

I. Length and the breadth of the hall are in the ratio 3: 2.

II. Length of the hall is 48 m and cost of flooring is Rs. 850 per sq. m.

II1. Perimeter of the hall is 160 m and cost of flooring is Rs. 850 per sq m.
L i & FaTS ST /=TS 3: 2 F AT # 2

1L EIe T AaTE 48 Hiew g 3T el &1 ARTd . 850 I AT i 2 |

IIL giet i aiRfer 160 Hex g 3T el i rrg =, 850 wf st dr 2

01. TandII 02. TandIII
IE QI IE QI

03. Only III 04. T and either II or 11T
Faet I [ < 37 v 11 3T 11

05.  Any two of these



Q-74

eng hin

TAH A ATS AT

The question given below is followed by some statements. Read the question carefully and statements and determine which of the given

statements is/are necessary/required to answer the question.

T RATTTITF AT FFFAARCATE I A FT AT A 9 AT ARG R FF e rrHFaaid F A7/ F T HFTITCINF fHQ

AALTH / AAITFE /8 |

What is the cost of flooring the rectangular hall?
ATTATHTE it T el ¥ AT F4T 22

I. Length and the breadth of the hall are in the ratio 3: 2.

I1. Length of the hall is 48 m and cost of flooring is Rs. 850 per sq. m.

II1. Perimeter of the hall is 160 m and cost of flooring is Rs. 850 per sq m.
L i &7 &S 3T /=TS 3: 2 % S(q0a 7 2

IL. i<t 1 T 48 Hiex & T wmel i AT . 850 i st #r 2 |

IIL ZT 3T aifer 160 Hiex g 37 wel &t amrg %, 850 I aT {8 1

01. JTandII 02. TandIII
[T IEEI
03. Only III 04. 1 and either IT or 11
Fae 11 L 3f< 97 a7 11 3T 111
05.  Any two of these
TAH T FTS AT

Solution for Question 74

eng hin

From I and I,

L=3x, B=2x

3x=48,x=16

Hence cost of flooring the rectangular hall = Rs. 48 x 32 x 850 = Rs. 1305600
From I and III,

3x +2x =80

x=16

Hence cost of flooring the rectangular hall = Rs. 48 x 32 x 850 = Rs. 1305600
From II and III,

48 +b =280

b=32

Hence cost of flooring the rectangular hall = Rs. 48 x 32 x 850 = Rs. 1305600
Hence, answer can be find using any two of the given statements.

[IE,
L=3x,B=2x
3x=48,x=16

TATAT SATIATRR BT o B3 bl AT = &. 48 x 32 x 850 =&, 1305600
[ I g,

3x +2x = 80

x=16

AT STTIATHR &1 & B3 3l NI = . 48 x 32 x 850 = &. 1305600
11 SR I,

48 +B =80

B=32

3OTTT STRIATRR BTt o B3 ol AT = &, 48 x 32 x 850 =%, 1305600
gafere, 3T fau e et § @ forel) 31 ot SURINT ek TTIT ST EehdT 2l

From I and I,

L=3x,B=2x

3x=48,x=16

Hence cost of flooring the rectangular hall = Rs. 48 x 32 x 8§50 =Rs. 1305600
From I and III,

3x+2x =280

x=16

Hence cost of flooring the rectangular hall = Rs. 48 x 32 x 850 =Rs. 1305600
From II and III,

48 +b =280

b=32

Hence cost of flooring the rectangular hall = Rs. 48 x 32 x 850 =Rs. 1305600
Hence, answer can be find using any two of the given statements.

[T F,

Ans Key: 5



L=3x,B=2x

3x=48,x=16

3OTTT TR BT o B3 ahl AT = &, 48 x 32 x 850 =%, 1305600
IR,

3x +2x =80

x=16

3OTTT STRIATRR BT o B3 ol AT = &, 48 x 32 x 850 =%, 1305600
11 3R I 9,

48 +B =80

B=32

AT ATAATRR BT & 31 shl ANTT = &, 48 x 32 x 850 =&, 1305600
gafere, 3T few e st § @ forel) 21 ot SURNT ek TTIT ST EehdT 2l

Q-75

eng/eng

Q-75

The question given below is followed by some statements. Read the question carefully and statements and determine which of the given
statements is/are necessary/required to answer the question.

= T s F arrgEsITRTICE I T w9 @ 0 e Mg & fFfRgagsaaiF ¥ fSaar/ F I sTITIA F fHg
AALAH / AAAT & /5 |

Sonu’s income is how much more than Monu’s?

g T AT F P A 27

I. Sonu’s income is 30% less than her husband’s whose provident fund deduction at the rate of 5% is Rs. 975 per month.
II. Monu spends 30% of her income on house rent, 15% of which is eletricity bill.

III. Sonu’s expenditure on house rent is 4500 more than that of Monu’s.

L. T FT 507 39 9T ¥ 37 7 30% FH 8, bt 5% i av 7 afaey [fgr w2t 975 = v amg &

IL. T 3T 30T T 30% =2 F o600 92 @+ F:7aT &, oad & 15% st & 2

11 =7 3 370 9% | 7 @9 A A1 a1 H§ 4500 %. AT 21

01. Only Il and III are sufficient. 02. only I and III are sufficient.
Fae I =T [ 71 2| EEERE RS I ERIE R
03. Any two statements are sufficient 04. Al together are necessary.
FTT HT &7 FIT T 2 Teft U AT A OTF 2
05.  All even together are not sufficient.
Tl U AT T AR 2
The question given below is followed by some statements. Read the question carefully and statements and determine which of the given
statements is/are necessary/required to answer the question.
2 frrruaaF arsgE AT RTTTE v w7 6979 @ 0 s Rgffa R S fRragasami R I fTar/ I T FTITRAF fHg
AAYTFH / AAITFE /B |

Sonu’s income is how much more than Monu’s?

T T 3T /I | ha=T fere® g2

I. Sonu’s income is 30% less than her husband’s whose provident fund deduction at the rate of 5% is Rs. 975 per month.
II. Monu spends 30% of her income on house rent, 15% of which is eletricity bill.
111. Sonu’s expenditure on house rent is 4500 more than that of Monu’s.

L. 1 T 37T I O a0 30T 7 30% FH &, et 5% & 77 & wiasy [fg w2 975 7. afa A 2 |
I1. 5T ST 3T T 30% =¥ % 60 o2 &= et 8, s & 15% fasteft o 81
IIL =% 3 T9RTT 9% |1 FT &= |1 67 T | 4500 %. T8 21

01. Only Il and III are sufficient. 02. only I and I1I are sufficient.
Fae 11 3 I 7779 & e [ ¥ [ 9379 2|

03. Any two statements are sufficient 04.  All together are necessary.

Fre o a1 Fud Tata § Ty T AT rATF B

05. All even together are not sufficient.

T} U a1 a7ty T8l gl

Solution for Question 75 Ans Key: 4

eng/eng

From I, Sonu’s income can be obtained but from II and III, Monu’s income cannot be find.

1 ¥, A T AT 576 3T ST &ehall &, TR 11 ST 111 &, H T ST 72T 31 shi ST 8t e

eng hin

From I, Sonu’s income can be obtained but from II and III, Monu’s income cannot be find.

1, I T AT 916 hT ST &ehall &, Afeh 11 7R 111 H, HI T A1 7T 1 shi ST a2l

Q-76

Faan . 56009 5,



eng/eng 1.225

01. 5550
03. 5680
05. None of these
TAH | A(E ARl
Q-76 m ~162009

eng hin

01. 5550

03. 5680

05. None of these
B EKEIERE

Solution for Question 76

02.
04.

02.
04.

6550
5500

6550
5500

Ans Key: 3

eng/eng 38 + 5600 =5638 = 5680

eng hin 38 + 5600 = 5638 = 5680

Q-77 37675+ 4% of 678 + (0.0169)2 = 2

eng/eng

01. 404
03. 222

05. None of these
TTH T HTS Tl

Q-77  376.75 + 4% of 678 + (0.0169)12 =2

eng hin

01. 404
03. 222

05. None of these

Solution for Question 77

eng/eng 376.25+27.12 +0.13 =2
?=404

enghin 37625 +27.12+0.13=2?
?7=404

Q-78 * T(729)'*+(0.0016)"" |

eng/eng =

[l

01. 450
03. 460
05. None of these
TTH H AT T
Q-78 [(729) +(0.0016)"" |
eng hin g =

01. 450

03. 460

0S. None of these
TAH A FTE AL

Solution for Question 78

=of 134.657

of 134.6

02.
04.

02.
04.

02.
04.

02.
04.

224
328

224
328

455
465

455
465

Ans Key: 1

Ans Key: 2

engleng  {(27+0.04) x 135} +8 =2
?2=455

eng hin {27 +0.04) x 135} +8="?
?=455




Q-79 7072.567 + (16% of 883.996) = 30 x 1i of (? +39.004)
eng/eng 12

01. 60 02. 65
03. 55 04. 50
05. None of these
TAH T ATE Aol
Q79 7072567 = (16% of 883.996) = 30 x 1.1 of (2 = 39.004)
eng hin 12

01. 60 02. 65
03. 55 04. 50
05. None of these

TAH HFIS Tl

Solution for Question 79 Ans Key: 1

eng/eng 7072 + 141 =30 % Ex E

1239
?2=(50 x 12)+ 10
2= 60

7072+ 141 =30 x 13,

39

(=]

?2=(50 x 12)+ 10
2=60

Q-80  (562.5 x6.02)0 + (135.10 = 9.004)10 = (37.5 x 6.04)7 = (3.75 x 3.996)" ~©

01. 2 02. 4
03. 6 04. 5
05. None of these

TH A IS Aol

Q-80 (5625 % 6.02)° + (135.10 + 9.004)10 = (37.5 x 6.04)7 = (3.75 x 3.996) ~©

01. 2 02. 4
03. 6 04. 5
05. None of these
TAH T[S Tl
Solution for Question 80 Ans Key: 5

(562.5 x 6.02)°+ (135.10 = 9.004)10 = (37.5 x 6.04)” = (3.75 x 3.996)” ~©
(562.5 x 6)°= (135 +9)!V+~ (37.5 x 6)/=(3.75 x 4)" ©

33750+ 1510+ 2257 =157 -6

1518+ 1510+ 1514=157-6

7-6=18-10- 14

7-6=18-24

27=6-6=0

eng hin (5625 x 6.02)°+ (135.10 + 9.004)10 + (37.5 x 6.04)7 = (3.75 x 3.996)” ~ ¢
(562.5 x 6)°+ (135 + 9)10+ (37.5 x 6)7 = (3.75 x 4)? ¢
33750+ 1510 + 2257 = 1576
1518+ 1510+ 1514=157-6
7-6=18-10-14
7-6=18-24
27=6-6=0

Q-81 Marawah Island sometimes seen in the news is located in?

eng/eng  FHI-FHT AT § FH=T /AT 0 Fal oA 22

01. Bay of Bengal 02. Arabian Sea
ERIEKAREI EECECILEY

03. Persian Gulf 04. South China Sea



1 F Grst Fferor == g

05. South China Sea
JHTHT ¥ TS

Q-81 Marawah Island sometimes seen in the news is located in?
eng hin  FHI-FT U= # A= HAT 5T Fal BT 22
01. Bay of Bengal 02. Arabian Sea
FATA 6T @IS EECEILEY
03. Persian Gulf 04. South China Sea
RITH HT GTST Zfarer FT AR
05. South China Sea
AT T @TET
Solution for Question 81 Ans Key: 3
eng/eng The World’s oldest known natural pearl discovered at a Neolithic site on Marawah Island, off the coast of Abu Dhabi. Marawah is a low-lying island off
the coast of the Western Region of the Emirate of Abu Dhabi, the United Arab Emirates. The island is 15 km north of the Khor al-Bazm along the Abu
Dhabi coastline in the southern Persian Gulf.
T3 3 Ha® T ST AT T 7 37 4Tell % qe 8 g7 Fud a1eare g9 U UF TEOTTT S 97 G TATIHETE a9 HE A7 THEd &
S TS o STHILTT o TISIHT &1 6 de & g7 fooq Uah -39 207 (low-lying island) g1 7E Z1T ZFET0T wIH T GIET § o1 o1&l d€ & a1 @I
Fa-a0 ¥ 15 Frft s a2
eng hin  The World’s oldest known natural pearl discovered at a Neolithic site on Marawah Island, off the coast of Abu Dhabi. Marawah is a low-lying island off
the coast of the Western Region of the Emirate of Abu Dhabi, the United Arab Emirates. The island is 15 km north of the Khor al-Bazm along the Abu
Dhabi coastline in the southern Persian Gulf.
o o Ta QT ST TTETTE JIT A7 o1 eTal & q2 & g RO 71earg g9 U UF TaqrIror €7 9% @IS TATIHETE 50T H<h 9 ST &
ST ATt o STHITT F TFHHT A F A H ?Tﬁ?ﬁrmr—ﬂ RAT 217 (low-lying island) 21 H?ﬁw?ﬂﬂﬁwﬁ@ﬁrﬂrﬁqufmaw
HA-a99 & 15 Fft 392 ¢ R 2
Q-82 Serengeti National Park, recently in news, is located in-
T S H FHEE H AT B 9o 9 el R 2-
01. Botswana 02. Tanzania
03. South Africa 04. Kenya
05. Traq
Q-82 Serengeti National Park, recently in news, is located in-
T &t H AT # A “ERIET 9 urh  FEl R 8-
01. Botswana 02. Tanzania
03. South Africa 04. Kenya
05. TIraq
AR
Solution for Question 82 Ans Key: 2
eng/eng The Serengeti National Park is a Tanzanian national park in the Serengeti ecosystem in the Mara and Simiyu regions. It is famous and well known for its
annual migration of over 1.5 million white-bearded (or brindled) wildebeest and 250,000 zebra and for its numerous Nile crocodile and honey badger.
FYRTET TP AT AT ¥ TS &1 & SAret arifeartaant oo § o qotaar 1 g 3o gl 7% 1.5 Wi & st arze-faus
Frzeeaee (AT fHewe) =¥ 250,000 F=wT F ATfF T 3T Aot TH=g U gAT S97¢  for7 Ifeg g
eng hin  The Serengeti National Park is a Tanzanian national park in the Serengeti ecosystem in the Mara and Simiyu regions. It is famous and well known for its
annual migration of over 1.5 million white-bearded (or brindled) wildebeest and 250,000 zebra and for its numerous Nile crocodile and honey badger.
FYRTST AT AT AT ¥ THHTS &A1 & SAret arifeataant oo § oo Tt 1 g 3o gl 7% 1.5 Wicms & st arze-faus
Frzeeae (AT fHewe) =¥ 250,000 T F ATIHF TATH T Ao TH=Z U gAT o< & (o7 T3 gl
Q-83 New Arrangement to Borrow (NAB), a funding mechanism, recently seen in news is related to which bank-
eng/eng TN '@' I gl § T q ST g T (New Arrangement to Borrow: NAB)* wITHh fafra o= et e 5 9 gefea §-

01. World Bank 02.  Asian Development Bank
IEEKCER uforaTs fawm &
03. Asian Infrastructure Investment Bank 04. International Monetary Fund

TTAIT ToRTEFAIY TraecHe ah HALTST qa&T HI



05. New Development Bank
 TaATHE IF
Q-83 New Arrangement to Borrow (NAB), a funding mechanism, recently seen in news is related to which bank-

enghin 2T &l # FHTAT H AT 7 SHE € AT (New Arrangement to Borrow: NAB)® AT fa<itae a= fReferfeard e & & #afaa -

01. World Bank 02.  Asian Development Bank
IEEKCER uforaTs faewm &%
03. Asian Infrastructure Investment Bank 04. International Monetary Fund
T ToRTETFIY TraeaHe a HALTET q&T HI
05. New Development Bank
= TAATHE qF
Solution for Question 83 Ans Key: 4

eng/eng The New Arrangement to Borrow is the fund mobilization arrangement of the IMF to mobilise additional funds through borrowing from member countries.
Under NAB, member countries and institutions can stand ready to lend to the Fund.

w7 SI¥STHE T AT (New Arrangement to Borrow: NAB)® a8 H&T HIT T T ST ol Ha€AT & ST Ta€T 3907 & I AFHT AT o
S[ETdT 21 NAB & Tgd, 98€T 397 37¥ HTH % &l SYTT 3 & [T 4T T&d &l

eng hin  The New Arrangement to Borrow is the fund mobilization arrangement of the IMF to mobilise additional funds through borrowing from member countries.
Under NAB, member countries and institutions can stand ready to lend to the Fund.

= SI¥STHe T AT (New Arrangement to Borrow: NAB)® a8 H&T FHIT T T ST T HaeAT & ST TaET 3907 & I AFHT AT &
STt 1 NAB ¥ T8, Ha€g 397 3T HEATH % T T 34 & foI7 II7 ¥8d &l

Q-84 'Arakunomics economic model' recently in the news ensures profit in which of the following?
T &l § G § LT S (19 shiAie ated [Aafortad § o & § a9 giafaa Farg?

01. Agriculture 02. Stock Broking
T Y.
03.  Automobile trade 04. Cryptocurrencies
0S. Mining
gaTe
Q-84 'Arakunomics economic model' recently in the news ensures profit in which of the following?

T &l § G § LT S [T s e Ared [Aafotad § & e § o giataa Farg?

01. Agriculture 02. Stock Broking
03. Automobile trade 04. Cryptocurrencies
0S. Mining
FaTe
Solution for Question 84 Ans Key: 1

It is a new integrated economic model that ensures profits for farmers, quality for consumers through regenerative agriculture.
g U TAT UARTHA SATAF A1 g ST THATSIT 1T F HILAH F [HATHT % To7T7 QOraril, STHIHTSAT & [0 AT AT FHear gl

eng hin Tt is a new integrated economic model that ensures profits for farmers, quality for consumers through regenerative agriculture.

TZ TF TAT TR AT HISA g ST [AATSIT H1T 6 ATETH F THAT1 6 o7 qUra, STAHIA 6 (o7 A7 AT Feal gl

Q-85  Who became the new president of SIAM?
eng/eng  SIAM % 7T LAl T A2

01. Kenichi Ayukawa 02. Robert Zoi
FfAfr srpTar TFE A
03. Manju Acharya 04. Rajiv Lal
SEIEIR] TS AT
A
0S.  Sunil Mehta

AT FEaT

Q-85  Who became the new president of SIAM?
enghin  SIAM % 7T S&Tel T A2

01. Kenichi Ayukawa 02. Robert Zoi
FiAfr srpTar TFE A
03. Manju Acharya 04. Rajiv Lal



05. Sunil Mehta

Solution for Question 85 Ans Key: 1
eng/eng The Executive Committee of Society of Indian Automobile Manufacturers (SITAM), on Friday elected Kenichi Ayukawa as its new President. Ayukawa is
the Managing Director and Chief Executive Officer, Maruti Suzuki India Ltd since 2013 and was the Vice President of SIAM.He succeeds Rajan
Wadhera, Senior Advisor, Mahindra & Mahindra who served the apex body of the Indian automotive industry for the last two years.
AHETSE A SRAT AeEaTse A qhaad (SIAM) FT FTHHTLT AT 7 FHATT FT =T SATFRTAT T STTAT 97 TeTeT FAT| AIHET 2013 7
sarer THaersh SiY qed FTHHEI SATHRET, ATE(T Gopeh! STeAT [Hee  Teqe & 3T SIAM F SUTETe g1 T TS il g Al
eng hin  The Executive Committee of Society of Indian Automobile Manufacturers (SIAM), on Friday elected Kenichi Ayukawa as its new President. Ayukawa is
the Managing Director and Chief Executive Officer, Maruti Suzuki India Ltd since 2013 and was the Vice President of SIAM.He succeeds Rajan
Wadhera, Senior Advisor, Mahindra & Mahindra who served the apex body of the Indian automotive industry for the last two years.
ATl A 3T SAeHaTsd AeqhFa s (SIAM) FT FTHFT AT T LFHATE T BT ATLHTET HT AT TIT AT TAT| FTIFHET 2013 |
ware fAerh Sii¥ qee FraTey STferhTy, | gt S forfies 3 sreaer € ST SIAM ¥ 3uTemer 8| & oI T SH1g o0
Q-86  Currently, who is the Chairman of SEBI?
eng/eng AT ﬁ', et = 7L el i g?
01. Ajay Tyagi 02. Ashok Chawla
ST AT LT FATaAT
03. SK Sharma 04. RK Kanoria
05. UK Sinha
T T
Q-86 Currently, who is the Chairman of SEBI?
FAAT |, AT o T27eT FI 52
01. Ajay Tyagi 02. Ashok Chawla
03. SK Sharma 04. RK Kanoria
05. UK Sinha
T faeRr
Solution for Question 86 Ans Key: 1
The Securities and Exchange Board of India (SEBI) is the regulator of the securities and commodity market in India owned by the Government of India. It
was established on 12 April 1988 and given Statutory Powers on 30 January 1992 through the SEBI Act, 1992.
AT TS i e o (SEBI) AT # Tiasqfa=i si¥ FHIT=E arime &1 fams § ST Wd J9ate & w1 § g1 T8 12 T4 1988 T
T T T 97 i 30 ST 1992 FT F&lT srferfaaw, 1992 % wreaw & Fariae orf<eat 27 T ol
The Securities and Exchange Board of India (SEBI) is the regulator of the securities and commodity market in India owned by the Government of India. It
was established on 12 April 1988 and given Statutory Powers on 30 January 1992 through the SEBI Act, 1992.
AT Tiasifar o e a7 (SEBI) AT # Tiasfaai si¥ FHITSE aTse &7 A8 § ST WId ST & w1 § gl T8 12 39 1988 T
ST T AT &7 3l1% 30 STaT 1992 it HlT Atafas, 1992 F ATeaH & Ferti=a orfenai &1 T2 il
Q-87 What is the capital of Bhutan?
eng/eng T T TSTATAT FT 22
01. Kathmandu 02. Brussels
FIBHAE FHA
03.  Thimphu 04. Addis Ababa
ey I Sarar
05. Vienna
[EEE
Q-87  What s the capital of Bhutan?
eng hin T 1 TSTLTAT FT 22
01. Kathmandu 02. Brussels
FIEATY T
03. Thimphu 04. Addis Ababa
g ELCECICH
05. Vienna

IEREII



Solution for Question 87 Ans Key: 3

eng/eng  Bhutan, officially known as the Kingdom of Bhutan is a landlocked country in South Asia. Located in the Eastern Himalayas, it is bordered by Tibet in the
north, the Chumbi Valley of Tibet and the Indian states of Sikkim and West Bengal in the west, and the Indian states of Assam, West Bengal and Arunachal
Pradesh in the south and east. Bhutan is geopolitically in South Asia and is the region's second-least-populous nation after the Maldives. Thimphu is its
capital and the largest city, while Phuntsholing is its financial center.
e, 5 sfereTiia 91 9% ST & ST F =T | ST ST &, FTer07 UL § U -9 a7 197 81 & (e § forq, 78 392 § fasaa,
sara &t gt =Tt oire afem ® e sire afSrm st 3 e wroat i ferT sire qF & s, a2 serrer siT srevrrs=iet Jaer 3 S
=T & oRT g1 | T I AT H $- TSI E § 8 S WAL % 91 36 &7 T THT T4 HH AGTar aTAr 297 5| FHFg T8t Tsrem
ST T AT MET &, TATh oo TaHhT fa=iia #3 g

eng hin  Bhutan, officially known as the Kingdom of Bhutan is a landlocked country in South Asia. Located in the Eastern Himalayas, it is bordered by Tibet in the
north, the Chumbi Valley of Tibet and the Indian states of Sikkim and West Bengal in the west, and the Indian states of Assam, West Bengal and Arunachal
Pradesh in the south and east. Bhutan is geopolitically in South Asia and is the region's second-least-populous nation after the Maldives. Thimphu is its
capital and the largest city, while Phuntsholing is its financial center.

e, TS et T2 9% SETE & ST & T H ST ST &, (8707 TIEET § U5 - A6 q7T 297 81 @i (garad 8§ forq, a8 397 ¥ fasam,
ﬁmﬁﬁmﬁﬁtw@ﬂﬁ%ﬁtw&mw%wwaﬁtﬁwﬁtﬁﬁw TS ST ST TR TR9T F ATCA T
ot & T 81 | e aferor uforar # sp-wrereiifas w9 7 8 ST ATt % 9T 36 o BT gHT T B SAaTar arr 297 g1 e TEeht Teter
T T F=T AR &, T FEATT THHT AT 3 g

Q-88 Many times the word “CAGR” comes in news. What does this word stand for?
eng/eng F% AT “CAGR” 9Ts8 FHTHTLN § AT 8,28 152 T 0T &F AT &2
01. Current avoided growth rate 02. C ()mpound average growth rate
FiE TATISSE AT ¥ FOTSE TALS UM 1
03. Compound annual growth rate 04. Compound accelerated growth rate
FATIE TFAA UM I FITSE TFIALLE AT T
05. Compound average general rate
FATIE TS STALA IE
Q-88 Many times the word “CAGR” comes in news. What does this word stand for?
F% AT “CAGR” 9152 THTAT H ST 2,39 915 HT 07 &7 77 272
01. Current avoided growth rate 02. Compound average growth rate
ERCACIREEEID X FATSE TALS AT I
03. Compound annual growth rate 04. Compound accelerated growth rate
0S. Compound average general rate
FATIE TALS FTAA 1€
Solution for Question 88 Ans Key: 3
s/eng  Compound annual growth rate (CAGR) is the rate of return that would be required for an investment to grow from its beginning balance to its ending
balance, assuming the profits were reinvested at the end of each year of the investment's lifespan.
T (g AT [ a7 (CAGR) a8 TTAwer g ST Foheft ferer 3 forw Seeh s fores 9 & 38eh FHTH i aTel Qe ae 9@ & (o7 STa9aa g,
g WA g 3 f7aer & Shaenrer & Toas a9 & ofd § 1 &7 6 & 9 36 = =m)
Compound annual growth rate (CAGR) is the rate of return that would be required for an investment to grow from its beginning balance to its ending
balance, assuming the profits were reinvested at the end of each year of the investment's lifespan.
Tl ATUH (aH TT (CAGR) T WA & ST e (a9 o T 38 s fe AT & S8 FHTE g a7l §qad q% 9@ & (o0 sraeqa g,
TZ AT gU 1 Taer o STaqahter & T a9 % oid § ATH %1 e & ST 63T 1= =m)
Q-89  Interest Rate Risk is which type of risk:
eng/eng TS T STITEH T T T SIITREIW &
01. Static risk 02. Liability Pure Risk
o STfaw TIAT (5 STEH
03. Dynamic risk 04. Diversifiable risk
el srfes fafee s
05. Market Risk
AT SATEH
Q-89  Interest Rate Risk is which type of risk:
eng hin =TS T STITEH Fo T2 T ST 2
01. Static risk 02. Liability Pure Risk
e STfaw TIAT [F STEH
03. Dynamic risk 04. Diversifiable risk

fefier strfers Aty stfem



05. Market Risk

AT FATEH
Solution for Question 89 Ans Key: 5
eng/eng Interest rate risk is also known as Market risk. Interest rate risk is the risk of increased volatility due to a change of interest rates.
SATST T STTEH &l AT STEH & &9 § AT STET ST 81 ST 20 § T&ATd BT 379 &2 AT § SFRATAT q@e 1 A 2l
eng hin  Interest rate risk is also known as Market risk. Interest rate risk is the risk of increased volatility due to a change of interest rates.
SATST T ST T IS ST o6 &7 F AT ST 14T g1 5379 330 § TaeTa oF FTE0 5379 3¢ TG H § ATEITAT d@e T 6 gl
Q-90 Bharatiya Reserve Bank Note Mudran Private Limited (BRBNMPL) was established by Reserve Bank of India (RBI) as its wholly owned subsidiary on
eng/eng 3rd February 1995. BRBNMPL manages 2 Presses one at Mysore and the other in .
qreet e 3 e qiw (39m) foremes (Fsmeaiuauadiit) it emoet $d § 9% Tie FT IR @ F 3297 F AT (e d% gaTT o7
T SATTHETENT I TG FFOAT 6 €9 § 3 Hapdl, 1995 & g2 o#19ia Rera 5 die 7w (3) forawes 2 99 g9rerdt 81 UF 99 §q2 #
o g sfre gady # a2
01. Bengaluru 02. Madurai
03.  Salboni 04. Kochi
05. Durgapur
SIS
Q-90 Bharatiya Reserve Bank Note Mudran Private Limited (BRBNMPL) was established by Reserve Bank of India (RBI) as its wholly owned subsidiary on
3rd February 1995. BRBNMPL manages 2 Presses one at Mysore and the other in .
qdT e 9% Jre qfx (97) forawes (Femauauadiie) £t &\ aRd § 9F Jle H7 ScA1eT a8 & 3297 § I e S gaT o
Tt T ATt IHdT qgTaE FEOAT F w9 F 3 T, 1995 F g2 Aty ferd g% T qfy (o) ewes 2 3w garerdt g1 uE S e §
fPra g srw 3oy T fera gl
01. Bengaluru 02. Madurai
B HESS
03. Salboni 04. Kochi
GIECIT) FIET
05. Durgapur
T
Solution for Question 90 Ans Key: 3
The BRBNMPL manages 2 Presses one at Mysore in Karnataka and the other at Salboni in West Bengal. The present capacity for both the presses is 16
billion note pieces per year on a 2-shift basis.
BRBNMPL FATee § AT § ST T2 {1 % ATAa =T § T I AT Te F2ar g1 2-Fae F e q¥ 41 99 i G617+ &97ar 16 f@feras Jre
gfarad 2
The BRBNMPL manages 2 Presses one at Mysore in Karnataka and the other at Salboni in West Bengal. The present capacity for both the presses is 16
billion note pieces per year on a 2-shift basis.
BRBNMPL &A1 § AT § ¥ T R F ATAa =l § U I A7 Te Far g1 2-FrFe & e 9% 41 96 i G607+ q97ar 16 f@feras Jre
i ad 2
Q-91 ‘Which Small finance bank has rolled out a Unified Payments Intertace(UPI) QR based loan instalment payment facility along with NPCI for its customers?
engleng T® T Fa 3% 7 o107 ATEA( F o0 WA UATIHTATE F AT IAHTES THH S2%4 (UPI) FLAT AT F07 Fhed qOam g o i 82
01. Suryoday 02. Jana
BRIER STET
03. Ujjivan 04. Equitas
Eicel HECL)
05. Utkarsh
Eisi]
Q-91 ‘Which Small finance bank has rolled out a Unified Payments Interface(UPI) QR based loan instalment payment facility along with NPCI for its customers?
enghin T8 &9 fa0 3% 7 o1 qreat % forw Wit UaETens  aref IAwres THaT 2% (UPI) FLAT AT F07 e quar g o i 82

01. Suryoday 02. Jana
ERIER] ST
03. Ujjivan 04. Equitas

IshaT HECIk]
05. Utkarsh
I

Solution for Question 91 Ans Key: 2




eng/eng

Jana Small Finance Bank, along with the National Payment Corporation of India, has launched a UPI QR-based loan instalment payment facility for its
customers. The move comes at a time when banks are advising their customers to carry out banking services from the safe confines of their home.

S 7 [ S, WA TS AT W97 6 8T, 7 9 ATEehi & 110 UPL QR- STETHRA 0T e 31T e 8% 1 2|

eng hin  Jana Small Finance Bank, along with the National Payment Corporation of India, has launched a UPI QR-based loan instalment payment facility for its
customers. The move comes at a time when banks are advising their customers to carry out banking services from the safe confines of their home.
ST o o S, AT TP AT (AR % AT, 7 S UTEeh & forT UPL QR- ST o7 fohed sqaraTy gferem 0& ¥ 8
Q-92 In which state has the Prime Minister dedicated three major petroleum sector projects to the nation?
engleng  TETA WAL 7 Tt T § Ugiferad et 1 i S TRASATE T FT qATT AT 52
01. Bihar 02. Gujarat
03. Tamil Nadu 04. Maharashtra
T HETY
05. Jharkhand
HAEs
Q-92 In which state has the Prime Minister dedicated three major petroleum sector projects to the nation?
eng hin & T 7 oy Trsar § Ao e ot i g RSt Ty i Fwita 82
01. Bihar 02. Gujarat
03. Tamil Nadu 04. Maharashtra
0S. Jharkhand
Solution for Question 92 Ans Key: 1
Prime Minister Narendra Modi dedicated to the Nation three key projects related to the Petroleum sector in Bihar through video conferencing. The
projects include, the Durgapur-Banka section of the Paradip-Haldia-Durgapur Pipeline Augmentation Project and two LPG Bottling Plants in East
Champaran and Banka. The Bottling Plants will empower the Atmanirbhar Bihar' by meeting the rising demand for LPG in the state.
TLTAHAT A% TIET 7 AT FHIhenT & JTeqq 7 &g # USeds &= § Gafed div S IS8l 1 T w1 G99 AT 57 9= §
TRTEIT-E @ dT-FITE ITEaaTe foreqTe TRITSET & G- @€ 3T Qa1 Jq10T H &T TAT TSI Sl ionT F237 T 8| aiefenT wie 1T §
TS ¥ TRt FRT T T Feh ATHTAAI (g T qerh Ao
Prime Minister Narendra Modi dedicated to the Nation three key projects related to the Petroleum sector in Bihar through video conferencing. The
projects include, the Durgapur-Banka section of the Paradip-Haldia-Durgapur Pipeline Augmentation Project and two LPG Bottling Plants in East
Champaran and Banka. The Bottling Plants will empower the Atmanirbhar Bihar' by meeting the rising demand for LPG in the state.
TETAHAT T TIET 7 S1TSAT FHIThENT 6 HTead F g # 2riera & & Gaferd o g TiarsTrst &1 g &7 aafda ) g0 aiEseT &
TS -2 T-SY T TRIATE [aEdTE GRATSIAT F SaL-a16T @< ST Qi F970T § &7 UAU TS S e[ S4= AT S laia e T g §
SR SRS
TAHTSI T TEAT FRT T T Fleh ATCHTAS Y TSgTT Tl 9 S0
Q-93 Who has recently written the book "The Commonwealth of cricket"?
A ot | "o T TgHE A" TEH e ot 82
01. Sachin Tendulkar 02. Kapil Dev
= dgaHT T
03. Sanjeev Nair 04. Ramachandra Guha
EEIEKIRES THEE T
05. Kishore Verma
[ERIRCE I
Q-93  Who has recently written the book "The Commonwealth of cricket"?
enghin 2T &f § "foe T Trgvser” T&as e fordt 22
01. Sachin Tendulkar 02. Kapil Dev
= dgade EIEEECH
03. Sanjeev Nair 04. Ramachandra Guha
EEIEKIRES THEE TRl
05. Kishore Verma
[ERIRCE I
Solution for Question 93 Ans Key: 4

eng/eng  Historian Ramachandra Guha will come out with a book on cricket in November, which will trace the entire arc of the game in India, across all levels at

which it is played and also present vivid portraits of local heroes, provincial icons, and international stars. The Commonwealth of Cricket: A Lifelong Love
Affair with the Most Subtle and Sophisticated Game Known to Humankind will be co-published by HarperCollins India and William Collins UK.
AT TH=EE T A99¥ § fthehe 9% U fohaTel F |19 AT AT, ST 9T § @l o Q2 ek 67 91 oo, e aeft &2 < I @1 Sran



T AT T AR, T e, ST dqeig Rt  saod = oft yeqa #7ar 81 2 wiaaee i G U Arewei=r o9 %a< {7
HIEE T U HITHSH 7 A1 & STATHISE il Ha-THTAT TIL I SISAT S [ TaH Fifered Tob FTET TR AT ST

eng hin  Historian Ramachandra Guha will come out with a book on cricket in November, which will trace the entire arc of the game in India, across all levels at
which it is played and also present vivid portraits of local heroes, provincial icons, and international stars. The Commonwealth of Cricket: A Lifelong Love
Affair with the Most Subtle and Sophisticated Game Known to Humankind will be co-published by HarperCollins India and William Collins UK.
AT TH=E Tl 799 | fhdhe T% UF fahdTa & 812 98 03T, ST 9d § @ 6 O 3 T 9aq7 a@moa, S a9 &3 9% 98 @ar Srar
& ST AT ATAHT, WA 1T AT, ¥ AT Bt & saaq == ff T&qq F2a1 81 T FiATaed A e T ATSHATT o9 AHIT {997 T
HIEe qao U HIThHSH I 917  STAAHISES T Tg-THT9H T hiford 247 si¥ farfers wifom 7o grer werfera foram sroam)
Q-94  Which month is celebrated each year as "Nutrition Month"?
eng/eng T AU "TIAU A" F T H A HEIA HT AAAT AT 22
01. July 02. August
03. September 04. October
IGEELS AFAT
05. November
ECEES
Q-94  Which month is celebrated each year as "Nutrition Month"?
enghin T a9 "IV A" F T H 6 HEIA HT AT AT 22
01. July 02. August
03. September 04. October
05. November
CEEES
Solution for Question 94 Ans Key: 3
September would be celebrated as the nutrition month and schools should have not just report cards but also nutrition cards and nutrition monitors along
with class monitors.
a1 TT90r |/1g % T | AATAT STOAT ST Al § 7 haet [RA1E FTS aredh TII0T Hle ST qrao7 JiHes & qT-81 FA HAitde? 9 g
R
September would be celebrated as the nutrition month and schools should have not just report cards but also nutrition cards and nutrition monitors along
with class monitors.
TR 7 Troer HTg #F w9 H HATIT SITUIT ST TRl § 7 hael (97 FHTe e G0 FHTS ST T FiHe F qr-9re F19 qifee? ff g
= 5@ 7|
Q-95 Which bank has won the 'Brandon Human Capital Management Excellence Award 2020'?
o 3 7 'HeT AT e HASTHE THRHTH STaTe 2020' ST 82
01. SBI 02. PNB
03. ICICI 04. HDFC
EECIE IR REEIRLE
05. AXIS
ufaE
Q-95 Which bank has won the 'Brandon Human Capital Management Excellence Award 2020'?
enghin T 3% T '5S7 TLAA H0ed HsHe THRICE FFTS 2020' SHar 22
01. SBI 02. PNB
03. ICICI 04. HDFC
EECIE I T
05. AXIS
ufaTE
Solution for Question 95 Ans Key: 1

eng/eng  State Bank of India (SBI) received Brandon Human Capital Management(HCM) Excellence Award(also known as the Academy Awards of Learning &

eng hin

Development)2020, a global recognition for its HR initiative, ’Nayi Disha”.
AT 2 3 (SBI) 7 #e9 =\ &fUed fastie (HCM) TFTeE STaTS (AT U ATE8S & ThTaHT TEEhTT & &7 # €Y ST 51T ) 9T
fFaT12020, ST AT FATEE T2  forw wa Afsae wreerar, 1S faem

State Bank of India (SBI) received Brandon Human Capital Management(HCM) Excellence Award(also known as the Academy Awards of Learning &



Development)2020, a global recognition for its HR initiative, ”Nayi Disha”.
AT ¥ J9 (SBI) 7 52 &IAF fued fastHe (HCM) TFETCE STATE (AN U ATZES & SAHTGHT TIERTT & & H HT ST 1T 8) T
fFaTI12020, ST AT FETEE T2 6 forT wek Sfte wreerar, v e

Q-96  Who has been selected for the national award for teachers?
engleng TR F forg wrdiar qeehte 3 forw BRer =T o 22
01. David Attenborough 02. Gopi Swaminathanc
Tfae Teaar Tt ST
03. Sudha Painuli 04.  Shashi Ray
EELEREL afer
05. Sudha Rao
I a4
Q-96  Who has been selected for the national award for teachers?
eng hin  TUeri 3 forw Trgtar e & forg e ar o 82
01. David Attenborough 02. Gopi Swaminathanc
SESREEER Tt ST
03. Sudha Painuli 04.  Shashi Ray
EELEREL afar ¥
05. Sudha Rao
T T
Solution for Question 96 Ans Key: 3
Ms. Sudha Painuli has been selected for National Award to Teachers 2020. She is among the 47 outstanding teachers selected for the National Award to
Teachers 2020. The teachers have been selected by the Independent Jury at National Level, constituted by the Union Ministry of Education, Department of
School Education & Literacy.
T T At AT et 6 T T EERTE 2020 F T 94T 19T €)1 a8 TRt F g TEEhTE 2020 F 0T 99 0 47 Iope fUesmi 7 6 E
forerant T A FAT AT FATAT FIT TS T T I Faa= ST ZIT F6T 17 3
Ms. Sudha Painuli has been selected for National Award to Teachers 2020. She is among the 47 outstanding teachers selected for the National Award to
Teachers 2020. The teachers have been selected by the Independent Jury at National Level, constituted by the Union Ministry of Education, Department of
School Education & Literacy.
AT T Ot T et o for g EERT 2020 F T FAT 4T €| a8 FereAsnt F g TRERT 2020 F O F T 47 Ipe et § 7 )
foreqant 7 == A1 FOreAT HATAT GIT TS AT FqL T &G ST G167 747 B
Q-97 Who became the CEO of NPCI international payment limited?
e e g T g 7 T B
01. Ritesh Shukla 02. Raunak Jha
fyer epeFerr e =
03. Awadh Dev 04. Pradeep Chibbar
05. Lata Jadeja
AT STSSAT
Q-97 Who became the CEO of NPCI international payment limited?
enghin TSI SATEH g forfies & Mgen Fi9 v 22
01. Ritesh Shukla 02. Raunak Jha
Fver g A9 AT
03. Awadh Dev 04. Pradeep Chibbar
ECPe] KRR ECRY
05. Lata Jadeja
AT STSST
Solution for Question 97 Ans Key: 1

eng/eng  NPCI has appointed Ritesh Shukla as Chief Executive Officer (CEO) of NIPL. In this new role, Ritesh's primary responsibilities would involve formulation

of business strategy, leading business development and driving profitability by deploying NPCI's pre-existing technology and solutions in international
markets.

TS o FXaer T FT UAsmEd U H7 §& FaaTT AThr (e s o 81 =3 72 sfee |, Raer it srrfaes et §
STAATIAF YOI TATE FHLAT, THE ATTATAF (A T T ATH FT NPCI HT Tl F HIS[E The 19 o< SAqTEIT JTSI) § THTemEt
AT FEAT QT BT

eng hin

NPCI has appointed Ritesh Shukla as Chief Executive Officer (CEO) of NIPL. In this new role, Ritesh's primary responsibilities would involve formulation
of business strategy, leading business development and driving profitability by deploying NPCI's pre-existing technology and solutions in international
markets.



TS 7 Rer e[ T UAsTE e T e wTAERTT sfeRy (F e s Gt 21 3 e e ®, Raver st St #
STAATAF YOI TATE FHLAT, THE ATTATAF [T ST ST AT w1 NPCI 6T T2l F HIS[E The 19 17 ST a1l § JHTEmE! i
AT HTAT ATHHA IR

Q-98  Which company will acquire Bharti AXA general insurance?
eng/eng I HI FHOAT WILAT THAT HTHAT AT HT ATARIEI0 FAT?
01. PNB Metlife 02. SBI General Insurance
=T AT ® TETATE ST Z9TH
03. ICICI Lombard 04. HDFC Finance
AEHTATSH TS ATaTe TASTTRHT HEAE
05. Kotak Mahindra
Q-98  Which company will acquire Bharti AXA general insurance?
eng hin 17 &1 FOAT WIAT THAT HTAT AT HT ATAIE00 FAT?
01. PNB Metlife 02. SBI General Insurance
et AT ® TETATE ST Z9TH
03. ICICI Lombard 04. HDFC Finance
05. Kotak Mahindra
Solution for Question 98 Ans Key: 3
ICICI Lombard General Insurance has said it has entered into a definitive agreement to acquire Bharti Enterprises-promoted Bharti AXA General
Insurance in all stock transaction. Bharti Enterprises currently owns 51 per cent stake in Bharti AXA General Insurance, while French insurer AXA has 49
per cent.
ATEHTATSHIATS TS TALA 29T T o gl & Toh 3o Tt Taieh diqad ¥ IRt UaTHTesof-THICE AT TaT STFEe S9T L T STTERIgIT heel
 forw ua At gt & yaer fRaT 21 STt TeayTesist & 979 FdATE | ATt UHT S99 S931d f 51 Tiaerd Reamr g, stath v
Z9ITT THAUFT T 49 T 2
ICICI Lombard General Insurance has said it has entered into a definitive agreement to acquire Bharti Enterprises-promoted Bharti AXA General
Insurance in all stock transaction. Bharti Enterprises currently owns 51 per cent stake in Bharti AXA General Insurance, while French insurer AXA has 49
per cent.
ATEHTMSHIATE ATEATS TALA ST o gl o 6 a7 T2 A7eT § AIEd TTITEolol-THIEE STl THET ST S99 3T AT e
% forw ek A2 aa=ia & waer B 81 STt UeTITesist & 916 aaaT 3 STEdl TRt ST 299130 &l 51 Tiaerd [Reaeml g, STaih %
AT TFATFT T 49 T 2
Q-99 Chutak hydro-electric project in Kargil is on which river?
engleng FILIA § T2 T (A2[d THATSHAT 68 A1 92 22
01. Suru 02. Ravi
03. Jhelum 04. Kaveri
HAH FALT
05. Kunar
>
Q-99  Chutak hydro-electric project in Kargil is on which river?
enghin  FERA | Fazoh STt faega afarrsrar e 7t 92 22
01. Suru 02. Ravi
q= REl
03.  Jhelum 04. Kaveri
Bk ALY
05. Kunar
>
Solution for Question 99 Ans Key: 1

eng/eng  Chutak power station is run-of-the-river scheme with an installed capacity of 44 MW (4X11 MW) to harnesses the Hydropower potential of river Suru (a

tributary of Indus river) which is located in Kargil district of Union Territory of Ladakh.
T TTAY LT 44 HTETE (4X 11 HITETe) T SATOT AT aTelt Tal ATSTAT & ST g& Aal 1 T o= eAar (e a1 7 UF qgras Ta1) 77
TS HTAT & ST 7 TS T2 =T F FERI forer | fora 21

eng hin

Chutak power station is run-of-the-river scheme with an installed capacity of 44 MW (4X11 MW) to harnesses the Hydropower potential of river Suru (a
tributary of Indus river) which is located in Kargil district of Union Territory of Ladakh.
e AT T 44 TETE (4X11 TETe) st ST SHaT aTeil el JISTHT ¢ S % Aot sl oiel (o= &aar (e T<7 T Ush ggrae aar) &7



FTEA FHTAT & ST Fg TR =97 A=TE % Hreiirer forer & fRora 21

Q-100  Which anniversary of Quit india Movement was celebrated?
eng/eng  WTLA BIST AGIAA T FIAHT AUIM(S HATE T2
01. 75th 02. 76th
75 3t 76 3
03. 77th 04. 78th
773 78
05. 80th
80 =f
Q-100  Which anniversary of Quit india Movement was celebrated?
eng hin  ¥TXd IS STGTA sl RIAHT TUTS HATS T2
01. 75th 02. 76th
75 =t 76 #t
03. 77th 04. 78th
77 3 78
05. 80th
80 =
Solution for Question 100 Ans Key: 4
The 78th anniversary of the August Kranti Din or Quit India Movement, which is considered as one of the important milestones in the history of freedom
struggle of our country, is being observed on 8 August 2020. On 8 Aug 1942, Mahatma Gandhi gave a clarion call to end the British rule and launched the
Quit India Movement at the session of the All-India Congress Committee in Mumbai.
ST T fRa AT T SISt AR v 78 A s, O g 397 F waEar 9urH % fagt § ggequt Hier F TeaY F w9 H 9147 96| 8, 8
ST 2020 T FATAT ST TET 81 8 ST 1942 F, HETCHT LT 7 U T {7 fafeer e i1 6T F3 &7 Seald oY §a § e
AT R AT % &9 § 9T el sfiarad g
The 78th anniversary of the August Kranti Din or Quit India Movement, which is considered as one of the important milestones in the history of freedom
struggle of our country, is being observed on 8 August 2020. On 8 Aug 1942, Mahatma Gandhi gave a clarion call to end the British rule and launched the
Quit India Movement at the session of the All-India Congress Committee in Mumbai.
SRTE AT (Ra AT A BIST AT st 78 =1 auTis, Forer gAY 397 % TG=IAT SUTH o STAg § Hgea ol HIel o T o & § HET AT &, 8
STET 2020 T FATIT ST TET 81 8 STET 1942 T, HTHT I 7 Uk TTEveneor (& ferfeser o &1 99T F2e F7 Arear oi¥ §as § ofae
ATCA T FHTUH AT 6 T H AT ST ST L Tl
Q-101  Which country launched underground ballistic missiles during 'Great Prophet 14' military exercise?
o 29T T TThe U2 IaT 14 "9+ ST o R 0 dfoTieadh [HaTge died 5i?
01. Tsrael 02. TIraq
TS T
03. Kuwait 04. UAE
05. Tran
Q-101  Which country launched underground ballistic missiles during 'Great Prophet 14' military exercise?
enghin T 390 T TIhe Y2 WA 14 HT w1 5 200 AT Aferiees et o 2
01. Israel 02. Iraq
ESRE ESLE]
03. Kuwait 04. UAE
FAT T ST AHTT
05. Tran
Solution for Question 101 Ans Key: 5

eng/eng Iranian commandos fast-roped down from a helicopter onto the replica in the footage aired from the exercise called “Great Prophet 14.” Anti-aircraft guns

opened fire on a target drone near the port city of Bandar Abbas.
AT FHTET "I IRTET" ATHE AATH T TETT Gl § U g 1we F Joil 8 A1+ Iq¥| §aTE Tg< AT AATH & IT9 UF A1ed 34 I faa7e-
Farefy et 7 SR &I

eng hin

Iranian commandos fast-roped down from a helicopter onto the replica in the footage aired from the exercise called “Great Prophet 14.” Anti-aircraft guns
opened fire on a target drone near the port city of Bandar Abbas.

AT FATST "I ITae AT TV & YT GesT H UF SAThIe? 8 qoft & A1+ Iq| TETE 9TZT T2 HeaT9 F U6 U Aferd g 9¢ f&amm-
Farefy agat 7 SR &I A




Q-102

In which country has the Gandhi-King Exchange Act been passed?

engleng  TTET-FT worr=isT W by 2or 9 oy ok o 22
01. USA 02. UK
EEMEY T
03. France 04. Germany
HiE
05. Russia
q
Q-102 Inwhich country has the Gandhi-King Exchange Act been passed?
eng hin ST Uper=isT waFe oy or o i o s 22
01. USA 02. UK
EEMEY T
03. France 04. Germany
HE AT
05. Russia
g
Solution for Question 102 Ans Key: 1
US Congressional Committee passes bill to promote legacy of Mahatma Gandhi and Martin Luther King Jr.The newly passed bill will aim at establishing an
exchange initiative between India and the United States to study the work and legacies of Martin Luther King Jr. and Mahatma Gandhi.
ST U FHET AT T S Ao e T A & e &7 agrar a7 & forg fae aria et 81 7@ 9ria 58w F1 3z Arfe
AT T SISl ARTeHT el 6 1 S AT T SeqaT e 6 [or AT ST HY<h TsA STHTLHT % A= (A 7T TZA il TATTAT FHTAT
o Ml
US Congressional Committee passes bill to promote legacy of Mahatma Gandhi and Martin Luther King Jr.The newly passed bill will aim at establishing an
exchange initiative between India and the United States to study the work and legacies of Martin Luther King Jr. and Mahatma Gandhi.
STATYERT TR FHET HETCHT T T /Tfea 2 F&r e &t fawaa 1 agrar a9 F forw o arfd Fwxdt g1 73 ariRa f@ere #7 3297 Arféq
FAT THRT S[AIT 37T ASTCAT et % T S FATEd F7 TeqaT F7 % (70 A ST TIH TS STRTE & S (A0 Tgo T TTIAT HLAT
ARl
Q-103  Currently who is the vice chairman of NITI Aayog?
FAATT H AT ST F IATET FAA 52
01. Rajiv Kumar 02. Vinod Paul
TS HHTT [EGIERICE
03. Arvind Panagaria 04. Sanjeev Kumar
05. Sudeep Verma
T AT
Q-103  Currently who is the vice chairman of NITI Aayog?
FAAT | AT ST % ITeae Fe §2
01. Rajiv Kumar 02. Vinod Paul
TS F/HTT [ERIERIE]
03. Arvind Panagaria 04. Sanjeev Kumar
EMELRDInITe EEIEEIES
05. Sudeep Verma
AT AT
Solution for Question 103 Ans Key: 1
eng/eng  Dr. Rajiv Kumar is a leading Indian economist and has recently been appointed, the Vice Chairman of NITI Aayog by the government of India. He is the
author of several books on India's economy and national security.
=T TS H{ATE T T ATAT TFLTET & ¥ T &1 |, HIT G Z1T NITI Aayog F IUTETel (A< T30 70 81 a8 AT T srfeaareaT eiiT
TIEIT qLAT T % TEqH F @ 2l
eng hin  Dr. Rajiv Kumar is a leading Indian economist and has recently been appointed, the Vice Chairman of NITI Aayog by the government of India. He is the
author of several books on India's economy and national security.
=T TS F{ATE TF T AAT TTLTET & ST T &1 |, HIT G¥ahTe Z1T NITI Aayog F IUTETel (A< T30 70 8| g AT T srfeaaeT o
TEIT {LAT T F% TEqH F @ 2l
Q-104  What is the constituency of Union Agriculture Minister Narendra Singh Tomar?

eng/eng

FT FI w71 A7 g T F7 Fat=m o #7782



Q-104

eng hin

01. Hajipur, Bihar 02. Patna Sahib, Bihar
gy, fame EERIIECAECIR
03. Purvi Champaran, Bihar 04. Vaishali, Bihar
&t e, faeTe o, fag™
05. Vaishali, Bihar
HIAT, W T2

What is the constituency of Union Agriculture Minister Narendra Singh Tomar?
FATT FY FAT A% g THL F7 Far=+ & #7782

01. Hajipur, Bihar 02. Patna Sahib, Bihar
FEINCAEFARS v AT, fagrw
03. Purvi Champaran, Bihar 04. Vaishali, Bihar
&t e, fagr Ferreft, fagm
05. Vaishali, Bihar
HIAT, W TR

Solution for Question 104 Ans Key: 5

eng/eng

Q-105

Q-105

Narendra Singh Tomar is an Indian politician and a member of the 17th Lok Sabha. He is the Minister of Agriculture & Farmers Welfare and Minister of
Rural Development in the Second Modi ministry. Previously he was the Minister of Mines and Minister of Parliamentary Affair in the Government of India.
He is a leader of Bharatiya Janata Party. He was also a member of Sixteenth Lok Sabha from 2014 to 2019 from Gwalior. In 2019, he changed his
constituency and was re-elected to the Lok Sabha from Morena.

T THE T U A TSI Ias Sie 17 31 AR AT % T2 6| a8 F0 1Y T Fedror #31 i g8 Aral 7arad | JrHio7 o #4541 2|
TR g I HLHE H T HAT AT HAERT AHAT o GAT 9| =g ATLA T ST qUET % 7T 8| A AT | 2014 F 2019 T HIAZAT AHHAT
qaeg AT 01 2019 H, IRi AIAT a9 & & (I ST GIAT F AT % (o0 o6 F 7+ )

Narendra Singh Tomar is an Indian politician and a member of the 17th Lok Sabha. He is the Minister of Agriculture & Farmers Welfare and Minister of
Rural Development in the Second Modi ministry. Previously he was the Minister of Mines and Minister of Parliamentary Affair in the Government of India.
He is a leader of Bharatiya Janata Party. He was also a member of Sixteenth Lok Sabha from 2014 to 2019 from Gwalior. In 2019, he changed his
constituency and was re-elected to the Lok Sabha from Morena.

Tz g T UF AT TSIt ST 17 3 AT AT 6 G867 81 98 HT T e smearor 50 eii¥ gae Jret #ared | qreor faeme w54 21
Tgl 9g WL ARTE H G AT 37T HHaT THAT F HAT A 9 FIEATT ST ITET 3 7T &1 g WAL &7 2014 & 2019 Teh TAga| ATHTAT F
I §fF A1 2019 H, Ireie ST Hat=e & aaf (AT i AT § AFET & fory {5 § 74 10

Indian Institute of Rice Research is headquartered in
AT AT AT HEATH HT GEATARL HE

w)

01. Hyderabad 02. Kolkata
03. Chennai 04. Kochi
ELES EEH
05. Lucknow
LGS
Indian Institute of Rice Research is headquartered in
AT ATaA AT HEATH T TATAT

u P4
g

01. Hyderabad 02. Kolkata

03. Chennai 04. Kochi
EEE] ECH

05. Lucknow
KIEGE)

Solution for Question 105 Ans Key: 1

eng/eng

Indian Institute of Rice Research formerly Directorate of Rice Research or IIRR is a rice research institute located in Rajendranagar near Hyderabad.

ATCAT FATAA STIHLTT T T § AT SATET AT T IIRR TF FTa ATHLTT HEATT & ST 2aTaTE & I T a9 § o )

eng hin

Indian Institute of Rice Research formerly Directorate of Rice Research or IIRR is a rice research institute located in Rajendranagar near Hyderabad.

AT FTAA STTHLTT T T § AT SATET AITAT T IIRR TF FTaA ATHLTT HEATT & ST 23TaTE % I T a9 § 2o )

Q-106

eng/eng

From which country is India buying a deadlock missile called 'Hammer'?

AT fore 397 7 AT THF AT e adie w@ra?

01. Ger[nany 02. France
STHAT I
03. Russia 04. USA



= LT

05. Japan
SINIG)
Q-106 From which country is India buying a deadlock missile called 'Hammer'?
eng hin A [ 397 & 'SHY A9 Tl e @die w2 82
01. Germany 02. France
STHAT HiE
03. Russia 04. USA
= ST
0S. Japan
SINIG)
Solution for Question 106 Ans Key: 2

eng/eng  With the Rafales arriving in the country in the middle of a dispute with China, the Indian Air Force is further boosting the capabilities of the combat aircraft

eng hin

Q-107

Q-107

by equipping it with the HAMMER miissiles from France.
1 % AT foaTa F &= 397 H e 6 TgAT % AT, AT a1g ST ASTER (AAT ¥ eTAaret 7 3 9&7 Lol g, a1 <8 % % HAMMER
fraTeat & a9 T s a4

With the Rafales arriving in the country in the middle of a dispute with China, the Indian Air Force is further boosting the capabilities of the combat aircraft
by equipping it with the HAMMER miissiles from France.
% 97 fare & = I97 H THSH F TEA 6 QT AT AT JAT ASTE ToHT AT eAT7aredt i 3T 92T ol &, qTeh o7 WiE it HAMMER

ERIEEEERERISIEETD

By which year 60% of its installed power generation capacity in India will be from renewable energy?
aa # o a0 % TEht 60% T2 STITET &THaT 37 Sl 7 grit?

01. 2025 02. 2030
03. 2035 04. 2040

05. 2045
By which year 60% of its installed power generation capacity in India will be from renewable energy?
aa # T ad % TEhT 60% 2T IITae &IHaT ST ol F giir?

01. 2025 02. 2030
03. 2035 04. 2040
05. 2045

Solution for Question 107 Ans Key: 2

eng hin

Q-108

eng/eng

India will have around 60 per cent of its installed electricity generation capacity from
clean sources by 2030, Power and New & Renewable Energy Minister R K Singh
said.

i % 9@ 2030 d T=o @idl ¥ R sared e w anH 60 Sidwd g, fosielt ot Tofi

AN ARl Fe §f AR fUg T =

India will have around 60 per cent of its installed electricity generation capacity from
clean sources by 2030, Power and New & Renewable Energy Minister R K Singh
said.

wid o 9@ 2030 9 Toes Al | foEa Scared emar o w60 widwa gnm, foielt SR TefiT

IR TelweiE S W AR fag 7w

Who has been appointed as the Vice President of International Olympic Committee?

SaeTErT Ao afafy F sureer F =0 7 B g BT @ g2

01. Rajesh Bhushan 02. David Carl
TTSTET ST SEEkIx]

03. Anuja Singh 04. Navin Tahilani
ELCINEES T qrgeATr

05. Anita DeFrantz



Q-108 Who has been appointed as the Vice President of International Olympic Committee?

eng hin

HATSIT sirerfoe afafa % sureget F w9 § 7 s B g2

01. Rajesh Bhushan 02. David Carl
TTSTST T EEckIE]
03. Anuja Singh 04. Navin Tahilani
age g T At
05. Anita DeFrantz

Solution for Question 108

Ans Key: 5

eng/eng  Former Olympian Anita DeFrantz took office as the first vice-president of the International Olympic Committee (IOC). She was welcomed at her first
Executive Board (EB) meeting as first vice-president on by IOC president Thomas Bach.
& ST FRIAT IR 7 AT et (U AT (10C) F Tger IUTeaer F T H TIHE HATAT| ATSATHT STeTeq AT a7k ZTT Tgof ST
FG H ITHT TgAT FIAHRTL ATS (SAT) T3 § IAHT TR AT T34

eng hin

Executive Board (EB) meeting as first vice-president on by IOC president Thomas Bach.
& ST AT IR 7 AT et (e AT (10C) F Tger IUTeqe F T H TIAT HATAT| ATSATHT STeTeq ATHE FTh FTT Tgo ST
FY H IAhT Tgell HIART TS (SH) T § IAHT 0T 63T 7471

Former Olympian Anita DeFrantz took office as the first vice-president of the International Olympic Committee (IOC). She was welcomed at her first

Q-109

o a9 7 "SeeT A F=a @rar Ao AT g2

01. Bank of Maharashtra 02.

03. Punjab National Bank 04.

EEIEENEECED
05. Union Bank of India
Q-109

T a7 2T et T @rar e T 22

01. Bank of Maharashtra 02.

03. Punjab National Bank 04.

TSI F9T S
05. Union Bank of India
Solution for Question 109

Which bank has launched 'Insta Click' savings account?

Bank of Baroda
Canara Bank

Which bank has launched 'Insta Click' savings account?

Bank of Baroda
% AT FETaT
Canara Bank

Bank of Baroda has launched 'Insta Click Savings Account', a digital self-assisted online savings account, for all its customers.

S AT TUST 7 7= G U1 6 forw v Rfee ao® afires siqars a=9q arar 'Sea7 oo 9fET sreprse At fhaT 21

Bank of Baroda has launched 'Insta Click Savings Account', a digital self-assisted online savings account, for all its customers.

& ATE F=T A 379w Teft areaRt F forw uw RRfSee fow afteee sivere s=a arar e e afav srrse st o 2

Ans Key: 2

Q-110

How many dollars has Google announced to invest in India?

eng/eng T o WA # fahaer Siere [arer Ty 1 =T9om 61 82

01. 10 billion USD 02. 20 billion USD
10 faferme st =TT 20 fafere st s
03. 30 billion USD 04. 15 billion USD
30 faferae sy =Ter 15 faferm st s
05. 18 billion USD
18 fafere st sTere
Q-110 How many dollars has Google announced to invest in India?
eng hin T o WA # fahaer Siere [Harer T 1 =roor i1 82

01. 10 billion USD 02.
IEIEREE CEETRC KRS

03. 30 billion USD 04.
30 faferae sy sTer

05. 18 billion USD

20 billion USD
EIEREE G E TR RS

15 billion USD
15 faferas sy sTer



18 faferas et =rere

Solution for Question 110 Ans Key: 1

eng/eng

Google CEO Sundar Pichai announced a $10 billion investment in India at the Google for India virtual live-stream event. The event focused on contributing
to accelerate India's digital economy with this investment over the next five to seven years.

T o HEA a7 FO=TE T 9 | AT & T AT2a-E | gae % o7 $ 10 e  fHaer &t s 67| 7 FTEFH o9 9 9 979 a1 §
= fRaer & ary e £ RiSrea sreferaem w1 7t 39 § TREE 39 9w Fed )

eng hin

Google CEO Sundar Pichai announced a $10 billion investment in India at the Google for India virtual live-stream event. The event focused on contributing
to accelerate India's digital economy with this investment over the next five to seven years.

A HISHA G (TATE 7 IR # AT & q99d ATZd-F2 1 g4 & (o0 $ 10 e & farer T S 1) T8 FTEH {1 9= § 919 a0t §
=9 A F |rer qa At RfSee sreieraesm 1 i 39 § TRE 39 97 F6d g

Q-111

eng/eng

Q-111

Who has been given a one-year extension as the Deputy Governor of RBI?

AATATE F REE-Taw F =9 § g v arer &1 fawaw gy = 82

01. N.S. Vishwanathan 02. B.P.Kanungo
e AR ELCCIRE] EIRIEAGGRIT

03. Mahesh Kumar Jain 04. M.D. Patra
oTRpeRTaT T8 TR < T

05. None of these
TAH S qel

Who has been given a one-year extension as the Deputy Governor of RBI?

TS F - Taw< F =9 § 3 v Arer w1 A o wa #2

01. N.S. Vishwanathan 02. B.P. Kanungo
LERGREECIRE At ot A

03. Mahesh Kumar Jain 04. M.D. Patra

05. None of these
EQl T ‘_’fﬁ'é H—?‘j

Solution for Question 111 Ans Key: 2

The central government has re-appointed B P Kanungo as deputy Governor, Reserve
Bank of India for a further period of one year with effect from April 3, 2020, or until
further orders, whichever is earlier, upon completion of his existing term on April 2,

2020," the RBI said in a release.

%5 AR 4 3 9, 20208 s O i @ty & fouw urde o d9 & foudt e & oww oA

it w R @ fae fRr @

The central government has re-appointed B P Kanungo as deputy Governor, Reserve
Bank of India for a further period of one year with effect from April 3, 2020, or until
further orders, whichever is earlier, upon completion of his existing term on April 2,

2020," the RBI said in a release.

F5 TWHR 7 3 310, 20209 ww g F afy & ey fod §% & foift e % ' oA

it R w R R R

Q-112

eng/eng

Q-112

eng hin

Arjun Dev has passed away recently. He was the .

AT A FTEA el A e grmarglag A

01. Politician 02. Historian
03. Athlete 04. Scientist
RENIEC EENTES

05. Cricketer
forex

Arjun Dev has passed away recently. He was the .

AT A Tl A e grmarglag <

01. Politician 02. Historian

EEIIGE] EALEIGEES



03. Athlete 04. Scientist
uefte CEIIDET

05. Cricketer
EEray

Solution for Question 112 Ans Key: 2

eng/eng

The legendary historian and educationist, Professor Arjun Dev passed away. He was born on November 12, 1938, in Leiah, West Punjab (now in
Pakistan). He served as a historian at the National Council of Education Research and Training (NCERT).

AR STAaTHaTe ST feATiag, TTHaT SIS[ <d &7 (e SFE1 70 12 Faa7, 1938 T TIH ST (7 qITRea ) F S AT H g3 AT| Irgid 9=
FISIHA A Uspherd e U2 o1 (NCERT) | UF Sfag™ae & &9 § w13 5|

eng hin

The legendary historian and educationist, Professor Arjun Dev passed away. He was born on November 12, 1938, in Leiah, West Punjab (now in
Pakistan). He served as a historian at the National Council of Education Research and Training (NCERT).

e Tfagras i frarfag, THa o[ 33 F7 [Fem) 3TE S0 12 F9a7, 1938 T Tf%H 0sTre (319 qTiredTe) F =T § gl 9m Iwgid Jeea
FISIEA AT Ugerd RE= U2 oA (NCERT) | UF SfAg™aie & &9 § w1y 57|

Q-113
eng/eng

Q-113

When was International Day for South-South Cooperation celebrated?

Freror-zferer A= & forw staeig fRaw & aemar =

01. 8 SEP 02. 10 SEP
RAGEES 10 fordaT

03. 12 SEP 04. 14 SEP
12 e 14 fdew

0S. 16 SEP
16 frdaw
When was International Day for South-South Cooperation celebrated?

Fferor-ZfarT agarT & fory siaig fEaw Fa 79T =

01. 8 SEP 02. 10 SEP
8 forde® 10 forder

03. 12 SEP 04. 14 SEP
12 fardax 14 T

05. 16 SEP
16 fordaw

Solution for Question 113 Ans Key: 3

The United Nations observed The International Day for South-South Cooperation on 12 September 2020. The day is celebrated to recognize the
economic, social and political developments that have been made in recent years by regions and countries in the south. It also highlights the efforts made by
United Nations in order to work for the technical cooperation among the developing countries.

Fi'g?ﬁl‘rgir 12 firda 2020 FT &feror-aferr qgan & forw st faas 7amm 7 fa 2ferr & &= ofT 29 g7 27 & aut § Fohu T sfa,
HTHTISIE ST ST 1% [T hl AT & o (o1 AT ST g AF Tarasfier Ieri 3 &= qaheiiehl g [T & (7T Sk 118 51T Fh 10 st
T AT TR STAAT B

The United Nations observed The International Day for South-South Cooperation on 12 September 2020. The day is celebrated to recognize the
economic, social and political developments that have been made in recent years by regions and countries in the south. It also highlights the efforts made by
United Nations in order to work for the technical cooperation among the developing countries.

T Y A 12 FHdaw 2020 FT ITE0T-ITE07T 2R & o0 Siae g fRae Aamm| 7 & 2feor # &= siT T2 317 2T & aui | 130 T arieie,
TS ST TSI faehTe &7 ATear 3 % fore 7= Srar 81 7 fEsrreefier 90 3 S a0t @ganT & forg w@<h g g o o et
9T it STERTET STAAT B

Q-114

eng/eng

Q-114

eng hin

CRISIL projects India's GDP for FY21 at what percent?
CRISIL ¥ 9TEq & SHedy &1 FY21 % forw fohawr sfaera 9% weree fram

01. -59 02. -6%
03. -6.50% 04. -8%

05. -99%,

CRISIL projects India's GDP for FY21 at what percent?
CRISIL 7 9IZq % S{ETT & FY21 3 forg fraer s a2 s

01. -59% 02. -6%
03. -6.50% 04. 8%
05. 99,

Solution for Question 114 Ans Key: 5

eng/eng

CRISIL has projected India’s GDP rate at -9% for the financial year 2020-21 (FY21). CRISIL revising its forecast down from 5% owing to uncertainty



over the spread of Covid-19 and lack of adequate financial support from the government.For FY22, Crisil has projected India’s GDP to grow at 10%. For
the next three years, between fiscals 2023 and 2025, CRISIL projects the Indian GDP to average a growth of 6.2% annually.

CRISIL 7 fa=F a9 2020-21 (FY21) % forw Siea &t GDP 3¥ -9% T SIHTH 11T 21 forferer 3 Frfars -19 3 w9 stRfaraar s awam &

T T AETaT T FHHT o HIET ST TATTHTT HT 5% & FH F7 37 1 BT a7 22 7 forw, Thffe 7 9 it St &7 10% T a@ it
SHTA FTAT g1 3T A a9 foI, 2023 3T 2025 F =1, CRISIL AT GDP & ATATHT 6.2% ¥ g 3 AT T97 F2aT B

eng hin  CRISIL has projected India’s GDP rate at -9% for the financial year 2020-21 (FY21). CRISIL revising its forecast down from 5% owing to uncertainty
over the spread of Covid-19 and lack of adequate financial support from the government.For FY22, Crisil has projected India’s GDP to grow at 10%. For
the next three years, between fiscals 2023 and 2025, CRISIL projects the Indian GDP to average a growth of 6.2% annually.
CRISIL 7 fa=F a9 2020-21 (FY21) ¥ forw ST it GDP T -9% T STHTH o-1TAT 5| e 7 Ffag -19 3 S| 9 sTfRfaraar si? g &
ot faitr JgTaaT it FHt F FTET ST Q@A & 5% § w9 FT f2a7 21 B o 22 % forw, frffrer F s & St #37 10% 7% a7 &7
SIHTA FTAT g 3T A AT & foIT, 2023 3T 2025 F =14, CRISIL AT GDP & ATATAT 6.2% T I o AT T€T FeaT 2
Q-115  Which bank has launched new loan scheme 'SAFAL' for organic cotton growers?
eng/eng  THH &% T AT FATH ITUTEHT i [o10 T F0T TISTHAT FHA' AT 61 52
01. SBI 02. PNB
03. BOB 04. BOI
FF S FaT EIEIEIES
05. Canara Bank
FAL AF
Q-115 Which bank has launched new loan scheme 'SAFAL' for organic cotton growers?
T S 7 STTae 0T SeaTaat % TorT T ST JISTAT 'O Al i 82
01. SBI 02. PNB
03. BOB 04. BOI
0S. Canara Bank
Solution for Question 115 Ans Key: 1
State Bank of India is planning to launch a loan product named “SAFAL” for organic cotton growers. The product Safe and Fast Agriculture Loan
(SAFAL) is primarily focussed on organic cotton growers who don't have any credit history. SBI will use Artificial Intelligence (AI) and Machine Learning
(ML) for this purpose.
ATCATT T2 I Sfash FITH IcATEH & (o0 “SAFAL? ATHE T 0T IcITE [F FA 1 JISTAT a1 L2181 SATE GLIard sfT oot 1T o
(SAFAL) T &9 § STTare HuTH ScATEHh] T Hiad ¢ ST IS M SMAgd Aal gl THATTS 36 3297 & for7 siEfrfarae sefosia (Tars) 3T
T AT (THUT) T STFNT B
eng hin  State Bank of India is planning to launch a loan product named “SAFAL” for organic cotton growers. The product Safe and Fast Agriculture Loan
(SAFAL) is primarily focussed on organic cotton growers who don't have any credit history. SBI will use Artificial Intelligence (Al) and Machine Learning
(ML) for this purpose.
AT T2 s AT FATEH ITATERT & o7 “SAFAL” ATHE T ST IS % FE %0l AT a7 LT g ST FLIerd 37T a9f FH i o
(SAFAL) & &9 ¥ ST FITH ICITEHI T Hiad ¢ ST IS A S(Aad Aal gl TAATas 36 3297 & fory sfEfrfarae sefosia (Tars) 3T
T AT (THU) T ITIRT FHT
Q-116 Ian Bell has announced his retirement from professional cricket. He belongs to which country?
engleng ZATA A F G Fohohe & et AT T =orT 1 71 9¢ e 3o 7 "@afea g2
01. Australia 02. New Zealand
03. England 04. Zimbabwe
EUE e
05. South Africa
ZfereT sk
Q-116 Ian Bell has announced his retirement from professional cricket. He belongs to which country?
eng hin  ZATA 9 F G fohohe & et AT 1 =oor 1 21 9¢ e 3o 7 "qafea g2

01. Australia 02. New Zealand
S N

03. England 04. Zimbabwe
RUEES sy

05. South Afiica

Zferor shrT



Solution for Question 116 Ans Key: 3

eng/eng  Former England batsman Ian Bell has announced his retirement from professional cricket.
TIAS F TF TEaTS ST 9 o T fohehe & HeTH sl J 90T %67 2|
eng hin  Former England batsman Ian Bell has announced his retirement from professional cricket.
TIAS % TF TEIaTS ST 9 o T [hehe & HeTH sl S0 %67 2|
Q-117 ‘GDR’ is a bank certificate issued in more than one country for shares in a foreign company. What does 'R' stands for in ‘GDR’?
eng/eng SSTHT U el o+t # o<l  forw wa & srferss 2orf W ST U &% JHT0rT 21 'R 7 A=l 'GDR' H 47 22
01. Ratio 02. Receipt
03. Revenue 04. Risk
TS ElicE
0S. Reserve
S|
Q-117 ‘GDR’ is a bank certificate issued in more than one country for shares in a foreign company. What does 'R' stands for in ‘GDR’?
enghin ST T faeft et # a2t % forw v & stfarsk 2o # ST uah &% Ao 21 'R F7 7qerd 'GDR'  F471 82
01. Ratio 02. Receipt
3 \,[ E l ;\: Q
03. Revenue 04. Risk
0S. Reserve
S
Solution for Question 117 Ans Key: 2
Global Depository Receipt (GDR) is an instrument in which a company located in domestic country issues one or more of its shares or convertibles bonds
outside the domestic country.
rae fRaiferedt wHie (LT UF UET ST g e =i 397 § Raa Ush ot 73] A9% & a18 379 Uah AT STAF AT AT Feafead aiee
ST FTAT 2
Global Depository Receipt (GDR) is an instrument in which a company located in domestic country issues one or more of its shares or convertibles bonds
outside the domestic country.
rad fRaiferedt THiE (SHETHT) UH UET STFHI0 ¢ S =9 397 § Faa ush Fo1 73 AT F qTgT 39 T AT STTAF AT AT Featead aiee
EIMERGIEA
Q-118  Under existing Pradhan Mantri Kisan Y ojana, the Government of India provided how much money to the farmers during lockdown?
AT TETHHET 3T TS % Tgd, AT JEhTE ATRSISH & a9 (oheTai &l fohde a9 32
01. Rs. 500 02. Rs. 1000
500 % 1000 =
03. Rs. 1000 04. Rs. 2000
1500 = 2000 =
05. Rs. 2500
2500 ®
Q-118  Under existing Pradhan Mantri Kisan Yojana, the Government of India provided how much money to the farmers during lockdown?
eng hin  HISET TLTAHAT AT TS % T2, WL ACHT ATHRSIIT F A1 e st b T faam?
01. Rs. 500 02. Rs. 1000
500 % 1000 =
03. Rs. 1000 04. Rs. 2000
1500 = 2000 =
05. Rs. 2500
2500 ®
Solution for Question 118 Ans Key: 4
eng/eng The Government has provided Rs. 2,000 to farmers in the first week of April under existing PM Kisan Yojana.
HIAHT F HIET O T JIST % a8d e % qgl J61e § 2,000 fFamt 7 f&=m
eng hin  The Government has provided Rs. 2,000 to farmers in the first week of April under existing PM Kisan Yojana.
TEFHTT 7 HIS(ET FUH e FSET F q8a o189 F Tge 9878 | 2,000 Rt &1 f=m)
Q-119 PLAN BEE’, an initiative of Indian Railways concerns-

eng/eng

T &Y, AT Yo Y et £ v v i



01. Reducing traffic on passenger trains 02. Safety of wild elephants
7T ST | ATATTT FH AT SINTAT BT T qReAT
03. Hiking tariff on congested routes to improve 04. Preserving trees on newly constructed or to be constructed railway tracks
turnaround times Fafafla TSt T ST FIAT AT A T FAET
HTSHTE AT AT 9T EIE T S,
AT FHT H G F:3 % forw
05. Reducing train accidents
I ZHEATS Hl FH FLAT
Q-119 ‘PLAN BEE’, an initiative of Indian Railways concerns-
enghin 'S AT, WIATT Tera 1 F=aveit it UF 72 2-

01. Reducing traffic on passenger trains 02. Safety of wild elephants
ITAT ST | ATATATT FH AT SINTeAT BT %7 qReAT

03. Hiking tariff on congested routes to improve 04. Preserving trees on newly constructed or to be constructed railway tracks
turnaround times TAtATHT TSI AT 0T FLAT AT AT 2 aT
A= Te 91T AT 9 gretehr 2R,
TAATSE HHT H G F3 & o

05. Reducing train accidents
I THEATA T FH FIAT

Solution for Question 119 Ans Key: 2

PLAN BEE is an amplifying system imitating the buzz of a swarm of honey bees to keep wild elephants away from railway tracks. It is a unique strategy
adopted by Northeast Frontier Railway (NFR). It has earned the best innovation award in Indian Railways for the 2018-19 fiscal. Speakers that play the
sound of bees scare the elephants away. Elephants have long been known to be frightened by the buzzing of bees and stings.

TISAT SeS T TATHT TUITAT & ST ST T 7 T Tl & g% 7@ & o gyt F f2 % e T 996 Fedl gl Tg ArdEee Hieaw
TA (TATHAT) FIT STTATE TS T AT TS gl THA AT T | 2018-19 F FoIT Gas 17 Tar=1 [IEhTY SASid (6T 8| HeAadl
T SATETST | FoT AT T AT T TT AT g1 ST T Aol THT T HeHTHGIT 1T S HILA & ST & T 14T gl

PLAN BEE is an amplifying system imitating the buzz of a swarm of honey bees to keep wild elephants away from railway tracks. It is a unique strategy
adopted by Northeast Frontier Railway (NFR). It has earned the best innovation award in Indian Railways for the 2018-19 fiscal. Speakers that play the
sound of bees scare the elephants away. Elephants have long been known to be frightened by the buzzing of bees and stings.

T S5 UF YAt TorTet g S STt 2Tt w Yo qe it ¥ g7 wad % forg wywiaadt % g F g A T Fdt g1 77 it wieaw
TAT (TATHATT) FIT STIATE TS T A3 ORI 1 THA AT T | 2018-19 F o7 qasy sT=eT AT EEhTe STiora TR g1 AeA e
T SATATST | F9T ATl T AT T L AT | ST il ol THT F HEHTFGIT AT SF AL & ST H T 1T gl

Q-120  The Union Cabinet approved the MoU with which country, for cooperation in the field of quality textiles?
F I HIAHS F OTATT T8 6 &7 | TF T 6 [or0 e 397 F |17 FHATAT ATIT T HZf a1?

01. United States of America 02. Japan
T T FAALHT ST
03. Australia 04. Brazil
sitegfer AT
05. Germany

Q-120  The Union Cabinet approved the MoU with which country, for cooperation in the field of quality textiles?
enghin  FATT HIAHSH 7 TUET T6 % &7 H T 6 [o10 o 397 3 |1 FHLATAT ATTH T W1 412

01. United States of America 02. Japan
03. Australia 04. Brazil
e .
05. Germany
Solution for Question 120 Ans Key: 2

eng/eng  The Union Cabinet chaired by the Prime Minister Narendra Modi has approved for signing of a Memorandum of Understanding (MoU) between India and
Japan for cooperation in the field of quality textiles.
TET T A E TS T Teqeqdr § Forg GOEHSe F qUrasT aali & o § GgaRT 6 o7 G $iT ST o = U q8Eidr s (THIA) 97
FEATEAE e o forw ot 3 41 81

eng hin  The Union Cabinet chaired by the Prime Minister Narendra Modi has approved for signing of a Memorandum of Understanding (MoU) between India and
Japan for cooperation in the field of quality textiles.
T T A E TS T Teqeqar § Forg GHEHSe F qUrasT aali & o § GgaRT 6 o7 91 o T ST o = U q8Eidr S| (THIA) 97
FEATET T o o0 HS3T 2 &7 2




Q-121 = foam am weis ey =TT AT ° ater T 81 ™R (1),2),(3) 37 (4) w1 U T ) ey 77 3@ 8 5 gy % Ry ann § s,
engleng T, AAHT, ST53T T AT AT AT ZHY A2 1 FTS A 3T 0O AT AT 3 Fheft waF AT & &) SIiT 7 900 F7 FHCF & I g1 T AT Ty
3 & 7 3597 (5) st sy sfa € s

T ¥ (1)/ 319 (2)/ STt (3)/ 81 (4)) 7+ 3= &1 (5)

01. 1 02. 2
03. 3 04. 4
05. 5

Q-121 Read the sentence to find out whether there is any grammatical error or Idiomatic error in it. The error, if any, will be in one part of the sentence. The
eng hin  number of that part is the answer. If there is ‘No error’ the answer is (5).

The priest request (1)/all the wealthy men to (2)/donate at least some money (3)/ for building a new temple.(4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5
Solution for Question 121 Ans Key: 1

eng hin  'requested/ requests should replace request' , either make it in the past tense (requested) or in the present (requests)

Q-122 = T T Sreareh AT =T AT | &fiet 1 81 5 (1),(2),(3) AT (AT 0 0 )1 oraehit g @1 € o6 = o foheft r & =,
ATOT, AT, &T5a1 T T STTNT AT THT T3 T T AT L ZRIT AT AT F TRl U TR | ST R ST AT T FHTH gl ST gl 3 a1 TAT
3 g ar 39 (5) St adft 3= 8¢ afrm)

g AT A9 HTHFTS (1)/ FT 99 TFT & ATIF Agea ol (2)/ATHAT (3)/ 8, SH [Aarg 751 FA1 A0 (4)/ast 3f=a g1(5)

01. | 02. 2
03. 3 04. 4
05. 5

(Q-122  Read the sentence to find out whether there is any grammatical error or Idiomatic error in it. The error, if any, will be in one part of the sentence. The
number of that part is the answer. If there is “No error’ the answer is (5).

He have started (1)/ making a note of his appointments (2)/ as he tends (3)/ to forget them. (4)/ No error. (5)

01. | 02. 2
03. 3 04. 4
05. 5
Solution for Question 122 Ans Key: 1

use 'has' instead of 'have'

Q-123 = T T T AT = AR # A1 W4T g1 S (1),(2),(3) W (@)FATF T I §) Araawy 75 3@ § 5 arr F G O # s,
engleng ST, TAHAT, STE3T T AT THWT AT THY A7 1 HTS A 3R WA AT AT 5 et war AT F &) Si S0 907 67 FHF & I g1 0 A1y qfy
3= € a1 3T (5) At =t 3= g <o)

AT Fer=ITert § AT A= (1)) F AT (2)/ TE T AT FFge? (3)/ 3T Frear SATar T=<y 21 (4) 771 3= g1 (5)

01. 1 02. 2
03. 3 04. 4
05. 5

Q-123 Read the sentence to find out whether there is any grammatical error or Idiomatic error in it. The error, if any, will be in one part of the sentence. The
eng hin  number of that part is the answer. If there is ‘No error’ the answer is (5).

Ajay was adherent (1)/on finishing the (2)/work before leaving (3)/ by the day. (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
0s. 5
Solution for Question 123 Ans Key: 4

eng hin  'by the end of the day' is the appropriate phrase




Q-124 1= =T 3T S AT T AT | atel 147 g1 g (1),(2),(3) 37 (4)FATH &0 T | ATl 78 @71 ¢ 76 a1 % et 01 7 21,
eng/eng  WTOT, AT, 9TEa1 HT TAT TANT AT THT L AT FTE A ST 2R AT ATHT 1 61 T AT H &1 2RO S AT HT HAF ol I 8| ST AT T
3= € a1 3T (5) st =t 3 g <ifSmy
AT % I (1)) IEHAT (2)/ FT TR-ST & I (3)/ T 90581 | AR (4)/ T47 3= g1 (5)
01. | 02. 2
03. 3 04. 4
05. 5
Q-124 Read the sentence to find out whether there is any grammatical error or Idiomatic error in it. The error, if any, will be in one part of the sentence. The
eng hin  number of that part is the answer. If there is ‘No error’ the answer is (5).
His teacher was pleasantly (1)/ surprised when he learned (2)/ that despite the all problem (3)/ he participated.(4)/ No error (5)
01. | 02. 2
03. 3 04. 4
0s. 5
Solution for Question 124 Ans Key: 3
eng hin  'despite all the problems' should replace despite the all problem.
Q-125 = fearT o srereh =k =T AR § &t 17 21 1515 (1), (2), (3) 1T ()i 20 10 §1 Aroehy g <@t & {3 =rerr o Fohelt st & =7,
AT, AT, T5&1 T AT TINT AT THT TG ol 1 S ST G Al AT 6 [ohe(l T TR | &1 gRIT| ST AN T HHIF 5l ST gl 3 a1 THT
3 & a3 (5) st adt 3t 8¢ afrm)
FTITAT H HT (1)) F S (2)/ T&F T97 (3)/ Tt foenm (4) a6t sf=a &1 (5)
01. | 02. 2
03. 3 04. 4
05. 5
Q-125 Read the sentence to find out whether there is any grammatical error or Idiomatic error in it.The error, if any, will be in one part of the sentence. The
number of that part is the answer. If there is ‘No error’ the answer is (5).
His brother is (1)/ not only a good (2)/ guitarist but also (3)/ a good singer (4)/ No error (5)
01. 1 02. 2
03. 3 04. 4
05. 5
Solution for Question 125 Ans Key: 5
No error
Q-126 AT TF TTH (1), (2), (3) AT (4)FHTF § AT 9158 (20 2| SH & TF | qq1 el A< 2T THhl 2| ATSIh 958 FT HHF @l SATTHT IAL A
engleng AT SR T2 Y At FEY & AT e AT (5) e ol W
01 srgeer 02. e
03. si=rer 04. safeaR
05. Fft oLt &
Q-126 In the following sentence there are two blanks, each blank indicating that something has been omitted. Choose the set of words for each blank which best
eng hin fits the meaning of the sentence as a whole.
They invited all the members of the association the inauguration.
01. hadby 02. has,at
03. can,in 04. have, for
05. wantby
Q-127 T ITF T H (1), (2), (3) 3T (4)FHTF | =TT 9152 20 | B & v § Fqe1 dareft Ao I asvedt g1 AT 952 7 FATE gf ATTHT 3T 2R
eng/eng AT AT «Teal T AT Al § A1 ST IS (5) AT A+t T2 2

01. wree 02. =feFr



03. fa=m 04. zve

05. wrefy wr

Q-127 Inthe following sentence there are two blanks, each blank indicating that something has been omitted. Choose the set of words for each blank which best
eng hin fits the meaning of the sentence as a whole.

They their best,but were to retrieve any data from that computer.

01. gave,sorry 02. showed,able

03. thought,happy 04.  sent,unsuccessful

05. tried,unable
Q-128 T TAF TTH (1), (2), (3) 3T (4)yFHTF & =TT 9153 A0 | oo & wa § aa+T daeft 7 F1 aecft 81 AT arsg F7 FA1F ST AT 3T ZRM
eng/eng Zlﬁ’ﬂ( Q@ﬁaﬁﬂ'@%ﬁw(é §Q(5)3]?;|E ‘Hgﬁ@%'

01. ==AT 02. Tt

03. gsafera 04. =yfEa

05. &<t =T &
Q-128 Inthe following sentence there are two blanks, each blank indicating that something has been omitted. Choose the set of words for each blank which best
eng hin fits the meaning of the sentence as a whole.

The of rural schools is poor as to their urban counterparts.

01. functions,like 02. progress,unlike

03. condition,compared 04. state,matched

05. situations,contrast
Q-129 = T=F T H (1), (2), (3) 3T (4) FHTF | =12 o158 20 &) BFH & TF § Fa-1 daelt AT 21 Tl &1 FATeqTh A& T HATEH o ATTHT 39 2T

T AT 9TeaT T AT Hal & a1 I &N (5) AT FAT 7T

01. Hftwra 02. FTsTaeFT

03. 04. srorsTTaT

05. =< aEr &
Q-129 Inthe following sentence there are two blanks, each blank indicating that something has been omitted. Choose the set of words for each blank which best

fits the meaning of the sentence as a whole.

She would prefer travel early rather during peak hours.

01. forto 02. to,than

03. in,so 04. not,if

0S. at,about
Solution for Question 129 Ans Key: 2
eng hin  prefer takes 'to' with it and 'rather than' is a complete structure.
Q-130 T IAF T H (1), (2), (3) 3T (4)yFHTF & =TT 9153 A0 | oo & v § aqer daeft 7 I1 acft 81 AT sz 71 FH1F EF AT 3T ZRM
engleng AT AT TRl AT AT Al § AT ST AIST (5) ST A+ T2 2

01. Fufrs 02. FreTierh

03. TTfa 04. fgoor

05. F¥faEr s
Q-130 Inthe following sentence there are two blanks, each blank indicating that something has been omitted. Choose the set of words for each blank which best
eng hin fits the meaning of the sentence as a whole.

Nisha's purse was at the bus stop so she a complaint at the nearest police station.
01. taken,did 02. stolen,filed
03.  given,gave 04. leftregister

05. sneaked,put

Solution for Question 130 Ans Key: 2




eng hin  FILED a complaint is correct

Passage for Question 131, 132, 133, 134, 135 (ST-2057 RRB BCL MAINS (11-15) F 2020)
eng/eng Passage

et srerer 1 eagae® 9z vd 9@ T vt F "2t fGwer g forfau-

STThY AT & o % o a9 YT 3 § 3T Tg] Tl 21| U a1 337 UF Ggell e (AT 8 HILA il JTAT FI TS| ST 39T § ag AT ahf Torer
 forT e wae o et o) U et 7 I e o o fora am s srea 7 g e 1 awe 3T siT 37 9% 9% o7 399, I e, ST
ITAT F AR | qAd Tl Towal {iad & a § UF 91 S 399 W7 677 797 a1 I2i gl < H GRaTe & UF 9g F S TSl 7 SASRTE 7R a7 Segie o0
TEATAY 33 | o oY o & &9 oo v | v &6 forarm o ey sanfort ot sy geameaw R4 o 1 o #5591 U a1 Tretien § Saar F 399
TTHEvaEst 7 faers Fe & forw Fgn sfe arega 7 geft & o w7 feam fw 35 et F aarst B s area 7 St ot <29 AremEt w9
Tl § T & W &1 argata g ol @ v &1 98

eng hin Passage

Read the following passage carefully and answer the questions given below it.Certain words/phrases have been printed in bold to help you locate them while
answering some of the questions.

Princess Chandravati was very beautiful.She loved all kinds of ornaments and always wanted to wear the most precious and lovely jewels.Once,a jeweler came to
the palace and gifted the king a wonderful diamond necklace.It glittered with big and small diamonds.It was certainly a very expensive necklace.The princess fell in
love with it as soon as she saw it.So the king presented it to her.

From that day on,the princess always wore that necklace,wherever she went.One day before going for a swim in the pond,she took the necklace off and put in the
hands of her oldest and the most trustworthy servant.”Hold this and be careful. This is the most precious necklace in the whole world”,she said. The servant was an
old woman.She sat under a tree,holding the ornament tightly and waited for the princess.It was a hot afternoon and the servant was very tired so she dozed off
under the tree.Suddenly the servant felt that someone was tugging at the necklace and she woke up with a start.She looked around but no one was there and the
necklace was gone.Scared out of her wits,the old servant started screaming.On hearing her scream the royal guards rushed to her.She pointed towards the direction
in which the thief may have gone and the guards ran off that way.

There was a poor and dim-witted farmer walking on the same road.As soon as he saw the royal guards running towards him,he thought that they wanted to catch
him and started running.But he was not a strong man and could not outrun the hefty guards.The royal guards caught him in no time.”Where is it?”’they
demanded,shaking him.”Where is what?”’the poor farmer stammered back.”The necklace you stole!”’thundered one of the royal guards.The farmer had no idea what
they were talking about.He only understood that some precious necklace was lost and he was supposed to have it.He quickly replied,”I don’t know where it is
now.I gave it to my landlord.”

The guards ran towards the landlord’s house.”’Give us the necklace right now”,the guards demanded from the fat landlord.”Necklace? I don’t have any!”the
stunned landlord replied.”Then tell us quickly who does,”demanded the soldiers.In order to get the royal guard off his back,the landlord pointed towards the temple
and thinking about the lunch he had just eaten.The priest was stunned when one of the burly guards jumped on him and asked about the necklace.He remembered
that the minster,Bhupati,was at the temple.He took the guards to the temple and pointed towards the praying minister,”l gave it to him,” he said.Bhupati too was
caught and all four men were thrown in jail. The chief minister of the kingdom knew Bhupati well and was sure that Bhupati would never steal.He decided to find
out who the culprit was.He hid near the jail where all four men were put and heard them talking.First, Bhupati asked the priest,”panditji,why did you say that you
gave the necklace to me?l was quietly praying at the temple and now you have landed me in jail for no fault of mine.”The priest looked apologetic.He pointed
towards the landlord and said,”I didn’t know what to say. He set the guards on me.I was simply passing by his house and was on my way to the temple.” The
landloard looked at the priest sheepishly. Then he turned towards the poor farmer and yelled,”You lazy good-for-nothing man, why did you say that I had the
necklace?’The farmer, trembling under the angry gaze of all three men,said,”l was just walking home.The guards caught me and I did not know what to say. On
hearing this conversation,the chief minister understood that all the four men were innocent. He immediately ordered the royal guards to search thoroughly,near the
pond.The guards searched high and low till they saw something glinting on the tree.On the tree sat a monkey with the princess favourite necklace around his neck.It
took a lot of coaxing and bananas before the monkey threw the necklace on the ground.The king apologized to all the four men and gave them gold coins as
compensation.He requested his daughter to wear the necklace only indoors.

Q-131 AT ESforaT | F97 I Fat o 2

eng/eng

01. sty it forer & o fy uspA Fear 02, BT T USTHT
03. B F AT 04.  spfeforaT w7 ST S o
0. it A

Q-131 Why did the king present the diamond necklace to his daughter?

eng hin

01. She liked ornaments and had grown very ~ 02. The king did not like ornaments and had no use of the necklace
fond of the diamond necklace

03. She had demanded the necklace from him 04. The king liked to give expensive gifts to his daughter

0S. The king wanted to test the princess ability
of handling expensive things

Solution for Question 131 Ans Key: 1

eng hin  The answer lies in the first line of the passage.




Q-132  FgAT 7 segforar # e Mie o 2
eng/eng
01. Srf AT &y 02. Tt oy T
03. T T M= T foram 04. FTTT (1) AT (2)
05. it i 7S
Q-132 What did the old servant realise when she woke up?
eng hin
01. That there were monkeys in the place 02. That the princess necklace was missing from her hands
garden
03. That a poor farmer had stolen the necklace 04. That the princess had snatched the necklace from her hands
05. That the princess had already left
Solution for Question 132 Ans Key: 2
eng hin  The answer lies in the last of the second paragraph of the passage.
Q-133 = I ETT IS 7 SAERITE TR TAT T 3eg i e FTHT H gearey o6 ?
eng/eng
01. 2=+ 02. 3R
03. AT 04. STt #
05. 3ZH
Q-133  Why did the poor farmer run?
01. He was in a hurry to reach home and hide  02. He was worried that the guards would reach his house before him
the stolen necklace
03. He had stolen the necklace and did not 04. He wanted to reach the landlord’s house before the guards reached there
want to be interrogated by the guards
05. He saw the royal guards running after him
and thought they would arrest him
Solution for Question 133 Ans Key: 5
The answer lies in the beginning of the third paragraph of the passage.
Q-134 T | TTH=wg & (e FEAT O a1 H7 T 19 @ 2
01. HLH TH 7 T 02. FTEETRF qTEET
03. T ATEAT 04. T wra=T
0S. F«t gt % Ul =M=
Q-134  Why did the landlord lie about the necklace?
01. He wanted to prove that the old servant 02. 1t was a conspiracy between him and the poor farmer
was lying
03. He did not like the priest and wanted to get 04. Bhupati had ordered him to lie about the necklace
him punished
05. He didn’t know anything about it and
wanted to get rid of the guards
Solution for Question 134 Ans Key: 5
eng hin  The answer lies in the beginning of the last paragraph of the passage.
Q-135 UTTS <T5R AT TR B-
eng/eng
01. fufey 02. wHuf
03. sy 04. FHTIE
05. =i & 78
Q-135 Why did the chief minister decide to intervene in the case of the stolen necklace?
eng hin

01. He suspected that the old servant was the  02. He knew that the poor farmer was dim-witted and that he had created all the confusion



actual culprit

03. He knew that Bhupati was an honest 04. He suspected that the landlord was the actual culprit and wanted to get him punished
minister and would never do such a thing

05. He already knew that all four men were
innocent
Solution for Question 135 Ans Key: 3

eng hin  The answer lies in the fourth line of the last paragraph of the passage.

Passage for Question 136, 137, 138, 139, 140 (ST-2057 RRB BCL MAINS (16-20) F 2020)
eng/eng Passage

e srerter 1 gze 0@ U vt % 3T ferfaru-

AT TAAT F ST e F HIHH-FH § TR, ATHSA F qT § Jagrer g F=ar &1 fFo &) few g auf § 7 Far i afim wd arm &)
el 39T § 15 F20E gaea? | A ST7ere Ficaefir a=i T AT g3 81 TT: A6 & TIH Faiid @& ¥ 9gd FH | FF TF Had 3 FUE 70 a1
TFEIT | Y AT T ITIT 1 STHTVHT, AT 3T wiorr qaifass warfad 7grei™ 8| amare SiTer e F TFTaeor SHqed 987 gl 99 % U o age
TEIRAT ZATAS SeaT F HETAT TS o T (Ao % T § W1Ee & GSi 1 (aeied hAT 2| Tt TV | a0 4 FHH I8 T 7 971 adqg T AT
BT ATeAT S A7 Frad @ ot & 7 effv-efiv gar & 96 F2d €1 =7 TRt & SIEOTe 7 aIOHT 7 g1 ST g1 aTIsH § g1 HHt F07 6 IR FdT )
TATIRe % =9 AT TSI AT ST TRIEAT § I FTer ITeiash qrelf 12 A iaeor e = o w7 & |y S av =699 st aforms st 37 S a6
21 e aut w9 o Rt v § gew e awdt 2

eng hin Passage

Read the following passage carefully and answer the questions given below it.Certain words/phrases have been printed in bold to help you locate them while
answering some of the questions.

Princess Chandravati was very beautiful.She loved all kinds of ornaments and always wanted to wear the most precious and lovely jewels.Once,a jeweler came to
the palace and gifted the king a wonderful diamond necklace.It glittered with big and small diamonds.It was certainly a very expensive necklace.The princess fell in
love with it as soon as she saw it.So the king presented it to her.

From that day on,the princess always wore that necklace,wherever she went.One day before going for a swim in the pond,she took the necklace off and put in the
hands of her oldest and the most trustworthy servant.”’Hold this and be careful. This is the most precious necklace in the whole world”,she said.The servant was an
old woman.She sat under a tree,holding the ornament tightly and waited for the princess.It was a hot afternoon and the servant was very tired so she dozed off
under the tree.Suddenly the servant felt that someone was tugging at the necklace and she woke up with a start.She looked around but no one was there and the
necklace was gone.Scared out of her wits,the old servant started screaming.On hearing her scream the royal guards rushed to her.She pointed towards the direction
in which the thief may have gone and the guards ran off that way.

There was a poor and dim-witted farmer walking on the same road.As soon as he saw the royal guards running towards him,he thought that they wanted to catch
him and started running.But he was not a strong man and could not outrun the hefty guards.The royal guards caught him in no time.”Where is it?”’they
demanded,shaking him.”Where is what?”’the poor farmer stammered back.”The necklace you stole!”’thundered one of the royal guards.The farmer had no idea what
they were talking about.He only understood that some precious necklace was lost and he was supposed to have it.He quickly replied,”I don’t know where it is
now.I gave it to my landlord.”

The guards ran towards the landlord’s house.”’Give us the necklace right now”,the guards demanded from the fat landlord.”Necklace? I don’t have any!”the
stunned landlord replied.”Then tell us quickly who does,”demanded the soldiers.In order to get the royal guard off his back,the landlord pointed towards the temple
and thinking about the lunch he had just eaten. The priest was stunned when one of the burly guards jumped on him and asked about the necklace.He remembered
that the minster,Bhupati,was at the temple.He took the guards to the temple and pointed towards the praying minister,”] gave it to him,”he said. Bhupati too was
caught and all four men were thrown in jail. The chief minister of the kingdom knew Bhupati well and was sure that Bhupati would never steal.He decided to find
out who the culprit was.He hid near the jail where all four men were put and heard them talking.First, Bhupati asked the priest,”panditji,why did you say that you
gave the necklace to me?I was quietly praying at the temple and now you have landed me in jail for no fault of mine.”The priest looked apologetic.He pointed
towards the landlord and said,”I didn’t know what to say. He set the guards on me.I was simply passing by his house and was on my way to the temple.”The
landloard looked at the priest sheepishly.Then he turned towards the poor farmer and yelled,”You lazy good-for-nothing man, why did you say that I had the
necklace?”The farmer, trembling under the angry gaze of all three men,said,”I was just walking home.The guards caught me and I did not know what to say. On
hearing this conversation,the chief minister understood that all the four men were innocent. He immediately ordered the royal guards to search thoroughly,near the
pond.The guards searched high and low till they saw something glinting on the tree.On the tree sat a monkey with the princess favourite necklace around his neck.It
took a lot of coaxing and bananas before the monkey threw the necklace on the ground.The king apologized to all the four men and gave them gold coins as
compensation.He requested his daughter to wear the necklace only indoors.

Q-136  wrerier #1 3= ofd= g

eng/eng
01. == =T qHMAT 02. arHe« & TRy # gy
03. erTi¥as  YST HT STANT 04. wrEH-TF
05. it i AvE

Q-136 What did the chief minister do in order to find out who the actual culprit was?

eng hin

01. He sent a spy and asked him to find out the 02. He directly asked Bhupati if he had stolen the princess necklace



actual culprit

03. He asked the soldiers to keep a thourough 04. He hid near the jail and overheard the conversation among the four men
watch on the old servant

05. He interrogated all the four men

Solution for Question 136 Ans Key: 4

eng hin

The answer lies in the fifth line of the last paragraph of the passage.

Q-137 <UaraaT zaTast stear e 3or F St g 2
eng/eng
01. =T 02. fes srRfaT
03. e 04. sTofiRT
05. =H ¥ FTE TN
Q-137 Who among the following was the actual culprit?
eng hin
01. The monkey 02. Bhupati,the minister
03. The poor dim-witted farmer 04. The old and trusted servant
05. One of the royal guards
Solution for Question 137 Ans Key: 1
The answer lies in the second last line of the last paragraph of the passage.
Q-138  weTiEes & Ut At @IS e g AT TS 2
01. =i % a2 & =7 & 02. YRream # gRaTett a9 2q
03. aaf o % fery 04. AT ATTHA FT FH FT 2]
05. =% T F1E TE
Q-138  Which of the following is true according to the passage?
01. The necklace was made of big and small ~ 02. The royal guards did not hear the old servant scream
rubies
03. The royal guards were polite to all four men 04. The priest was on his way to the temple
0S. None is true
Solution for Question 138 Ans Key: 4
eng hin  The answer lies in the third line of the last paragraph of the passage.
Q-139 T U fad YT TR TEaTo-HAd aATd @ 2
01. 571 =5 # TRaa" w2 02. ST T THY T HEHT AHTH HT TTTA FH T
03. ST F TATALON § TTTHI TRTHT 04. FTaTERIT § TH FH
05. it i AvE
Q-139  Arrange the following incidents in a chronological order as they occurred in the passage.
eng hin  (A) The landlord pointed towards the priest
(B) The old servant dozed off
(C) The monkeys were offered bananas
(D) A jeweler visited the king
01. DBCA 02. DBAC
03. BDAC 04. DABC
05. BDCA
Solution for Question 139 Ans Key: 2
eng hin  Read the passage thoroughly in order to get the proper sequence.
Q-140 FEw F7 AT ass gHU-
eng/eng
01. Faeft 02. et

03. sraTEHfaH 04. grHfaT



05. ZH & g T

Q-140 What did the king do after the necklace was found?
eng hin

01. He rewarded the chief minister and thanked 02. He rewarded the guards
him

03. He took the necklace away from the 04. He apologized to all the four men
princess

05. Not mentioned in the passage

Solution for Question 140 Ans Key: 4

eng hin  The answer lies in the last line of the last paragraph of the passage.

Passage for Question 141, 142, 143, 144, 145 (ST-2057 RRB BCL MAINS (21-25) F 2020)
eng/eng Passage

= T30 T wrre o7 § U (U ST ST g g SfY S A1 97 9758 GATY U 2| TAH H 36| UF 958 1 R #0992 79 I F g a1 T TAq00
FTHT S SITAT | Tl A58 Tl AT HY 0T HH HEAT AT IAL F & 7 sifohd HISTT| Sraaht f30 70 9reat # & qaifar SUIh M58 FT 999 FHIAT 5

eng hin Passage

Read the following passage carefully and answer the questions given below it.Certain words/phrases have been printed in bold to help you locate them while
answering some of the questions.

Princess Chandravati was very beautiful.She loved all kinds of ornaments and always wanted to wear the most precious and lovely jewels. Once, a jeweler came
to the palace and gifted the king a wonderful diamond necklace.lt glittered with big and small diamonds.It was certainly a very expensive necklace. The princess
fell in love with it as soon as she saw it.So the king presented it to her.

From that day on,the princess always wore that necklace,wherever she went.One day before going for a swim in the pond,she took the necklace off and put in the
hands of her oldest and the most trustworthy servant.”Hold this and be careful. This is the most precious necklace in the whole world”,she said.The servant was an
old woman.She sat under a tree,holding the ornament tightly and waited for the princess.It was a hot afternoon and the servant was very tired so she dozed off
under the tree.Suddenly the servant felt that someone was tugging at the necklace and she woke up with a start.She looked around but no one was there and the
necklace was gone.Scared out of her wits,the old servant started screaming.On hearing her scream the royal guards rushed to her.She pointed towards the direction
in which the thief may have gone and the guards ran off that way.

There was a poor and dim-witted farmer walking on the same road.As soon as he saw the royal guards running towards him,he thought that they wanted to catch
him and started running.But he was not a strong man and could not outrun the hefty guards.The royal guards caught him in no time.”Where is it?”’they
demanded,shaking him.”Where is what?”’the poor farmer stammered back.”The necklace you stole!”thundered one of the royal guards.The farmer had no idea what
they were talking about.He only understood that some precious necklace was lost and he was supposed to have it.He quickly replied,”’l don’t know where it is
now.I gave it to my landlord.”

The guards ran towards the landlord’s house.”Give us the necklace right now”,the guards demanded from the fat landlord.”Necklace? I don’t have any!”’the
stunned landlord replied.”Then tell us quickly who does,”demanded the soldiers.In order to get the royal guard off his back,the landlord pointed towards the temple
and thinking about the lunch he had just eaten. The priest was stunned when one of the burly guards jumped on him and asked about the necklace.He remembered
that the minster,Bhupati,was at the temple.He took the guards to the temple and pointed towards the praying minister,”l gave it to him,”he said.Bhupati too was
caught and all four men were thrown in jail. The chief minister of the kingdom knew Bhupati well and was sure that Bhupati would never steal.He decided to find
out who the culprit was.He hid near the jail where all four men were put and heard them talking.First, Bhupati asked the priest,”panditji,why did you say that you
gave the necklace to me?I was quietly praying at the temple and now you have landed me in jail for no fault of mine.”The priest looked apologetic.He pointed
towards the landlord and said,”I didn’t know what to say. He set the guards on me.I was simply passing by his house and was on my way to the temple.”The
landloard looked at the priest sheepishly. Then he turned towards the poor farmer and yelled,”You lazy good-for-nothing man, why did you say that I had the
necklace?’The farmer, trembling under the angry gaze of all three men,said,”I was just walking home.The guards caught me and I did not know what to say. On
hearing this conversation,the chief minister understood that all the four men were innocent. He immediately ordered the royal guards to search thoroughly,near the
pond.The guards searched high and low till they saw something glinting on the tree.On the tree sat a monkey with the princess favourite necklace around his neck.It
took a lot of coaxing and bananas before the monkey threw the necklace on the ground.The king apologized to all the four men and gave them gold coins as
compensation. He requested his daughter to wear the necklace only indoors.

Q-141 =TT AT SET H THATT T oo 2l

eng/eng
01. oEr 02. e
03. =vaTaT 04. s
05. ST

Q-141 Choose the word most similar in meaning to the word given in bold, as used in the passage.
eng hin

Dozzed off

01. Waited 02. Dreamt



03. Sat 04. Nodded

05. Slept
Solution for Question 141 Ans Key: 5
eng hin  For other options:
Nodded (v) — lowered and raised one's head slightly and briefly.
Q-142 @ A AT AT H ... #t yafr i wiafam sedt s =
eng/eng
01. ge= 02. ye=
03. wegTor 04. yeITaET
05. waa=
Q-142  Choose the word most similar in meaning to the word given in bold, as used in the passage.
eng hin .
Tugging
01. Tearing 02. Stealing
03. Cheating 04. Pulling
0s5. Pushjng
Q-143 faguF FrI@HFT IR ...oooooo ezl
01. 3Iug™ 02. g™
03. srgTET 04. srfaem
05. ufigre
Q-143  Choose the word most similar in meaning to the word given in bold, as used in the passage.
Precious
01. Valuable 02. Best
03. Biggest 04. Ordinary
05. Worthless
Q-144 AT BFATT BT IF cooveennnee ST AT
01. gTaTaar 02. =y9rer
03. 9 04. ﬁ'gn'm‘r
05. orfm
Q-144  Choose the word which is most nearly the OPPOSITE in meaning to the word given in bold as used in the passage.
Caught hold
01. Nabbed 02. Picked Up
03. Slipped Off 04. Plunged
05. LetGo
Solution for Question 144 Ans Key: 5
eng hin  For other options:
Nabbed (v) snatched
Plunged (v)- dropped
Q-145 TF fOaT it /== qog FT THTA TAFLH ..o T T
eng/eng
01. smerd wfra 02. =qey
03. sfi=rgr 04. JEATE
05. g:l‘ﬁ'
Q-145  Choose the word which is most nearly the OPPOSITE in meaning to the word given in bold as used in the passage.
eng hin

Trembling



01. Scared 02. Tensed
03. Calm 04. Quite
05. Shaking

Passage for Question 146, 147, 148, 149, 150 (ST-2057 RRB BCL MAINS (26-30) F 2020)
eng/eng Passage

H= (A), (B), (C), (D), (E) 37 (F) FT 36 q¥g Aead F0 {3 Tl F2a1 &1 Uh q20 0t 7fi=gm a7 9o {5 5% are 3w st 1 59w dfhm)
(A) 37T 7g 2 T3 =RE o1 Ta%T 7 ST AT F AT HT TgAT

(B) AT Sfia @ T 3T ATAHT T2 | A7 gl 2

(C) TE TF THIY & ST STFHTT T ATEET T TTAHA &, g TS FT FART T 8 1% a8 Teacd (AT 21 HT ATT) & T Zral 9T oI 7T &l

(D) ST T 38 ATHIAT o 77 918 g2 8 I A19d A0 3ETA N F2al 2|

(E) STt |2t 71 T3t g oft 71 a7 = 2l

(F) =% 1 ST TH ST a7 & 1= Sfa 9T 2T 2

eng hin Passage

Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically correct. If the
sentence is correct as it is given and no correction is required, mark (5) as the answer.

Q-146 TR=2E H UgAT AT AT ATE 2

01. sneak a peeks 02. sneak peek
03. sneak and peek 04. sneaking and peeking

05. No correction required
Q-146  The painter never let anyone sneaks a peek at his work before it was finished.

01. sneak a peeks 02. sneak peek
03. sneak and peek 04. sneaking and peeking
0S. No correction required
Solution for Question 146 Ans Key: 2

Sneak peek - a brief showing.

Q-147 qf=eg =0T aT T H-4a1 8 2

o

01. D 02. B
03. C 04. A
05. E
Q-147 Came what may, she never missed a single sermon.
eng hin
01. come whatever may 02. come what may
03. come what may be 04. came what may be
05. No correction required
Solution for Question 147 Ans Key: 2
eng/eng

eng hin  Come what may - regardless of what happens.

Q-148 TR=u= H ZoT a9 FA-AT T ?

eng/eng
01. E 02. B
03. F 04. D
05. A

Q-148  Peter won the race fair and square.

eng hin

01. fare and square 02. fairly and square



03. fair square 04. fair not square

05. No correction required
Solution for Question 148 Ans Key: 5

eng/eng

eng hin  Fair and square - in an honest and fair manner.

Q-149 TR==E ¥ T=4aT AT FIE-A7 O 2

eng/eng
01. D 02. A
03. E 04. B
05. C
Q-149 He decided to play in time in the hope that the prices would decrease.
eng hin
01. play the time 02. played for time
03. play for time 04. play the timing
05. No correction required
Solution for Question 149 Ans Key: 3

Play for time - to try to delay something.

Q-150 TR==7 ¥ THIT AT HIF-9T gRIT 2

01. D 02. B
03. A 04. C
05. A

Q-150 Instead of going through the preliminaries we must get to the heart in the matter.

01. heart for the matter 02. heart that mattered
03. heart of matters 04. heart of the matter
05. No correction required

Solution for Question 150 Ans Key: 4

Heart of the matter - the basic, central or critical point of an issue.

Passage for Question 151, 152, 153, 154, 155, 156, 157, 158, 159, 160 (ST-2057 RRB BCL MAINS (31-40) F 2020)

eng/eng Passage

Fr=r fow o ai=aE # g R o | QU T 8 T 39 957 ST § 29T T4 81 T ST aeeE & A qiad 8, T el & arad (1), (2), (3).(4)
317 (5) Farere faw 1w €)1 =31 o=l § § 7S UF 29 R w0 & @ IR=8E F 919 § ST &1 F T FY AT ¢ I ag faaed A1d F3AT 2, 3T ST
FHIE &1 I 6 =9 H AT g1 ATTHT (T 70 Fefedi § F qa9 ST HT 999 FHA7 2

TEEE

AT T e e T (A) 3T AT F I T AT 2IFF A SIS 2| THTATE T S T 5 A=A 7 (B) FIA H7 AT g1 TS, 397 o2 o &
e Fret fad-afafam & (C) F71 =it (D) T 0= FRT £ e T € T8 9 - SN FT (K) ST 3 S TSI T Al ST w4 T O 2
(F) ¥ T9T=TE T ST - S0 o 3UEd 81d gl THT-THT 92 394 G137 Hgcdqul Tged] T SHTed gall gl f9ra o e 951 & FH1 6= 95 99 -y
Y FTHIT T TE7 F3A 6T (G) T &1 T ET SHAT ¥ FEH1E AT ATgt vd 7 (H) F7 ah=r 37 g1 o i f&erar 3 (1) o2 oo, amrtes amfis
AT (J) FT TG FLA 5 o7 S-S A= T 21 2

eng hin Passage

In the following passage there are blanks,each of which has been numbered. These numbers are given below the passage,against each, five words are
suggested,one of which fits the blank appropriately. Find out the appropriate word in each case.

Once upon a time a foolish Brahmin (A) to Birbal with a strange request.He wanted to be (B) as ‘pandit’.Now,the term ‘pandit’ (C) to a man of knowledge.But
unfortunately this poor Brahmin was uneducated.Birbal tried to explain the difference to him saying that it was not correct to call an uneducated man a pandit and
because of this very reason it would be improper to call him so.But the silly Brahmin had his heart (D) on this title.Birbal came up with a brilliant solution and said
that as the Brahmin was an uneducated man he should (E) abuses and stones at anyone who dared to address him by the very same title. Then Birbal called all his
servants and ordered them to call this Brahmin a pandit. The Brahmin was very pleased.But the moment the servants stared calling out to him as ‘pandit’he
pretended to be very angry and (F) abusing them loudly.Then he picked up a few stones and hurled them in their direction.All this shouting and screaming (G) a
crowd.When people realized that this Brahmin was erupting every time someone called him’pandit’,they all started to (H) him.Over the next couple of days,he
would constantly hear the word ‘pandit’ wherever he went.Very soon the whole town started referring to him as ‘pandit’much to his (I).The foolish Brahmin never
realized why people were calling him a pandit.He was extremely pleased with the result.He (J) Birbal from the bottom of his heart.




Q-151 (A Forx =t fasvew 7 =3 )

eng/eng
01. 9THAT 02. erET
03. Hfr 04. gy
05. &
Q-151 Choose the correct option for (A)
eng hin
01. came 02. got
03. reached 04. visited
0S. asked
Solution for Question 151 Ans Key: 1
eng hin V2 will be needed as the sentence is in past indefinite tense.
Q-152 (B) ¥ forr =t oo &1 =9+ F2
eng/eng
01. g&qa 02. g&e
03. srfer=ar 04. gfEera
05. sreqe
Q-152  Choose the correct option for (B)
eng hin
01. call 02. referring
03. addressed 04. knows
05.  written
Solution for Question 152 Ans Key: 3
eng hin  Address (v)- speak to (a person or an assembly).
Q-153  (C) F for¥r gt faeeT &1 79+ Fi
eng/eng
01. fomaTsii 02. =Tt
03. =Forar 04. =TSR
05. FeaATE
Q-153  Choose the correct option for (C)
eng hin
01. s 02. given
03. told 04. refers
05. said
Solution for Question 153 Ans Key: 4
eng hin  Refer (v)- describe or denote; have as a referent.
Q-154 (D) fordr @21 fasheT &7 =37 2
eng/eng
01. =TT 02. Fu
03. =TT 04. fEEor
05. ﬁ'@ﬁ
Q-154  Choose the correct option for (D)
eng hin
01. give 02. set
03. put 04. steal
05. broken
Solution for Question 154 Ans Key: 3

eng hin  t(v)- bring into a particular state or condition.




Q-155 (B forg @et faaned &1 =13 #:7)
eng/eng
01. 3zTH 02. 3IgTEF
03. =TT 04. wHEorETEF
05. SROTTETH
Q-155 Choose the correct option for (E)
eng hin
01. hud 02. give
03. stick 04. keep
05. say
Solution for Question 155 Ans Key: 1
eng hin  Hurl (v)- utter (abuse) vehemently.
e.g. The demonstrators hurled abuse at councilors.
Q-156 (F) * fory @et faared &1 =13 #:7)
eng/eng
01. FFqUra: 02. fAfea
03. oot 04. [
05. =
Q-156  Choose the correct option for (F)
01. telling 02. finish
03. hit 04. push
0S. started
Solution for Question 156 Ans Key: 5
V2 will be used as the sentence is in past tense.
Q-157 (G) ¥ fory @t farere &7 =13 )
01. orfzr 02. IhaT
03. 3T 04. =
05. z=mT
Q-157 Choose the correct option for (G)
01. drew 02. selected
03. get 04. saw
0S. scared
Solution for Question 157 Ans Key: 1
eng hin  For other options:
Scared (adj.) - afraid
Q-158 (H) ¥ forar @&l Ao &7 =737 F7
eng/eng
01. e 02. srTreAt
03. saart 04. =roorTeTt
05. wfomHT
Q-158 Choose the correct option for (H)
eng hin
01. remember 02. help
03. watch 04. tease
05. hurd
Solution for Question 158 Ans Key: 4

eng hin

Tease (v)- make fun of or attempt to provoke (a person or animal) in a playful way.

For other options-



Hurl (v)- utter (abuse) vehemently.

Q-159 (1) = fory 9T faaed #7937 F:2

eng/eng
01. g=xg 02. g™
03. oz 04. it
05. o1
Q-159 Choose the correct option for (T)
eng hin
01. plight 02. delight
03. happiness 04. sadness
05. indifference
Solution for Question 159 Ans Key: 2
eng hin  For other options:
Plight (n) — a dangerous, difficult, or otherwise unfortunate situation.
Q-160 () F forT 7T fasheT &1 =97 &<
eng/eng
01. sqy 02. f=me
03. Fo7 04. =TEgTT
05. Fferor
Q-160 Choose the correct option for (J)
01. yelled 02. cursed
03. called 04. smiled
0S. thanked
Solution for Question 160 Ans Key: 5
For other options:
Cursed (adj) — doomed for bad ending
Yell (v) —scream.
Q-161 A desktop computer is also known as a .
T IEFT FeT % ® ¥ I ST AT 2
01. Palm Pilot 02. pPC
03. Laptop 04. Mainframe
05. None of these/ZH o I Aol
Q-161 A desktop computer is also known as a .
eng hin  TF SR FLET F =T H | AT ST
01. Palm Pilot 02. pC
03. Laptop 04. Mainframe
05. None of these/=H ¥ FTT A&l
Solution for Question 161 Ans Key: 2

eng/eng A desktop computer is also known as a PC.

TF ST He? PC & &9 § HI ST et §

eng hin A desktop computer is also known as a PC.

UF SEFE(T Fge? PC F & § WY ST 147 8

Q-162 When a file contains instructions that can be carried out by the computer, it is often called a (n) file?

engleng T Tl Wrger # UH Her 1 & ST Foq2T grar el $ii? g § oY 9o <17 &0, 7 29 97 (n) WIS FET AT 82
01. data 02. information
03. executable 04. application

05. None



Q-162

eng hin

When a file contains instructions that can be carried out by the computer, it is often called a (n) file?

ter Tt et U fASer 819 € S wegew gy T o T Fvee § off 9T S ', A7 TH T (n) WIS FET AT 82

01. data 02. information
03. executable 04. application
05. None

Solution for Question 162 Ans Key: 3

eng/eng

When a file contains instructions that can be carried out by the computer, it is often called a (n) executable file.

Tar ToreT wreer § UE 39T 81 & ST Foge g7 ohell 3T Fvege § HY 9T ST && , A7 39 3T executable RIS FH@T SITAT &2

eng hin

When a file contains instructions that can be carried out by the computer, it is often called a (n) executable file.

STar ToeT wTe et § U 39T 81 & ST Foge g7 el 3T Feqe § HY 9T ST & , A7 39 3T executable FTEH FgT SITAT &2

Q-163
eng/eng

Q-163

What is the storage area for email messages called?

A TaQTl F TorT AT & #7471 Fgerar g 2

01. A folder 02. A directory
03. A mailbox 04. The hard disk

05. None
What is the storage area for email messages called?
TH TaQll o TorT AT & #7947 FgedTar g 2

01. A folder 02. A directory
03. A mailbox 04. The hard disk
05. None

Solution for Question 163 Ans Key: 3

Q-164

Q-164

A Mailbox is the storage area for email messages.
~ SN o D 2 ~ . - 3o
THT H9TT o o7 T ST &3 mailbox g Tdl g ?

A Mailbox is the storage area for email messages.
T W 9T o ToTT STST0T &7 mailbox FgeATdT & 2

Special effect used to introduce slides in a presentation are called
FereT T H FATSSE 1 TEQA e & (o707 ST [T ST aTer 9 e i

;;i]l
o

01. Effect 02. Custom animation
03. Transition 04. Animation

0S. Preset animation
Special effect used to introduce slides in a presentation are called
Foreft S o TATSSH T Tqd i o (o7 STANT 7T ST atel f3are sy 6t FgT SATAT

N

01. Effect 02. Custom animation
03. Transition 04. Animation

05. Preset animation

Solution for Question 164 Ans Key: 3

eng/eng

Special effect used to introduce slides in a presentation are called Transition.

et seqfar ® =ATeSH F T FA & (o7 STANT FohT ST ATer forere T91e 7 Transition FFT SITAT &

eng hin

Special effect used to introduce slides in a presentation are called Transition.

et seqiar ® TS H T T FA & (o1 STANT FohT ST ATt for9Ts TA1e 7 Transition FFT SITAT §

Q-165

eng/eng

Q-165

eng hin

are often delivered to a PC through an email attachment and are often designed to do harm.

Y THA AeTHE % ATEAH F PC | TgHAT AT ST @ 1% T TRITH H&aq: THATT TgaTe & (ol g a«ar Sirar 2|

01. Viruses 02. Spam
03. Portals 04. Email messages

05. None
are often delivered to a PC through an email attachment and are often designed to do harm.

AT SHA FeaHe & HILAW & PC § TEAT AT STAT 2 31¥ T T H&Ad: THeT TgaT & (o0 & a1 Srav gl



01.
03.
05.

Viruses 02. Spam
Portals 04. Email messages

None

Solution for Question 165

Ans Key: 1

eng/eng

Virus are often delivered to a PC through an email attachment and are often designed to do harm.

FTSTH TFL SHA e % qTegq | PC H TgHAT {37 1A @ ¥ T7 THTH q&qq: THaTT TgaT & (o7 g1 a=7ar ST 2|

eng hin

Virus are often delivered to a PC through an email attachment and are often designed to do harm.

FTSTH FF SHA AT 6 qTeqq § PC H UgHAT {31 1A @ ¥ 7 T qeqdq: THamT TgaT & (o7 g1 a=7ar S 2|

Q-166

eng/eng

Q-166

eng hin

01.
03.
05.

01.
03.
0s.

are graphical objects used to represent commonly used application.

AT T ITINT TR0 ST ATel IR T Sfafatera wed & forw e aeqet 1 w2 G sar g

GUI 02. Drivers
Windows 04.  Application

Icons
are graphical objects used to represent commonly used application.

ST T ITINT TR0 ST ATl SITTART T ST Tered e o (T = aeqat &7 20 61 Srar €

GUI 02. Drivers
Windows 04. Application

Icons

Solution for Question 166

Q-167

Q-167

Icons are graphical objects used to represent commonly used application.
Icons STHATE 9% ITART FHT ST AT AIART &1 ST Tered F  forw = aegat w1 TR 631 Sa1 8§

Icons are graphical objects used to represent commonly used application.
Icons STHAT 9% ITART FRT ST AT AIART &1 ST Tere Fd & forw = a=gei &1 TFRT (o631 STar 8

Computers send and receive data in the form of signals.
FEL signals F =T H ST FSTd 3T ITH 3 g

01.
03.

05.

Analog 02. Digital
Modulated 04. Demodulated
All of these

Computers send and receive data in the form of siénals.
FLET signals % &7 & T o7 AT ITH F7T 2

01.
03.

Analog 02. Digital
Moduiated 04. Demoduiated

05. All of these
Solution for Question 167

Ans Key: 5

Ans Key: 2

eng/eng  Computers send and receive data in the form of Digital signals
FTIET Digital signals F &9 § TaT ASTd T ITH F¥d 21
eng hin  Computers send and receive data in the form of Digital signals
FTIEY Digital signals &7 § TaT ASTd 3T ITH F¥d 21
Q-168  Which of the following is not a common feature of software applications?
engleng  TEITCITET ¥ ¥ FI A7 AIFCAAL ATTAML 61 TFH FTAT FALATAT Tl &2
01. Menus 02. Windows
03. Help 04. Search
05. None of these/T7H & FTS 7l
Q-168 Which of the following is not a common feature of software applications?
enghin oo & & i &7 AiwaT ST AT UF HrA7 Hervar 721 22

01.

Menus 02. Windows



03. Help 04. Search
05. None of these

Solution for Question 168 Ans Key: 2
eng/eng  Windows is an operating system that’s why it is not a common feature of software applications
SIS U s feaT fiwew 2rar § SHiforg a8 ST qitea? i UF arATe (4aar a&1 &
eng hin  Windows is an operating system that’s why it is not a common feature of software applications
e e st frew grar € Tehifor 7g ST atweay it v AT 8T 781 §
Q-169 Every component of your computer is either
engleng  ATH FTIET FT T AT ATATE
01. Software of CPU/RAM 02. Hardware or Software
03. application software or system software ~ 04. input devices or output devices
05. None of these/Z7H & TS T5T
Q-169  Every component of your computer is either
enghin  STH FLET FT 2T FA ATAT &
01. Software of CPU/RAM 02. Hardware or Software
03. application software or system software ~ 04. input devices or output devices
05. None of these
Solution for Question 169 Ans Key: 2
Every component of your computer is either Hardware or Software
T HTYEL HT g FAIHe IT Al gread< il g IT al AiFead g
Every component of your computer is either Hardware or Software
ST HTYET HT g FAIHe IT Al gread< il g ITal AiFeda< g
Q-170 A modem that is contained within the system unit is called a (n) modem.
TF HieH ST foreew IfHe F Fiav quried 2T &, 39 (n) ey Fgl SI1dT 2
01. external 02. internal
03. wireless 04. WiFi
0S. Bluetooth
Q-170 A modem that is contained within the system unit is called a (n) modem.
eng | TF A S ffreew IiHe & $iqe aqTied aidT &, 39 (n) HIH FgT T 2l
01. external 02. internal
03. wireless 04. Wi-Fi
0S. Bluetooth
Solution for Question 170 Ans Key: 2

eng/eng A modem that is contained within the system unit is called a (n) internal modem.

UF HieH ST fBeed IfHe % Hiae quiied 2T €, 39 3 AieH FHgl ST &l

eng hin A modem that is contained within the system unit is called a (n) internal modem.

U qiew S foreed e F fiqe aarEd ST €, SH ZeA 7 FgT 9T 2

Q-171 Each box in a spreadsheet is called a

engleng  FISiE T TAF A FI FET SATAT S
01. cell 02. empty space
03. record 04. field

05. None of these
Q-171 Each box in a spreadsheet is called a

enghin T & T4F At FT FET AT
01. cell 02. empty space
03. record 04. field

05. None of these



Solution for Question 171 Ans Key: 1

eng/eng

Each box in a spreadsheet is called a cell

Treefie & TouF aiad & 9 Fgl Sl g

eng hin

Each box in a spreadsheet is called a cell

Treefie & TouF aiad & I Fgl Sl g

Q-172
eng/eng

Q-172

eng hin

Which of the following places the common data elements in order from smallest to largest?

FReferfad & & i |1 foweT 999 S § 999 92 TF AT 227 qadl w Serad dsHe feed § w@dr g?

01. Character, file record, field, database 02. Character, record, field, file, database
03. Character, field, record, file, database 04. Bit, byte, character, record, field, file, data base
05. None of these/ZH ¥ T Tl

Which of the following places the common data elements in order from smallest to largest?

fRaferfea & & wi= a1 freeT 998 S § 969 92 T G T27 et Ff S dasrie ey § w@dr g2

01. Character, file record, field, database 02. Character, record, field, file, database
03. Character, field, record, file, database 04. Bit, byte, character, record, field, file, data base
05. None of these/=H ¥ FT< &l

Solution for Question 172 Ans Key: 3

Q-173

Q-173

Character, field, record, file, database is the common data elements in order from smallest to largest
Character, field, record, file, database T8 DI & TelH oI b U ST dcall ohl ST&E BT e 4 waan &

Character, field, record, file, database is the common data elements in order from smallest to largest
Character, field, record, file, database T&8 DI & Tel s deh UM ST dcall ! ST H-stHe foey o wgdr 8

Checking that a pin code number is valid before it is entered into the system is an example of
O &g da fBeed # a1 91 | Ugd AT g T A8l Sl ST weAT T U IATE0T &

01. error correction 02. backup and recovery
03. data preparation 04. data validation

05. None of these
Checking that a pin code number is valid before it is entered into the system is an example of

o @re Fav ey o o< 9 T uge A g {5 921 st STt A T TF IETEL 2

01. error correction 02. backup and recovery
03. data preparation 04. data validation
0S. None of these

Solution for Question 173 Ans Key: 4

eng/eng

Checking that a pin code number is valid before it is entered into the system is an example of data validation, it is basically used to check the data type and
the length of the character.

g =T o e § warer #31 § 92 Ua U7 e 91 AT § i 981 § T8 UF 22T qcATI4 &1 I 8, Tg JA &9 F 2T T 3T A0
T TS T ST FEA o ToIT ITTRT AT ST 2

eng hin

Checking that a pin code number is valid before it is entered into the system is an example of data validation, it is basically used to check the data type and
the length of the character.

g A= o FBees § warer #34 § 92l U U7 e 961 AT § i1 981 ¢ T8 UF 22T qcATI4 1 IS0 8, Tg A &9 F 2T T T A0
T FATS T ST FEA & ToIT ITTRT TR SATaT 2

Q-174

eng/eng

Q-174

eng hin

Compiler translates high level language into a machine level language, which is called

TF FATAL I T ATIT T H9fe & 7 q197 7 srqarfad war g, v FETATAT S

01. source code 02. object code
03. compiled code 04. beta code

05. None of these
Compiler translates high level language into a machine level language, which is called

TF FATSAY 3¢ T ATIT 1 HA & 67 AT § srqartaq wear &, o FETATAT S

01. source code 02. object code



03. compiled code 04. beta code
05. None of these

Solution for Question 174 Ans Key: 2
eng/eng  Compiler translates high level language into a machine level language, which is called object code.
T FTEAL 3¢ FALT AT AT AT Fq2 6T A7 H srqartaa w2ar g, iy sttesrre Fe Farsmar g
eng hin  Compiler translates high level language into a machine level language, which is called object code.
TF FATSAY I T ATUT T 7T &I 6T qT9T H Sarfad w2t 8, Sy sitssrae Fre Fgr v g
Q-175 The digital telecommunications term ISDN is an abbreviation for—
01. International Services Digital Network 02. Integrated Standard Digital Networks
03. Internet Services Data Network 04. Interactive Standard Dynamic Networks
05. Integrated Services Digital Network
Q-175 The digital telecommunications term ISDN is an abbreviation for—
enghin  TEforee ZefaregfasiorT # ISDN T 0 &9 7 a1 &
01. International Services Digital Network 02. Integrated Standard Digital Networks
03. Internet Services Data Network 04. Interactive Standard Dynamic Networks
0S. Integrated Services Digital Network
Solution for Question 175 Ans Key: 5
Integrated Services Digital Network
Integrated Services Digital Network
Q-176 A program that works like a calculator for keeping track of money and making budgets
TS ST T AIFCATL AT THTH Z1AT & ST FSTE T & [oI0 T HeAfelad il aLg HlT HLdl g
01. calculator 02. scholastic
03. keyboard 04. spreadsheet
05. None of these/SH & FTS Tgl
Q-176 A program that works like a calculator for keeping track of money and making budgets
T W1 T AIFAAL AT ST ZIAT 8 ST AT ST F [oIT U Fersela il qvg FTH FHdl g
01. calculator 02. scholastic
03. keyboard 04. spreadsheet
05. None of these
Solution for Question 176 Ans Key: 4
eng/eng A program that works like a calculator for keeping track of money and making budgets is known as spreadsheet.
Treefie UF TR FT A= I7 TUTH Z1aT & ST T8 7@ 37T 9972 a91 & {oI7 UF fdageies Hf 9 F9 F2d1 8
eng hin A program that works like a calculator for keeping track of money and making budgets is known as spreadsheet.
Treefie TF TR FT AIFa=E IT TUTH 21aT & ST T8 7@ 37T a972 a91 & o7 UF fdaeies Hf a4 FT9 a1 8
Q-177 MS Outlook is a (n)—
eng/eng MS STSTH EIELES
01. protocol 02. Search Engine
03. Browser 04. Network
05. E-mail Client
Q-177 MS Outlook is a (n)—
enghin  MS 33 LRI
01. protocol 02. Search Engine
03. Browser 04. Network
05. E-mail Client
Solution for Question 177 Ans Key: 5




eng/eng

MS outlook is a tool of MS Office and used for E Mail Client.
MS TS T THIY FT 2 &IdT & ST T S A FATSE HT FTH HAT &

eng hin

MS outlook is a tool of MS Office and used for E Mail Client.
MS T3 T THIY FT 2 &IAT & ST T S A FATSE HT FTH FAT &

Q-178

eng/eng

Q-178

eng hin

A set of step-by-step procedures for accomplishing a task is known as a(n)

TRt T 1 T A F o1 Feor- 37"y TiRaTel #7 UF 2 (n) FETH AETATAT S

01. Algorithm 02. hardware program
03. software bug 04. firmware program

05. None of these / 37H | FIE qgt
A set of step-by-step procedures for accomplishing a task is known as a(n)

et T T T e F 7T For- 323207 TiRaTet #7 UF &2 (n) FE T H SAET ATAT 2

01.  Algorithm 02. hardware program
03. software bug 04. firmware program

05. None of these / T7H H FIS Tl

Solution for Question 178

Ans Key: 1

Q-179

Q-179

A set of step-by-step procedures for accomplishing a task is known as a(n) Algorithm

Toret ahref oh T et o ot =RoT-aX- =0T Wshanatl T Ueh He UITTeH o &9 § ST ST &

A set of step-by-step procedures for accomplishing a task is known as a(n) Algorithm

ToREt STl Sh T L 6 ToT T SROT-GX- =0T ISRATSHT T Ueh e TTTCeH o &6 H ST S &

to what temporary area can you store text and other data, and later paste them to another location?
o TR STl 8 o Toee 3T 3 SaT HURld F HEd ¢, 3T AT H Irg [ohHT 37T ¥ 9% Uee off T T 2

01. The clipboard 02. ROM
03. CD-ROM 04. The hard disk

05. None of these/S7H & FTS TGl
to what temporary area can you store text and other data, and later paste them to another location?
o T SrerTfY 81 W TR ST o 2aT 5URId L HEG 2, 3T a1 | Ieg T o v uw U ot T O 2

01. The clipboard 02. ROM
03. CD-ROM 04. The hard disk
05. None of these

Solution for Question 179

The clipboard is the temporary area where you can store text and other data, and later paste them to another location

FFTTaTs o § 2o SiiT o1e 32T HIEid T Hhd 8, T a1 H 3Irg Fohelt o7 T I¥ e off 7 9 3

Ans Key: 1

eng hin

The clipboard is the temporary area where you can store text and other data, and later paste them to another location

FFTTaTS o § 2o ST 317 32T HIEid T Hhd 8, T a1 H Irg Fohelt o7 T 7¢I Y %7 9 3

Q-180

eng/eng

Q-180

eng hin

In a spreadsheet, a is a number you will use in a calculation.

uF TedfiT |, I & ST Y U HeAT 8 et ST T § U F L 2y

01. label 02. cell
03. field 04. value
05. None of these/Z7H & TS qET

In a spreadsheet, a is a number you will use in a calculation.

TF Teefie H, BT & ST T U HeAT g et ST T § TN 7 21

01. label 02. cell
03. field 04. value
05. None of these/ZH & FTE 7ol

Solution for Question 180

Ans Key: 4

eng/eng

In a spreadsheet, a Value is a number you will use in a calculation.



U BT H, I 2T & ST T Uk FeAT & Rt e Mo H SUFN A 2v

eng hin  In a spreadsheet, a Value is a number you will use in a calculation.
F wreefie ®, 377 ST § S T U 9T § et s IoE § ST Fd 21
Q-181  the two major categories of software include
eng/eng ﬁ%ﬁ'ﬂ'{aﬁfrwﬁ o %
01. operating system and utility 02. personal productivity and system
03. system and application 04. system and utility
05. None of these/Z7H & T q51
Q-181 the two major categories of software include
eng hin ~ ATFEAT AT 2T TH@ AT &
01. operating system and utility 02. personal productivity and system
03. system and application 04. system and utility
05. None of these/Z7H & TS T21
Solution for Question 181 Ans Key: 3
eng/eng  System and application software are the two major categories in computer.
HTHEaL h1 31 @ AR & fEeH S Tficiehe™ Ameaat
System and application software are the two major categories in computer.
HTHEaRL hT 31 e ORI & FEeH S Tficiehe™ Al
Q-182  Title bar, ribbon, status bar, views and document workspace are factors of program
of e a2, e, wed a1, A= T aedreas FTae Teai & TRITH 3 T g
01. Windows 02. Browser
03. Explorer 04. Website
05. None of these/ZH o FIS Aol
Q-182 Title bar, ribbon, status bar, views and document workspace are factors of program
ofivr &, T, Taaq a7, 9= 3T S%aras FTaers 9eai & TRITH & FTF 2
01. Windows 02. Browser
03. Explorer 04. Website
05. None of these/ZTH H FTS ol
Solution for Question 182 Ans Key: 1
» Title bar, ribbon, status bar, views and document workspace are factors of windows program.
ofider e, e, weew A, O i< Saras e fHesr T o w2l
Title bar, ribbon, status bar, views and document workspace are factors of windows program.
ofreie =Y, Raw, weed a1, A= siY aeares srded fHeEe T % F13F 2
Q-183  The ability to find an individual item in a file immediately
eng/eng UF WTEel H UF AT AZEH T @IS % HIE F FETATATE
01. sequential access 02. file allocation table
03. direct access 04. directory
05. None of these/ZH ¥ T A&l
Q-183  The ability to find an individual item in a file immediately
enghin  TF WTEA H UF AT AZH T @IS % HIS F FgT 1T &
01. sequential access 02. file allocation table
03. direct access 04. directory
05. None of these/ZH ¥ &I A&l
Solution for Question 183 Ans Key: 3

eng/eng  The ability to find an individual item in a file immediately is known as direct access method
TF TS § UF AT AEeH T2 G5 % AT FHI STE 9 TFIH 20 FgT ST &
eng hin  The ability to find an individual item in a file immediately is known as direct access method



T HIEA § UF AT ATH qEd GIoi F TS Fl TT2LFe TR T Fgl ST &

Q-184

eng/eng

Q-184

eng hin

WWW means
WWWaHTsF  grare

01. World Wide Wonder 02. World Wide Wizard
03. World Wide Web 04. Wide World Web

05. None of these/SH & TS 71
WWWmeans
WWWaEsE  garE

01. World Wide Wonder 02. World Wide Wizard
03. World Wide Web 04. Wide World Web
05. None of these/Z7H & FTE T21

Solution for Question 184 Ans Key: 3
eng/eng  WWW: World Wide Web
eng hin  WWW: World Wide Web
Q-185 All of the following are included in removable media except
Faferfera 7+t #1 Removable Hifzam # aferer rar o 2 e
01. Flash memory 02. Diskette
03. DVDs 04. CPU
05. None of these/ZaH & FTS qGT
Q-185 All of the following are included in removable media except
Fraferfaa a9t 1 Removable Hifear & enfarer foram mar 2 fema
01. Flash memory 02. Diskette
03. DVDs 04. CPU
05. None of these/ZTH | FT3 Agl
Solution for Question 185 Ans Key: 4
CPU is the processor and above all examples are the removable storage media.
CPU T THHY 2TdT & STt 8 removable T2 HITSAT F IST2L0T &
hir CPU is the processor and above all examples are the removable storage media.
CPU T# TTHHL BIAT & aTeht T removable TSt HITESAT o IETEL0T 8
Q-186 Most World Wide Web pages contain commands in the language
srferamaT WWW 3 g87 1 ST % GIT 97T ST 8
01. NIH 02. URL
03. HTML 04. IRC
05. FTP
Q-186 Most World Wide Web pages contain commands in the language
enghin  ATIFIT WWW 3 I8 1 AT GIT AT ST &
01. NIH 02. URL
03. HTML 04. IRC
05. FTP
Solution for Question 186 Ans Key: 3

eng/eng  Most World Wide Web pages contain commands in the language named as HTML.
sfarshae WWW 3 T81 T HTML WTHT 3 ZTT ST ST 8

eng hin  Most World Wide Web pages contain commands in the language named as HTML.
SfarshaT WWW 3 T51 T HTML STHT 3 ZTT ST ST 8

Q-187 A CD-RW disk

eng/eng CD RW éFq Eﬁ- qﬁ_"ﬁ 3ﬁ-



Q-187

eng hin

01. has a faster access than an internal disk /  02. is a form of optical disk, so it can only be written once /

At feea v qorr & srfars o g+ Aifeeswer (SFF FT UF F &, TAU 38 Had UF q12 (or@T 1 F56aT §
d

03. holds less data than a floppy disk / FTdT 04. can be erased and rewritten / TRaTaT ST FehaT 8 i fhe & foraT ST ok €

e f g H FH ST @A g

05. None of these/Z7H ¥ FT T&T
ACD-RWdisk
CD RW 2= &1 weft o7

01. has a faster access than an internal disk/  02. is a form of optical disk, so it can only be written once /

At feee v qorr & srfars o g Atfeeswer (SFF T UF F &, T 38 Had UF A2 [ordT 7 F56dT §

&

03. holds less data than a floppy disk / FTdT 04. can be erased and rewritten / TRaTaT ST FehaT 8 i fhe & foraT ST ohaT €

oo 1 qoreT & 0 TaT TEaT 2
05. None of these/ZH & FTE &l

Solution for Question 187 Ans Key: 4
eng/eng A CD-RW disk can be erased and rewritten
CD RW 2 &1 #+ft oft foreram St &t € oite ffe & orar ST e €
A CD-RW disk can be erased and rewritten
CD RW fe&F &1 &+t oft feram ST aehar & i e & forar srasar g
Q-188  The software tools that enable a user to interact with a computer for specific purposes Are known as
HIFEAAT ITHLT AT STANTHRAT T AT IZ9AT o FolT Fogex AT A= Fded | T a4 & FETH A2
01. Hardware 02. Networked Software
03. Shareware 04.  Applications
05. None of these/ZTH H FT% 7ol
Q-188  The software tools that enable a user to interact with a computer for specific purposes Are known as
TIFEAAL ITRLIT ST STANTHRAT 07 AT I2eat o forT eqex & A7 Ira=iid Fed § qe0d a7 & FETTH AT ST
01. Hardware 02. Networked Software
03. Shareware 04. Applications
05. None of these/TTH | IS Aol
Solution for Question 188 Ans Key: 4
The software tools that enable a user to interact with a computer for specific purposes
Are known as Applications.
TTFEIT STFIUT ST STARTHAT T (AT I2eTT {70 FTI2 o T ATTAT F § TeI7 J4971d 3§
TfteThord % & § T 19 2
g The software tools that enable a user to interact with a computer for specific purposes
Are known as Applications.
TIFAIT ITH ST STARTHAT T [ATAT IeAT & ToTT Heqe? F AT ATqATd HLed § T FA1T &
Tftaherd & T H T4 70 8
Q-189  Which of the following is not an operating system used in computer?
engleng THETCITE # & 19 &7 Foq2T § T AT (Heaq 721 22
01. Windows 95 02. Windows 2000
03. MS-DOS 04. Windows x.3
05. Windows 98
Q-189  Which of the following is not an operating system used in computer?
enghin  FEfeIfEra & & i &7 Fegee § <6 AT feen 781 22
01. Windows 95 02. Windows 2000
03. MS-DOS 04. Windows x.3
05. Windows 98
Solution for Question 189 Ans Key: 4

eng/eng

Windows x.3 is not an operating system used in computer



Windows x.3 FF[T T AT g 7t &

eng hin ~ Windows x.3 is not an operating system used in computer
Windows x.3 FFaT T ST ffeew 981 §

Q-190 QWERTY is used with reference to—

eng/eng QWERTY T IUFTT Ha+ F |71 FoFam Srar € -
01. Printer 02. Monitor
03. Keyboard 04. Mouse
05. Joystick

Q-190 QWERTY is used with reference to—

enghin  QWERTY T ST &2+ % &1 [T S[TaT 2 -

01. Printer 02. Monitor

03. Keyboard 04. Mouse

05. Joystick
Solution for Question 190 Ans Key: 3
eng/eng QWERTY is used with reference to keyboard

QWERTY FT START FilelTe % HaH = AT FohgT STTaT 2

QWERTY is used with reference to keyboard

QWERTY T ST TaTE % HaW A1 AT ST 2
Q-191 =SUM (B1:BS)is an example

=SUM (B1: B8) U# ITEL &

01. function 02. formula

03. cell address 04. value

05. None of these/ZTH H FT% T2l
Q-191 =SUM (B1:B8) is an example

=SUM (B1: B8) UF IaTE<0 &

01. function 02. formula

03. cell address 04. value

05. None of these/ZAH | FTE Aol
Solution for Question 191 Ans Key: 2

= SUM (B1:B8) is an example spreadsheet (MS Excel) formula

= SUM (B1: B8) &g efie (MS Excel) & T RIHAT T I &

= SUM (B1:B8) is an example spreadsheet (MS Excel) formula

= SUM (B1: B8) TI=9fTe (MS Excel) & TFH FIHAT T IIT2T0 &
Q-192  Which of the following extensions suggest that the file is a backup copy—
engleng  SHAT FIEA Al THFHEIT HISH FAT ZAT &

01. Bak 02. Bas

03. Com 04. Txt

05. None of these
Q-192  Which of the following extensions suggest that the file is a backup copy—
eng hin FFAT T EX Eﬁmﬁ}&ﬁr% 3<_'|7=PT|'_"Q; d %

01. Bak 02. Bas

03. Com 04. Txt

05. None of these
Solution for Question 192 Ans Key: 1

eng/eng .bak is the extension file of backup file
FHAT WIS il THFAEFET B2 .bak ST &
eng hin  bak is the extension file of backup file



FHAT HTT T UFAEIT HT2ol bak 2Tl &

Q-193 Inany window, the maximize button, the minimize button and the close buttons appear on the

eng/eng foreft of fof ff,maxinﬂzeélﬂﬂ',mhﬂnﬂzeaﬁa-ﬁ'(closem EES é@|§éﬁ'%
01. Title bar 02. Menu bar
03. Status bar 04. Ruler bar
05. Tool bar
Q-193 Inany window, the maximize button, the minimize button and the close buttons appear on the
enghin Tt f&=T ), maximize 927 , minimize &2 37 close 27 wiEE g
01. Title bar 02. Menu bar
03. Status bar 04. Ruler bar
05. Tool bar
Solution for Question 193 Ans Key: 1
eng/eng  In any window, the maximize button, the minimize button and the close buttons appear on the title bar.
et +ff f=T #, maximize 32 , minimize 2 3T close Fe 2T3ea a¥ T @ ad §
eng hin  In any window, the maximize button, the minimize button and the close buttons appear on the title bar.
et oft f92T #, maximize 27 , minimize & 31T close F& 2132 I ¥ fe@Ts 2d ¢
Q-194 SRAM stands for
SRAM T 07 &9 T gl &
01. STATIC RANDOM ACCESS MEMORY 02. STATE RAM ACCESS MEMORY
03. STATE RANDOM ACCESS MEMORY 04. STATISTICAL RANDOM ACCESS MEMORY
05. None of these/ZTH H FT3 T2l
Q-194 SRAM stands for
SRAM T gl &9 FT gIaT §
01. STATIC RANDOM ACCESS MEMORY 02. STATE RAM ACCESS MEMORY
03. STATE RANDOM ACCESS MEMORY 04. STATISTICAL RANDOM ACCESS MEMORY
05. None of these/3H & &TS Tai
Solution for Question 194 Ans Key: 1
1g/eng  STATIC RANDOM ACCESS MEMORY
STATIC RANDOM ACCESS MEMORY
Q-195  Shortcut key to switch one open window to another open window —
THT orfdehe FS( ISrEe 5T U gedt g4t &t & gadt gefl &t § ST S 7eat &
01. Ctrl+ Alt+ Tab 02. Ctrl + Alt+ shift
03. Ctrl+Alt+1 04. Alt+F4
05. None of these/zH & FT< Tl
Q-195  Shortcut key to switch one open window to another open window —
eng hin  UHT eriéehe %ot fomsh grer v geft gt &t & gat geft [t & S i "qear 2
01. Ctrl+ Alt+ Tab 02. Ctrl + Alt+ shift
03. Ctrl+Alt+1 04. Alt+F4
05. None of these/Z7H & TS T21
Solution for Question 195 Ans Key: 1

eng/eng  Ctrl + Alt+ Tab Shortcut key to switch one open window to another open window.

Ctrl + Alt + Tab UHET Tieahe (1 BT & o g7 Ua Gett gt &t & gat g1 f&er § Saw S 996d1 §

eng hin  Ctrl + Alt + Tab Shortcut key to switch one open window to another open window.

Ctrl + Alt + Tab UHET eTiéahe Fsi 2Idt & o 31T e gett gt &t & gat g1 f&er § S S 96t §

Q-196 How will words appear on the page? We call it as
engleng T8 TY orex A fE@TE F W EH FEd 8



Q-196

eng hin

01. Text formatting 02. Character formatting
03. Point size 04. Type face

05. None of these/zT# ¥ F 15 T2}

How will words appear on the page? We call it as

Y U7 9158 &4 (@ 0 g Ty FEd &
01. Text formatting 02. Character formatting
03. Point size 04. Type face

05. None of these/Z7H & TS TRT

Solution for Question 196

Ans Key: 1

eng/eng

How will words appear on the page. We will call it as text formatting.

T U 9153 4 (Q@Ts a0 & 3H gH 9% RIHIeT Figd ©

eng hin

How will words appear on the page. We will call it as text formatting.

T U 9153 4 (Q@Ts a0 & 3H gH 9% RIHIeT Figd §

Q-197

eng/eng

Q-197

In DBMS a field that uniquely identifies which person, thing, or even the record describes is a

DBMS & U UHT & 57 f3fore w7 & wg=ar g 5w @ =xfww, =, 77 787 7% % {eHiE &7 9o us

01. fie 02. data
03. field 04. key

05. None of these/ZH o FT% Aol
In DBMS a field that uniquely identifies which person, thing, or even the record describes is a
DBMS ¥ U UHT & ST f=Afere &9 7 ug=m=ar g & #1171 =5t<r, =, a1 787 7% FF Raie &1 a09 vF

01 file 02. data
03. field 04. key
05. None of these/ZaH & FTS qGT

Solution for Question 197

Q-198

Q-198

eng hin

In DBMS a field that uniquely identifies which person, thing, or even the record describes is a key

DBMS ¥ T THT &7 ST (A{re T T TZATTAT & 12 I a7 SAT<F, ST, 3T AT q0 (6 (RIS H7 999 TH
In DBMS a field that uniquely identifies which person, thing, or even the record describes is a key
DBMS # U# THT & ST fafers &9 7 ug=mar ¢ & e @ =7f<r, e, a1 78t aF & R w1 avw uaw

When you want to move some text from one page to a different page, the best method is

ST T TRET OT T UF I8 & f99 95 9 o ST ATed 8, a7 g9 Tewl At

N

01. drag and drop 02. cut and paste
03. delete and retype 04. find and replace
05. None of these/ZH ¥ TS Tl

When you want to move some text from one page to a different page, the best method is

EEERAELIRICE R AT R A R IS I E T I EC A L C I R e 1

01. drag and drop 02. cut and paste
03. delete and retype 04. find and replace
05. None of these/ZH ¥ FT< Tl

Solution for Question 198

BT E

g7
dl g

Ans Key: 4

Ans Key: 2

eng/eng  When you want to move some text from one page to a different page, the best method is cut and paste.
e 3 3R 9T T U I8 F U 99 0% of TET AR 8, 97 999 q=at Ay Fe AT ue g

eng hin ~ When you want to move some text from one page to a different page, the best method is cut and paste.
& AT TR 9T T UF I8 F 4 I8 9% o S AR €, A7 96 ol @18 wie oY U

Q-199  Which of the following is not an output device in computer organization?

eng/eng TTH H T AT AL feareq w81 7 2

01. Plotter 02. Speaker



03. Scanner 04. Monitor

0S. Printer
Q-199  Which of the following is not an output device in computer organization?
eng hin  E7TH & F1 A7 Arg<E feared 7€ & 2
01. Plotter 02. Speaker
03. Scanner 04. Monitor
05. Printer
Solution for Question 199 Ans Key: 3
eng/eng  Scanner is an input device.
FY U 3 vz g g
eng hin  Scanner is an input device.
T U 3 Rarzw g g
Q-200 Connections to other documents or to other locations within a website is known as—
engleng UF JAHTEE 5 HIAT S TEATAST AT ST TATAL 5 FelFLI % &9 H AT 1T 2-
01. Hyper connects 02. Plug-ins
03. Hyperlinks 04. Filters
05. Bots
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Connections to other documents or to other locations within a website is known as hyperlink.
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Connections to other documents or to other locations within a website is known as hyperlink.
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